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Model Set - 1

Geography
A-GEOG (OPT)
FAFAA: 3 He 15 THec| [gurfes: 70
Time: 3 Hours 15 Minute] [Marks: 70

Ttemeft & fou ferder:
Instruction to the candidate:
1. Tdemeft Jedera 3ruar orsal H & IAR I
Candidates are required to give their answers in their own words as far as practicable.
2. Tifgell 3R @feT ur R’RY gr 3k yoies fifdse wa 2

Figure in the right hand margin indicate full marks.

3. gaemeft uRep ITT B AT HOT AT, JIUS JSAT 3NT U9 JIAT 39T
ISECH!
Write Section number, Group number and Question number with every answer.

ferder: TA U UA H & omer &, A1 -1 wd amer Il amer -1 F Jyvs
— 37 germ amer -l H XUvs - F gar J|Us - F B

atror I AT —[BJvS — T B U TIGels UBR & &1 A JUS & UL
TFFAT 1 A 28 B UDB 1 3k BT g1 Al wedl B IAT dfSw

atror 1L drer -l Al uear S—azgferse 21 ao1 -lles WS - T B UesA
g 3TN UBR B o1 A 12 UeAl P IR AT | URAB ULS
2 3k BT B o1 Il B J|Us - FT B U dd ITIT UBRE B
21 et 3 uedl @ 3T AU uAH UeH 6 3k BT B

Instruction: This paper consists of two Sections, Section — I & II. Section — I consists of
Group — A and Section — II consists of Group — B & Group — C.

Section — I: Group A of Section —I are Objective Type questions. In this group question
No. 1 to 28 carry 1 mark each. Answer all questions.

Section — II: All question — Section — II are Non=Objective Type. Group —B of Section —
B are Short Type Questions. Answer all the 12 questions. Each question
carries 2 marks. Group — C of Section — II are Long Type Questions.
Answer all 3 questions. Each question carries 6 marks.

HOT — 1

SECTION -1
FUs — 37
Group — A

(a=gferse uee)
~ 2 ~



(Objective Questions)
. foaeafaRad uea J=AT 1 A 28 H IR Tdhcdl A U HAST 21 37Ul AT

bea getelr 2: 28x1=28
From questions no. 1 to 28 there are four options of which one is correct. In each
question you have to choose the correct option: 28x1=28

1. fFrfafga 4 4 fog TRF e 4 yarfl Sa9@n &1 39 94t 27
@ gag  (@Reh
QRN (=) a1

Which one of the followingurban agglomeration has highestmigrationpopulation?

(a) Mumbai (b) Delhi
(c) Bangalore (D) Chennai

2. ura & frafafed o= wfba gden 4 feas) weRar ) Swaq 87
(@) <t&TgIy (@) d<rTe

(@) s 9de (&) sfewE @ f@leaR g

Which one of the following Union Territories hashighest Literacy ratein India ?
(a) Lakshadweep (b) Chandigarh
(c) Daman & Due (d) Andmand & Nicoabar Island

3. “®®l AR W fAragde” @ Gheuqr feaa f ?
(@) Yeod(@) gHlce

() sar=r (&) TR
Who is the propounder of stop and go Determinism?
(a) Ratzel (b) Humboldt

(c) Blache (d) Taylor

4. frafafea gRida <o 4 9 fead TReR0 waifte g Sar @ |

(@) wTeTT (@) dfesra
(@) ) wiw (&) <+
Which one of the Following European countries has the highest level ofUrbanization?
(a) Malta (b) Belgium
(c) France (d) Germany
5. e TR &1 999 2 -
(®)ETT1 TR (@) aiffe TR

() stenfire TR (=) e TR

Pilani town is an example of

(a) Mining Town b) Religious Town
(¢) Industrial Town (d) Educational Town
6. fr=fafaa & @ &9 w1 ¥ wua 78 2?
®) g (@) =maa
(M = (&) <t
Which of the Following is not a Rabi crop?
(a) Wheat (b) Rice
(c) Gram (d) Barley

7. frefafea ¥ @ o9 A Auor Bad AE 27
(®) ara (@) xas

~3~



(m) BrwY (&) A

Which one of the following is nota PlanationCrop?
(a) Tea (b) Rubber
(c) Coffee (d) Wheat

8. fa=fafRaa ¥ 4 &9 W yrafae feaream 2 ?

(@) =N (@) s
() S=r (&r) Aar
Which one of the following is a primary Activity?
(a) Agriculture (b) Trade
(¢) Industry (d) Service
9. SATER drel AE® (|TATd) yad @ -
(@) a=78 (=) 4
() sfecar (@)@ifea
Jawaharlal Nehru Port (Nahawasheva)is ?
(a) Chennai (b) Mumbai
(c) Haldia (d)Kochi

10. URA A 4RATY] Sl WA fhaq 27
(@) 4 (@) 8
@7z (=@ 10
How many Atomic Power Station in India?
(a) 4 (b) 8
(c)7 (d) 10
1. frafafea § o9 w1 safkas afiw 2 ?
(®) Hrfis (@) au®
() afer  (a)ereT

Which one of the following is a non-metallic mineral ?

(a) Manganese (b) Mica
(c) Copper (d) Iron
12. 3faxr mieh leR &3 &
(®) SR =™ (@) #eRIS;
() affrerrg (en)RTSTRRITH
Indira Gandhi Canal area isin:
(a) Uttar (b) Maharashtra
(c) Tamil Nadu (d) Rajasthan
13. "INTYR AT ° BT G ?:
(®) Ye1 uRags (@) ws& uRas+
() arg uRas+ (a)sra uRas=
“Nagpur plan” is related to:
(a) Rail Transport (b) Road Transport
(c) Air Transport (d) water Transport
14. BIBY, I, SN SAME oo HEA T |
(®) WER (@)ua
() T (@)@rea



Coffe, sugarcane, tea, cotton are ............... crop.

(a) Fiber (b) Beverage
(c) Cash (d) Food
15. f1 § 9@ waifere S9—a9@ &1 83 o1 91 2
(®) g a= (@) = 9=
(1) amegferam wwTEy (@) <ol ol
Which of the following regions have highest density of population
(a) Polar Region (b) Western Chaina
(c) Austrilian Continent (d) South Asia
16. FfaRaa A7 o <7 a1 R &1 9gw <o =& @ ?
(®) 97 (@) qiTemder
(M) seFfRmr (&) argas

Which one of the following countries is not a member of ASEAN ?

(a) Brunei (b) Bangladesh
(c¢) Indonesia (d) Thailand
17.  ®IF—41 MeNfe @ &1 R& T8 2 ?

(@) I9IR (@) o
() @t (&) St

Which one of the following is not a factor of industrial infrastructure?
(a) Market (b) Capital
(c) Vegetation (d) Energy

18. fra a0 A e &9 IgYgfaa weonfa 272
(®) SR g9 (=) wERTSE
(1) weAyTe (1) rrar

Which state lowest population of Scheduled Tribes:
(a) Uttar Pradesh (b) Maharastra
(c) Madhyaprasesh  (d) Goa

19. §a% =¥ ufig &
(®) SO Sot (@) veiferm
(M) =AY Sl (g) WX St

Mumbai High is famous for -
(a) Tidal Energy (b) Petroleum
(c) Atomic Energy  (d) Solar Energy

200 URd @ foa g ¥ fasg 9k swurg w9 Reg 2 2
(®) g g (@) snfsr
(1) SicH(")ABRTS

In which state of India is Vijaynagar steel Plant located?
(a) Andhra Pradesh  (b) Odissa
(c) Karnataka (d) Maharashtra

21. ans. A . N, &1 Heg 2 ?



(@) gofraa wdeq fasr™ wium™
(@) wufaa am=m faea wia™
() wfad soa faera W™
(a)gufaa uRass e gum™
LT.D.P. is related to :
(a) Integrated Tourism Development Programme
(b) Integrated Travel Development programme
(c) Integrated Tribal Development Programme
(d) Integrated Transport Development programme
22. qraare yRig 2 ?

(®) <rer (@) A

() sru® (er) sTqqTSC
Balaghat is famous for

(a)lron (b) Manganese

(c) Mica (d) Bauxite

23. f=ifafaa # 4 @19 w1 gl 969 &1 949 981 SRS T ©
(®) ToRTa (@) ®Atcs
(M) uR=m dTa (") SR U_w

Which one of the following state is the largest producer of cotton textile?
(a) Gujrat (b) Karnataka
(c) West Bengal (d) Uttar Pradesh

24. TAH A DBl ABSIUTT BRJTT G« d¢ W Rea 2 ?

(®) gTigR (@) faemeEu<=™
() fasraTR (&) |9

Iron Steel Plant is situated on the river coast.
(a) Durgapur b) Vishakhapatnam

(c) Vijaynagar  ((d)Salem
25. fafex Y srafkea & ?
(@) IwvITae YW (@) A= Y90
L CIERIED

Mikir hills is located at:
(a) Arunachal Pradesh (b)Madhya Pradesh
(c) Assam (d)Meghalay

26. IS¢ oET S0 2 fee fyeamEr € ?
(@) faeell &1 Has 4@ (@) facell @ SHidwar A
(M) IR S FAHIR @ (") A B DI Hladbdl |
The national highway no-2 joins:
(a) Delhi with Mumbai (b) Delhi with Kolkata
(c¢) Varanasi with Kanayakumari (d) Chennai with Kolkata

27. T SAWIfa 9l W) 2:

(@) anfsar (@) qfirerg
() fawraa uar (&) P1ic®
Gaddi tribe is found in:
(a) Oddisha (b) Tamil Nadu

(c)Himachal Pradesh (d) Karnataka

~6~



28. frr=ifafaa & @ @19 W sgyfaa s=onfa aRa 3 @99 ifde der 9 &

(®) Ms (@) Heara
@1 et (CIESKE]
Which of the following Tribe in India has highest number of population?
(a) Gond (b) Santhal
(c) Bheel (d) Orao
atror Il
SECTION —II
CR—azgferss ues)
(Non-Objective Questions)
S - F
Group - B
(g 3T Uee)

(Short Answer Questions)

god JAJAT 1 A 12 ddb g IT9T &1 Al 12 Ueddl & 3Ia= 31| UTd e
& foru 2 3iw forafRa 2 12x2=24

Questions no. 1 to 12 are short answer type. Answer all the 12 questions. Each question
carries 2 marks 12x2=24

1. g TR @@ @ ?

What is an administrative town ? Give Suitable Examples ?
2. 3uHIFdl 9% ST I Sarexvl dfed aRARE &Y |
Define Consumer Goods Industry With Examples .
3.991 glU @ e ? quid #W |

What is Heat islands ? Describe it.

4. qd—uf¥=s ge SR — <f@ror afe )t @ R A "Wau A fod |
Write in short east - west and north — south corridors ?
5.9 9 99t fodl 9 ufded  dR®lI &1 Iedi@ N |
Mention any three push factors related to migration ?
6.afioT Srftraral & AR faRivan &1 Sedw @ |
Mention four characteristics of rural settlements.
7.5 FoT Yy FAArdl IR el & A fafeayg |
Name any four agencies providing agricultural loans?
8.JTNIHRT & AR ol $I ford |

Write the four advantage of liberalization ?

9.9H=TY] FHotf A U1 B oIl 2 |

How is atomic energy produced ?

10.5cH} AR AdT ¥ 39 T G931d 2 |

What do you understands by retail trading services ?

1l oier aRdaT & 9 gcd &9 2 ?

What are the three components of population change ?

~T7 ~



12. waq faera &1 «ar awadar 8 ?

What is the need of sustainable development ?
FUE — A

Group - C
Eg 3ITIT ULE)

(Long Answer Questions

gosT HT 13 A 15 g ITAT 21 Jft 3 yeal & 3a2 &1 uAb U P
fouw 6 3icp foraiRa 21 3x6=18

Questions no. 13 to 15 are long answer type. Answer all the 3 questions. Each question
carries 6 marks 12x2=24

13. SRS SAUR 4 1 993d € | $9® Aecd I avi< By |
What do you mean by international Trade? Explain its Importance.
Jrrdr
R @1 eRa SIfd & Y= Sl ¢a Sua) fawivas &1 quiq difag |
Explain the main objective and characteristics of Green Revolution in India .
1469 &R a1 & 48 WR 9P Sifey |
Describe the impotance of suezcanal route.
Jrrdr
IRd ¥ gs® AF &I affHIor S |
Classify the roadways of India.
15. 9Ra 4§ <igl 1 ST & faaver & ' Sty |
Describe the distribution of Iron and steel industry inIndia.
Jrrdr
ARd &1 AHfaa 91 Fr=ifafaa &1 yslRia a:
(®) wruTel (@) Sifea (1) dreax (9) 9GS (8) Age (3) IRie
Draw a map of India and show the following:
(a) Bhopal (b) Kochhi (c) Talcher (d) Porbandar (¢) Mohali (f) Raniganj

ANSWER
1 A 8 A 15 D 22 B
2 A 9 B 16 B 23 A
3 D 10 B 17 C 24 B
4 B 11 B 18 D 25 C
5 D 12 D 19 B 26 B
6 B 13 B 20 C 27 C
7 D 14 C 21 C 28 A



Answers (SdxHTe)

. orafl @& QJER W §% TR Y969 & &< 8d & TE U« BT =
gemfie  erfterm grar @1 fawm @ yr wlt Qe ud gial @Y <rorenfat
g TR & w9 A & d3d 21 SarEwr & fag —veqr, A, a8 o,
dcd, WIEDpl, qidired SRt enfe |

2. 39 S fOFe SAGHI &1 SUANT gI&d w9 9 A1 e Sudigast grRr  fear
AT 8, SUHIE] 9% SUlT dedidl 8 | Sasvl  —fdwhe SR, qddeE, g,
qraRidl e IfY |

3. TRI @ wegad! AT # R " 99R 89 $81 O dr 8, SA-Sd $URd a0
gdl ¥ dHde @ 3T Al A AR st & # AR T ST S gar 2
1 Wem # ANl @ A[EPE & SRYT g8 uergd e wff sy 2, R
ST GIU $El Sdl 2 |

4, 3w vRd ¥ yd —uf¥Ew U9 SOR-<RUT & R 97N FI GlsH St 9 I
oradl drell s 918 T3 o, e gd—uf¥ew ua Sar—<féor wfeasr am far
2| SR—<fRr afearr iR ¥ SrEAR) —4000km. dem qd-—uf¥mw  wfeawr
fRrer@aR ¥ URdex :—3300 km.@wfl 2|

5. 9ya @ wdfa i o fa 2

()sre . g@r, §Erh , quE oY uisfae aR®

(I ®are g9 dqdadia o AFd SRS

(1IT) Rr&Ar ISR & S JTEX Yd W@ faemsn & s |

6. arfior Jftrary @Y IR favewag e @

(D) wwfor aftaral @ FafiEl 1 R g feareaml e

Y T ugrured anfs & gwT

(I)s AfdraraY &1 AMHR BT 8T 2 |

(III) SF&aT &7 g<Icd HH 8T 2 |

(IV)urior aftarat o 7o fawr gy 8 2

7 Y FT Y[ SAarel IR G e 3

(Daverst wear) afafaar

10) &g arfior 9%

(D) &y a2 g grfior e d@

8 SERIaRY & IR o A 23—

i Situfe asdY aawm s 9quT
ii. faceh aadal &1 fges ydo
iii.  faceh faw a1 glaen

v. gl AR

9. TV Hul & S & g gRFm den oRaw 9 smawawar gidt 2| wwwn] wfdd s
A e faEsd & gRT URATY] Sul I~ @Y SIrft 2 |

10. ¥ 98 AUIRS fHaTHay 2 & SydAlddRl & axgsl & yId fasa 4 €@4dff@ 2| s
AIRAT & 7T B 9Tl ATUR & HThY AR VAl ed & | BAIEY), §R ¥ gREBEHY
@t & SR ¢

11. SFEET 9Rada & 9 ges = 2:

1T B

. IR

iii. 999

gfigeR SEET R B9 ard 9 IR Jg B HAM: TG UG YIS hed 8 | Al BT Th
g9 9 g a9 ¥ gd 9 $ gar¥9 HEd @ |

12- gad faerg &) 9 mazasar 28—
(i) =t i & fag yrefas GaEEl &1 Q@ 4 SuIET |
(i) 991 wWR 4 garR|

~0 ~



(iii) ggwor wx =T |
(iv) tgfas el &1 90T

13. 919 GGl 3N AARI &7 AMRE—YIH T I & 9 glar @ a1 S IR AR Fgd
21 AR G seferaReel &1 IER @ [[AUR &1 JEehedl J&Id: IURHdl H YTelRkie
a1 @ SR 2| sRad R A= 9eR @ uiefas Gt oY saRefa qen sqe faaver #
I fafr=rar urd ot 2| eMe SRS - GUEAT Y SudSdr Aawd Yofl, Hefirat
AT SEAIS, BRe] IR IR AT a1 Wby Aifodi a1 awgan qom daen & Ided
P JAIfad Td JERT Sl 2| a9 d URd & QiR & wed # sMe WEAe
gRada gy 2, fafa § A% swrRra awgen &1 ufowd fFRaw ger 2 s yeoR e 9
sfafraRs axgst @ @l A StRIak gfg g3 2| 9Rd @ Al A dgiferaw gl &
sfaRaa gsfira avgan, sdfe T s@dfe e i vl S a2 At ud =t
BT Al ) oI BT I fHar Srar 2 | fog Aro—aser & 918 g9 W Frafa sr fear smar
2 | RIS AR $T 3 Weed WY & —o —
1. == vd uRaed @ &3 A e gigiffa) $ifd 9 AR @) seared
JEGRT B T[UraT vd e § gig
2. Baq dm AifsFi— =i A gife SaRl & wwaa qr FRFT

@ gfaem @ 2
Jar g9 ¥ fig g sue wew@ @ w@a: gard 2
4. fdvd AR "o & WATEI 9 b3 fderafia el &I Af¥d a9 gan
2
fawa & afdeiyr 391 urRdg Fafal & wee &
6. MRA &1 999 ST AR HIEIGR U 1. 99 2. WS 3. G341 3R

2
7. adu™ A WRA 7500 UHR & AWML (commodities) &T ITHT 190

qul & fafa oxar 21 e w@ife 93w w3 siRer 3t (15.3%)

Har 2

(98]

e

34T

WRA ¥ @EmAl & Sdred A [uneie A gfg @1 sRa wifa sed @1 sRa wifa @
YoH AXVT B YOI 1967 W Golld AR sRAOT § AR, BT 13 | TR AROT B YHI’d 1987
A B
gori oROT A 39S e y=g Sewm o |
1. 9Rd @ faemd 9@ & fay JieH 31 @ &3r
2. ARd B @rEml H STAHR 9T |

TR axvT (1987) H 3UD YUYW S @

1. 919el Y9 #AIC IATSI & &F%d Y9 Scaradhal 9 gfg @
2 T8 U4 QT ddl &I SATe d6TH T

3 YRR AT B HH AT

4 I Al S 1@ {0

5 SIq SdX® © YA Bl 9T

6 FiaIE gaoial gdeae 4 JHR ST

gqQ faRlvar — 1. o WRo1 § gRad 1 9 g SR d/ad d Sured d
aftre gfg o AZ § 25 oft | a1 § I[ofi | Aa®T A 3.5 TOft

2 3f¥r® Iu ] ard (fiw1l) PR ISl BT YINT Y& I

3 &fY @ ¢ iR d9® TN T AT 8;ATIY

453 P W) Y ¥ Ide &1 STANT fHar T

5. sRd ®ifd o A yqgw fufba &= o gRarer sk ulRel saryer &1 yq@ aneH
&l

6. o 4 fagdiaxor AR wefifiavor &1 yAiT sa yqge faivarel 4§ wnfie a1 2 |

~10 ~



14. WY TR YHRHNIR (4 dT@OIR $I Slisdl @ | g9&1 Ao &rf 1869 § qol gam |
31 eX B TS 168 fHhaidic a1, disis —365 Wex o 3fwad TES1615 Hex 2 |

39 A @ i @ g e fadwex 929 3ifde otd ganm 21 g9 99 W™ @ s
Ja0Y I AR P g § W AFf 9 d<d U9 s @ 9 9600 fdhalieR,
forea1 ¢a ARl @ 19 5120 fHolo @1 g0 &9 83 @ | 39 X @l yfafed 90 W R
P GHd 2| U ST BT 499 favd @ 75 yfawd 6@ 9@ 2
1956 ¥ 51 gRT SU®T ASIIABROT B far A7 8| sHPT ST Y4 gR W Uyidds s aAqT
¢ wic , vd <ol ydw gR WX WY gad Rerd 21 39 98X @ AW § §9 qdge) shd @
i SR A woeren |, weg W foear |, e <féor § geq faeR sfia Rea 2
$9 e} @ 99 9 @9 SO dld IR B1H, gedl, figvdvs, wied, STt don o
2 | 39 IfaRad gd & iR o SoMad FBIH—YRME v, g forar den Yofids
2 Woder & URaw A dw=dd, fOdieer, 2% A9ERR, Aredewed, foves, Adewan
fre<fRar yg@ s<wme 21 9¥=m @ yd & Al wra o w=fi | susT <arsar qen
RS usrel 96 W[ 2| $9e d9&d 4 ydl yqwr |, uf¥edl 9nil &1 $ear Aid o —
qeud, 1E, YIM, 9™, TRAd, 89, wre, 99, fea, war, qor i ware Ao 2

Jrerar

ARA &1 GSP cdd 46.90 i@ fdhalifex & Wl fIzd &1 U WaH dST icad & ASDI
Pl SId Hed & IJUR uid Il A fawrfora fear <m wdar 2 |
1. SR SMEET 2. I oEE 3. Rrer oMt 4. yrfior e 5. dradt s

1. USRI A9 — G DI A dWIs B 9T 2 YRea g ol @ S49fe Q9 )
dars Y dieTs ¥ @or AraraTd &7 40 YRIed $9@ gRNT ST Wi 2 |

IR IS &Y G i 61g BT 24% THd o S 2, 51%9Fd qlgd
o9 2, Y 25 yferd AR o9 A1 3Afd A9 BT 2 | G99 AfSrd dEIg IS et
R — 7 & © I8 S€ayX — AT —aRIO™ 4 $AGAR) 9@ © | sl @ 3avd
wofagel v ot @ @ ARaG $ SR A <fr g qd | uf¥Ew & Ssdl 21
2. ISY XTSHTT — SDT G489 1S GRDBR DT grdif~re f-Haior faunr sxar 2 | a8 29 )
B B FA IS BT T 4 gl 2
3. foram ws@ arf — 3 wsa e gEaray o R @ 3 el 4 fardy 21 3 <o &)
T GSD BT 14 yfaerd T 2
4. YTVT wsdl — A YEAUT g B el 92 déEl 9 farh @ g 9 s a)
a8 80 Ufaera @ Ui Gs@l © Wy W 2
5. AHTad! ds® :— ug 1960 ¥ AT TS GG &Y ™ATYAT B T3 | 53 & =uvia fava
P 998 I G (4207 o) fZATAA YW A FATC 4 9F] 9 IR & TR &9 & B
ae faffa & =i 2

15. AIgT— S¥Td ST a9 &N SENT & | Id: 39 SulT &l o o=d wia @ a3 §
B3 2 |

faazor -— 1. (TISCO) <rel IMRA TS id Ul (WFRITYR) I8 WRd &1 999 YT AR
93T PREMT | s diT ¥ [HARAF 3R JAHI] A Higar ARAL, iRl 4 I 1
ek faRfiEgR @ ura ghar 2

2. (ISCO) sfea amaRT ¥s &l $Ul — I8 Fecl, YR AR RYR A1 &1 e
[ISCO &1 1 urar 2 | iR, IS | $iaer 9r< ghar @ |

3. WgTadl — 39 fadwRAr arer gwrd d (visl) Ht w'r Sar @ | aw FAlecd o R
el o wgradt 9 @ fFIR weEd e I ) 2

4. fEgwm o fafics — s@d IS, ang, YR dis U SHT &l $ed 91d W)
fadel g1 wfid sRE™T 27 9d9e § SieRE de-—swra ff g e 2 3w
ardvfie a9 § 2

5. Fad : — dfffeirg ¥ ? W @il 3 REg @) 1Bl ¥ Ui oRal 2 | 999 S
UIEAT BT LT A9 el 99T 2 |

~11 ~



6. AT TR (Pilcd & s@c Rien) g qEgET @ U8l 4 dlg s , RPRA

(@) | HIIAT YT BT B |
7. faemEMaT — 9% ¥9< dc W Re@ @ 913 @l WA dREHET @ 549 9578 &1

oY 9T © |

Map

~12 ~



Model Set - 2

Geography
A-GEOG (OPT)
JFAAT: 3 He 15 THec] [gorfas: 70
Time: 3 Hours 15 Minute] [Marks: 70
Tdemeff & forw ferdern:
Instruction to the candidate:

4. Tdemeft Jerisra 3o orEl H & ITT I

Candidates are required to give their answers in their own words as far as practicable.
5. @ifgelt 3k s W Y gu 3ie yoife Ffidw w=a 2

Figure in the right hand margin indicate full marks.

6. TGl URIE IAT B HATA HIOT JAXAT, ATus AXAT AT UeT JASAT 3d9T
ISESH

Write Section number, Group number and Question number with every answer.

erder: TA U U H ar Hor &, a1 -1 wa amer -1l smmer -1 & 08
— 371 g afer Il A J|Us — o g wWus — AT B

aATer It Ao —[BJvs — T B U aIgleTss UBR B &1 SA JUS & UL
TJFT 1 A 28 P URAPB 1 3k BT &1 Jft ueal & 3Tz Afow

aror 1Lt qror -l A3f uea Sr-—azglerse 31 o1 -lls Wvs - T B U
g 3ITNT UBR B g1 AMt 12 uedAl @ IAT AU uREH ued
2 3fp Br &1 HAET -1l & JAvs — A P U " IANAT Ukl B
21 T 3 UedAl B IAR AT I URAB U 6 3ih BT 2|

Instruction: This paper consists of two Sections, Section — I & II. Section — I consists of
Group — A and Section — II consists of Group — B & Group — C.

Section — I: Group A of Section —I are Objective Type questions. In this group question
No. 1 to 28 carry 1 mark each. Answer all questions.

Section — II: All question — Section — II are Non=Objective Type. Group —B of Section —
B are Short Type Questions. Answer all the 12 questions. Each question
carries 2 marks. Group — C of Section — II are Long Type Questions.
Answer all 3 questions. Each question carries 6 marks.

~13 ~



HOT — 1
SECTION — 1
FHUE — 3T
Group — A
(a=gferse uee)
(Objective Questions)
feraafaRaa uear J==m 1 A 28 H IR Abcal A Ueh JAE B 3MMUB AST

bea getelr &: 28x1=28
From questions no. 1 to 28 there are four options of which one is correct. In each
question you have to choose that correct option: 28x 1=28

1. TR §$ & oEbd I 8 2

(@) Yeora(w) gfeme .
Qe CIEIES
Who is the author of the book Anthropogeography?
A. Ratzel B. Huntington C. Sample D. Jeans Bruhnes

2. 9Rd ¥ 9o feaq auf @ 3favTel TR Y W) @ ?
(@) 12 9(@) 8

() 1099 @) 15 99
Census is conducted in India, at interval of
(a) 12 Years (b) 8 Years
(¢) 10 Years (d) 15 Years

3. N @ fr=ifafad gort § 4 fPad =0 EeR wdl @1 @l 31 ot 87

(®) ¢ Wi (@) S IrTETEY
() Jruor HIY (@) FErErRE Gy
In which one of the following types of farming citrus fruits are mainly grown?
(a) Truck farming (b) Market Gardening
(c) Plantation farming (d) Meditarranean Agriculture
4. frefaRad <ui § @9 91 o1 (ASEAN)®T |9e®I Q9 = ?
(®) SiFaTRYT (@) areie
(M g8 (=) Afeast
Which one of the following contries is a member of ASEAN?
(a) Bangladesh (b) Brazil
(c) Brunei (d) Mexico
5. fr=fafaa & @ <19 49R @ g9@ ) 9d 2 ?
(®) et (@) m
(1) e (=)givsl
Which one of the following is the largest river of the world?
(a) Nile (b) Ganga
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(c) Amazon (d) Hwang-Ho
6. Fr=fafaa & 4 &9 A1 TR AT 94 BT Y9 UguD © 7

(@) sRer (M) arrore
(@ ey (&) IR
Which one of the following city is the main polluter of Ganga a river?
(a) Haridwar (b) Kanpur
(c) Varanasi (d) Buxar

7. feaxal Fa fazafewara 27

(@)= (@) ardy
() BT (&) wifesm
Kimberley is famous for what
(a) Gold (b) Silver
(c) Diamond (d) platinum
8. fog g% do 99 AAPHIad B yaveT ¥ Igdar & ?
(®) 15 ad (@) 15—25 ad
() 25—-60 ad (&) 60 adf A 3rfere
Up to what age the human beings are in the periodof Infancy?
(a) 15 years (b)15-25 years
(c) 25-60 years (d) More than 60 years
9. fr=fafaa & @ foa 2o 9 a9 faerg &1 wWR Har -8 27
(@) =ird (@) Rorgeh
() SImu= (&) frex
In which one of the following countries the level of development is not high?
(a) Norway (b) Djibouti

(c) Japan(d) Egypt
10. 9fq a9 fpafiex ¥ Y89 ard a9l &) &A1 B SHEET . PEd 2 |

(@) SR (=)agR
(M) a9 (&) yara
The number of people residing in per square kilometer is called ........ of population.
(a) Birth rate (b) Death rate
(c) Density (d) Migration

11. Frafaea <ol 4 9 fead waife fo sgura urm Sirar 272

(®) wImarE (@) wrefaan
() s (&) wig
Which one of the following countries has the highest sex ratio in the world.
(a) Japan (b) Latvia
(c) Germany (d) france
12. ®9 & ¢gl 9N H Y& arell anfew Sifd 9 4 &I 87
(®) a1 (@) frayg

(m g (@) MY
Which one of the following tribe is lived in tundra region of Russia?
(a) Bedda (b) Kikiyu
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(c) Yakoot (d) Gauchu
13. des drss 99 (WWW) & JifassRe &I9 27

(@) Y—erafera- (@) 9T}
(1) fer—sa—<fi(a) fac 9w

Who has invented world wide web (www) ?

(a) Ray Tomlinson (b) John Borjer
(c) Tim berns li (d) Wint Sirf
14. W9 Tex &1 AT $9 garr?
(®) 1869 (=) 1859
() 1879 (=) 1849

When wassuez canal built?
(a) 1869 (b) 1859
(c) 1879 (d) 1849

15. fr=fafaa & 9 @19 yom arda sugs 7?2

(@) smiwe (@) "rEpx
(1) ifgoft (=) Twa
Which one of the following is the first IndianSattelite?
(a) Aryabhatt (b) Bhaskar
(c) Rohini (d) Apple
16. TRMET &) Gad 9 Afer st g Faf Rera 272

(®) =R (@) s~sHRmEr
(mwra (er) sheisr
Where is Asia’s largest slum Dharawisituated -
(a) Myanmar (b)Indonesia

(c) India (d) Sri Lanka
17. frafafea § 4 few a3 § yrdiwan gfasha =R g 1w 32

(®)giTEl (=) Rig
() e =< =t (ena=ararertaT

In which one of the following area ancient planned townsarefound?

(a) Hwangho (c) Indus river valley
(b) Nile River (d) Meropotanua
18. <y fr=fafea & 4 few wWimfas s@uRom 4@ defta 37
() Frafaars (=) GHadre
(@) 19 fFafmEe (=) 79 A Dig L
Which one of the following gegrphical concept is relaed to Blache?
(a) Determinism (b)Possibilism

(c) Neo- determinism (d) None of these

19. frr=ferfRaa 4 @ =9 g Tx 372
(@) o, (@) weht
(1) ws@I (&) qIrerERE
Which one of the following is educational town?
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(a) Salem (b) Katni
(c) Roorki (d) Mughalsarai
20. IRd & Wdie g & &3 4 {59 yer @ IRTA &1 ygEan
rft wrey 27

(®) ufeea  sRaar (@) sdqfeea Ifkaar
@1 faed sxh (@) 379 9 SIs T
Which type of settlement is mainly found in the alluvial soil region of India
(a) Compact settlement (b) Semi- Compact
(c) Scattered (d) None of these
21. IRA T G99 §ST AANET FREATT Haf 27
(@) SR (=) #eIRT
(m) SR (=) sfegan
Where is India’s largest oil refinery?
(a) Jamnagar (b) Mathura
(c) Barauni (d) Haldia
22. BYTISC IRND 4 ¥ o1g &1 IURA BIAl =7
(@) arer (@) @rar
@) A (a1) diqETSCe
Which metal is produced from haemetite ore ?
(a) Copper (b) Iron ore
(c)Manganese (d) Bauxite
23. IRA &1 giell 3itefe uewr fea w=a A Rea 27
(®) g» 9T (@) sics
() arfrerrg (CIEIRCAS]
In which state of India Hugli industrial region is situated?
(a) West Bengal (b) Karnataka
(c) Tamil Nadu (d) Jharkhand
24. s faera aReg &1 3reued HI9 8hdr 87
(@) rsgufa (@) garEAT
(1) =R (&) 379 4 @iy A8)
Who is the chair man of National Development Council (NDC) ?
(a) President (b)PrimeMinister

(c¢) Chif Minister (d) Home Minister

25. frr=iforRg o @ 19 MR &1 999 9T U< 87

(®) sfeean (@) T
(1) \rHiTS (=) qas

Which one of the following is the largest port of India?
(a) Haldia (b) Paradip
(c) Marmagao (d) Mumbai
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26. 9RAT Yol yorrell @) foaq deont ¥ faufora fear war 272

(®) o9 (=)17
() 12 (=) 14
In how many zones Indian Railway has been divided?
(a) 09 (b) 17
(c) 12 (d) 14
27. fr=fafaa 9 @ feg 49 &1 arfdT 4 @ w9 | W S Srar 82
(®) NO, (@) SO,
@@ CO, (=NH,S

Which one of the following gas is also known as ‘Laughing Gas’?
(a) NO, (b) SO,

(c) CO, (d) HoS

28. aigHsd A HE SI3 JATadIsS A9 P 4131 961 BT URUMH 2 |
(@) WEsel arowE ¥ gfg  (@)arg gyl
(Mere R g 1 g (7)) 3 A Wl
Increasing amount of CO; gas in the atmorphere results?

(a) Rise in global temperature (b) Air Polition

(c) Growing flooding and drought  (d) All of these
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arror -1
SECTION —II
ER—axgferss ues)
(Non-Objective Questions)
IUs - T
Group — B
(g 3TIT uee)
(Short Answer Questions)

gos JAJAT 1 A 12 ddb g 3IT9T &1 Al 12 Ueddl & 3I7= 31| UTd e
& foru 2 3iwm forafRa 2 12x2=24

Questions no. 1 to 12 are short answer type. Answer all the 12 questions. Each question
carries 2 marks 12x2=24

l. ¥9Rd & J=dl 4 "cd fdTNgud & 31 RN B €T N |

Clasify the two reason of decreasing sex ratio of Indian children.
2. URd & ¥ o9 AUiRe TR 2?7 $4?

All the ports of India is commercial trade city How? Explain it?
3. dgsa¥y Fd) °rdl ISRl 4 &1 A 27

What is the benefit of multi purpose river Project?
4. 3mra 3R Frafa ¥ sy &1 whsd 2? WRa ¥ smArfaa iR faifaa awast @ ™
faaa?

What do you mean by export and import? Write the name of
exportedand imported items of India.

5. oGl URad+ 81 @ fdsl i RN &1 Scol™d HR?

Mention any three reasons of change in population
6. SUUT AR FT &7

What is satellite commumication?
7. $HIR ST U9 @Y ST H IR T R ?

Clasify the difference between cottage industry and small scale

industry?
8. JATHfa & AR wR JrHor IRTAT &1 Ffidxor gega ae?

Present the classification of Rural settlement on the basis
ofshape?
9. TSI WURT GOT&F | MY T JH3d 27

What do you mean by common properly resource?

10. IS weRl @1 wWitra fewof fow?
Write short notes on National highway ?
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11. A AT 87

What are subsidies?

12. i1 fHa Hed 27
What is Smog?

s — A
Group - C
Eg 3ITIT ULE)

(Long Answer Questions

goer AT 13 A 15 &g 3T 21 I 3 yeal & 3T &1 uAb ued P
foIT 6 3icp fereriRa 21 3x6=18

Questions no. 13 to 15 are long answer type. Answer all the 3 questions. Each question
carries 6 marks 3x6=18

13-9Rd ¥ BIIT SIS Ud fqaxer &1 quisy Hifrg?

Describe the production and distribution of coal in India
3rerdai(or)
gRagd Ud HOR WaRl & Agd &l Afaar aufq @ifsg| Describe the importance of
transport and communication services?
14. IRd ¥ $UTH & IR UG faazor &1 wse diforg | Explain the production and
distribution of cotton.

31erdr (or)
GHAGAIE I Hbed-T BT AT DY |
Examine the concept of possibilism?

15. SUYFd IETERVT & A TRI &1 YbId afHRor Sy |

Classify of function classification of town with suitableexamples.

3ferdr (or)
ARA S AFFAF @R Fr=faiaa a1 gelRia -
(®) YR QENEL
(@) wisen (&) miferTR
(s) mfsrarare @) femars
Draw a map of India and show the following .
A.Raipur C.Baraunic
B.Kandla D.Gandhinagar
E. Ghaziabad F. Digboi
SARATCT
Answers
1 A 8 A 15 A 22 B
2 B 9 B 16 C 23 A
3 D 10 C 17 C 24 B
4 B 11 B 18 C 25 D
5 C 12 C 19 C 26 B
6 B 13 C 20 A 27 A
7 B 14 A 21 A 28 A
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Answer
Short Answer Type Questions

ARd @ gedl H "ed fAmgud @ | dRer fEfaiad 8-
1:— |1 AT
2:—Y®HY UL T

e TR 3 8 of Inf¥fe fraredan & a9 8 2

ARAI g W fAema Amr A eRe & A fadElt AR @1 fiued e @ €
TSR gdT AP FGHATT A oF 2| d P AR IGAN 4 G 2 | Uy ARd
@ it yaq @auiRe TR 7 |

T grdl gRAISAY 7 $ad TIR TR UG 9¥¢H @ IUYdd & 2 dfed I8 @
Sl @1 gfd st ¥ safay 39 sgsafia =d ardt aRIe¥ @ed €1 99 ISR
°rdl |, ARSI, eRigs |, o), Reg, agrel | guygn, Ay aarR 99d 3 Ted
g T ard aRAteEg, a7 aRaieEd freafafaa sewl @t gfd a=d 28—

1. MU & &=t 4 Riag gfaer g ol 2|

2. 9re. frFer o 2

3. G ol S o) 2 | 7aw Sl &1 e 3979 gRT 8T 2 |

9 918% 9 BHIg AW QY A FIA™T QA A FIA™T odr @l 59 fhar & smara sed
2| 99 BT I& g < AT faqeh R 7 96 o< @ 9 39 S9 axg @1 Ffa
Ped @ | 9RA 9 Irfaa ao Fafa sed 2 | R A smnfaa aen Fatfoa awgst &
Jarever frefafaa 3:—

Irafaa awgy Fraifia axqy

1. @< d4, 1. gl 9=
2. W& 2. IRYYT 3R ER—STaTExId
3. @ 3. &Y S
4. 91 3R el ’9 4 ERINS SAR
5. AT 5.3 oA
6 3Jcils =gy 7 9% IdReR e
8. Hf A 9.9

e ¥ gfRade @ i dReT 2:—

1. o

2. 93

3. y4drg
oid el &9 § 9= 7 9Tl 9T XA 9T dNT @1 9T 9. AT ' oY a9lT 918} 9
g1 G&T § ST ATHR 99 SI¢ AT JU9 &F Bl BIsdHY d18% dol o¢ ol SiaEar o
gRad= gar 21

SYUE D ATAT ¥ g AR Pl SUUT AR HET Adl 5| D gRI a0l & &3 |
TP A4 T BT 3MRA g1 2| gl 3 dar A |39 Suvsl $o A%adgde g -
PSR Tolld & 39 g Rerd@ A &1 ST T NEdT Jemeen awmda difa o)

FER IFI AR g AT A AR BT JER & | ddA1d AR dRAIA  og] S 9
Sortafera smegfae aei=Y &1 SuahT gar 2 | oefe §IR
SulT § AERY SUGRVNT A BIZ-—BIZ AHE 910 oA 8 | BIR SUNT & SQATE0T & —
AR , dcAl , UF , THSIF , UERIE ,  dcIsdl, S<i9 sdfe SEfe dg SuERn &
SR 2 | — M3ie #ue |, Racdly | derd <8 safy
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10.

11.

12.

13.

argfa @& MR w R & Frafalad ar yaRY & fearfoa fear o awar 2
1. Md®R A1 gareR  IRTAT
2. w1 Y@eR Rt
3. dioIR A1 IEFATHR IRTAT
4. g Rt

|rs Gufa w@aEEl & areifie uiefae gares Hf de o 9edr @ osl 9l aewn
B D SUAIT BT AR BT @ dr el faviy & dufg affrer I sex i
Rl & §B fauy s N 2| WneiRie 99, armme , Irivr Sl 8= e
I ArdSifIe wIF 9rEm gufd S ® S<rexvl @ | Rrger SWRTT e a9
93] SHIS B 2 | a2l IS SHd  Y§eH & Sod <Ificdl bl fagd sl 2 |

ISR AR gRRT Tl &1 Siied dTell ad! ¥ aidl 2 | s9&1 AHior 39 yarR
A forar wirar 2 fo @Eifea wu A Grarad o1 AEEET 8 Gb | S9! dlels 60 AT 80
Mrex da vl o) 2

I WHR gRI fHdl Sum & e @ fay f&ar oM arar &) 4 8e @ oy
e &1 af Yo 8 9o | SEY Q¥ H AT & oI &Y IBdl © INX 9l B D
PR IS fapd 9edr @ s9d Ided 4 gfg sl &

gel , gl , 3R dev @ fAf¥a wu &I gaifan) ssd 21 Mad dR W A9y, &
RMET H 3R IRT & U9 ST ST G AT 2 | ASSIv & JAfaIss , BEf~Id
IR & 3] MR Mo | Jaa Ig Wl 98d SIfTORS © | 394 g |, 1% |, ol ,
BHs |, AR g, B RRAT bt 2

gdaE A | ST fiedll @ yy@  wHwn 9 g% 2| e R @dl & agdce
BAAl Bl SART  Sdr™T oL, diT ST 8§ FMiedd ard gaed a9 aiedl & gu
2

g ST U b IR
(Long Answer Type Question Answer)

ARA H 2014—15 Tb DIl BT G WSR 29 H)Is e (290 million tons)g |
qIiH PIIAT ST IUIET 60 I 1 2 | IR H HIFAT & Gl f&al P71
80 gfurerd 9T fagfeya UsR &1 2| SIgar Iaared A 19 AR sARST &
91e 9Rd &1 fazg 4 N9 w9 2| o [@Aga Sk § digd &1 IRe
AT 70 yfoera 2

faazor -— wRa A uTa HiFen & gnie gm A fAffa 2
1. Wrsar  FAA Siger
2. <RIEA I (T Feu ) <1 IiIar

1. MSIAHAT JT BT SIAAT — ARAI HIFAT BT 98% AT TSaATTI
AT SIFar 2 | I8 9Rd & =1 &3 § gran o« 2 |
1. SEIGR o] Sl &89 — I8 9Rd &1 9949 99
PIIAT & 2 | FUH ARA & AP ST HIIAT IUTGA
MY sREs Red 2 Wl URd & @l ST &I 38
gfirerd STed wYal 2 | 9@ @l 3 999 siRar (50
gfaera ) 21 sue afaRaa fFiRfss  @vigyr | e
ORI |, g99TS , U] 2 |
2. #HeM4l Odl 9 — $EP Fadid SIS, BANTG
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deArTET Ir5a wfie | ST IR ST T §ST BT
IUIGH AT & o8l Halfrd draar & @« 4 8T 2 |
Bdee # SARar | RERiel | frfdy | uqa @ 2
deT H sfedEe, TR, R, ARy, R
9E B |
3. 9AYST ST 87 : — $UD IJ=id BAAITe & AU
BIRET, 9T TR 2 |
4. MEE gl 87 — A YL Bl MeEd forer
5. AIETE HIFAT 89 — 7 YW
6. NIGEd —3RES — S I=<Fid doHfeal YqE @
2
<RfF T o1 PrIET 83 —
1.Ja—ydl wRa
2 qIfstferT &=
2. WH—$HTR ST 87

3uo JfaRed wRa § for-rse Sraar uran oiar 2 | ras v yq@ a3 2

1.

2.

affiemrg — ¥gl forige iadr &1 999 99T WK 2 I8l qeaa: feofi smac
5 @& A3l a3 @ forage sigar feren S 2

RISAT — Y&l bR (Ie1) SYR Yd SilegR 9 Icre fhar ST 2 |
areraT

IR — ARG UG HaR & ArE o ol Q9 ) Siae X F'1 S 2 | ararard
H T BB A BT © | IR GUCRI  UT@fad Udl 9ol Aag s & W Al
Wﬁﬂg?;aﬁ?aaw?lsﬂﬁ i fae thar &1 faera shar @ | 39 53
aT'J:l' —

$ID GRI QU @ qX-—SX @ &3 &l e qul & ard fiyam fear w2

1. 390 ERT 91 §&I1 4 AT &I 98d Als  99F A 9 IRMEEAS & 9
X Rerd T W g4 er 2 |

2. 390 NI 89R e 9/ 3R fafde arrfl Qo & e 917 9§ g8R 91T d@
o oY o @ R A sMe YR @1 Sfsrsal &1 3 BT 2 |

3. &l Qe P WAl SRRIRI |, MdANEMwg , 91 Ao & Aael & wd
¥ Fxar 2

5. UTdfad ATUST oI S , Al , A, 916 , oI a1 -\ —gdd 3l
Rerfr § ) ARG Ud WAR @ W@IEAl B 8T S} ARG 9@ W & AN
QU YHAl & YF A dUS) qa1 § dd) IWE ddb bl Qa1 d SuRRerd 8l SIrdn
21 9¢ 9T © 3R QU UHdl & ¥F 4 digdY Ia1 9 AP We dP &I 441 A
SuRerd ot oirar 2@

6. ATAATT U4 HaAR & A Uy eferawen @ Sfia Y@ 2|

7. GER U9 AR aFe] ff ¥AR @ 9eE @ 39 AegH 9 Qu faqw @)
oI ge- @ gaag fierdt @

8. H¥YeX AT gexeic I s Gfaurel & Az ol e fazawy ik axa
g1 feam 2@

“AY ARAH URATSAT 4 A 2016 € AT R GIAAT WAR B deil A
fardia ST o R 9d T A 2 A 3ED Agd Bl AR fawfia s Qwm
14. U TP T 2 Sl SWT Hfedelia v 2 3BT SAURA drell g & a=1
¥ wd% #&g A @ A 21 AR BIT W arell ({RA) AR o R ared
EAR®T) S SR & HUTH ST ST BT @ | ARG HUN @ Saured § o4
3R ARBT & q1q AR T Il 2| 9Rd @ fd Hivd A 4.7 gfdera |
R HUE 4GT Sl @ ARG &1 96 SeT - &ur W &) ffv 2 (seuferera)
IAUTE Y4 fIaRvT -— U & Y IURS &3l ©

(1) oG @ AT 9T U9 SIifodrars &3

(2) werTg W U=l gc & yd 4§ uor W

(3) uf¥=ft weayqer sitx e ardh

(a) <féror Hafes R ulR= anguder
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14.

15.

(5) =f&ror afrars

(6) dome BRATT 3R g SRR
DY B 10 98 IUTeP ISdl BT SUIGd 2013—14 d = 2

< Bl TS It (oooBales
AT $H H) 1 9o 2177
feent wmM

1 ISR 8850

2 BRI 7655

3 ATTYQIT 7350

4 gRarom 2500

5 [qqYQIT 2200

6 PNIC 2000

7 TSTRATH 1400

8 Bl 1255

9 GIEEEISY 500

10 sSfear 400

Jrerdi(or)

HHae @1 faarRaRT &1 Rigia 98 2 & IaEvy & gRT 8 9ER 9¥gd
P el 2 SR 9 AU UHE B IATHR SADT gA1d S "Il @ AR dle dl
T8 R GFHal| 39 fAaRERT & ydds AR wefe fasia - @ afe w4,
o Ud PreidEy 2| 39 fEaraRT &1 9 R fd@r wig 4 gam o safey
39 A B iR faEr art # eed @
WHAAIG e HI YT G99 Ul Be o fHar o <arer 9 gdamr o1 & ysfa
D FRT B GHEAR YRG I Gl 2 3T GEEARil & Hiaw U
JTTEHAR vl MR FAAT B JFAR AT (BTC choice) AT 2 | s8 I
Bic & ITIAR S &= a1 y<or @& WM 98 &1 A AN IAUAT HIHGH
TIfd ®ear 2

Bd A UTRfde qrarERer I IUET AN b HEAl Bl Ui
e fear 2 fedl udwr @1 Reafd sk Seary 4 e As@yel wmE i
Jaarr 2 3R famr 2 & ara yafa gR1 uysgd &1 R GEEaRi &1 @
BIAT @ 9T 918 9AT &1 fvirae ghar 2

MRS Wared<r gar 999 3 Y 39 919 &1 "weda fRar ? 5 yrafoe
qIdTaRY] H19 G916 @ wU frefad T8 axd dfed g0 &1 T uigfde aea
HISH &Id X8d & gaq 4 49 {39 ud aaie @1 9ee 9 @YUl GHEEn &
@l forar 2

At 999 7 AP & del o1 & araEre & winifas Tl 499 a9 @
TP 4 gRad-efid & 9d 2 59 yeR &1 aFqar w@a # aRads =l sdl
2

TRl &1 Ievd faera deon aRda S¥e faiy el & gRr glar @ donm 3 TR
faerfiga Aarel &1 e dxd @ R U@ TR &3 YSR & 1 $Rd © odfdd Sl
ST 99 Y@ i AT HaY Bl @ $¥ IAER R TRl TIPS aiffeRor
far T 2 -

130 TR — favg @ 99 TRT &1 Squa fasra qon sifaa faft=1
g frrfor qen sitenfie gfearen 4w smenRa glar @ S silgife TR w81
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STdT @ TR @) 3if¥read s dtenfire & § oft it @ o — sfifey
(e sWd SNV ) Sgie #Wlekx &R Ml ARal  (FSifEaRT s@r (B9 )
JrgrarErg (Ydiae)

2. AuiRed TR — fafr= @auie don afdsy axgeil @ oaie @@ Hear
AR 3 gic 4 ffia TR auRes TR dedd 2 o — YIS dgd
BB Y8 Dlcidhdl

3. URaes TR fafr=1 aRass Al & fieq famg wr a1 aarmE 9nf ) faeha
TR 9Rded TR dedid 2 A 3Afrear smaa R frafad sl § o wd 2
S disdl, difea, Rrem, 1RY, 9! |

4. 9IS TR o TR &1 faera fedl <o ar uyr=ha wstamh @ wa &
BIAT 8 OAT o8l RGN dEieddl & gar=ar UrRil ol 8 93N TR
Hedld 8 A3 faeddl, al¥ireqd, o anfe |

5. @99 TR faza ¥ 59 R &1 faera fedt @fas ggef #1 yita & u™
BT @ @9 TR $8did o

S — AT T &1 SIR[ER (FiAT 9iftd & $RD)

TS |, SIRAT SIeRT (H1ge)

i yor aiffe TR d9er ad9r garT &, =R (B9 TR AREA
TR) A3 MR RYR, e TR sfqawis offgs safs 7RI &1 fda sl @
IR U 3T 2 |
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A-GEOG (OPT)

AFA: 3 He 15 THecC| [gurfes: 70
Time: 3 Hours 15 Minute] [Marks: 70

gdtemell & Tou ferder:

Instruction to the candidate:

7. et JerFaa 31ua olsdl H B IR T

Candidates are required to give their answers in their own words as far as practicable.

8. @ifgell 3MR zfeT ur R’RY gr 3k yorfes Fifdse wa 2

Figure in the right hand margin indicate full marks.

o. et U ITT D AT HOT JSAT, ATVs JAXAT NI U JIAT 39T

for=st |

Write Section number, Group number and Question number with every answer.

ferder:

airor -1

atror —II:

Instruction:

Section — I:

Section — II:

SH YT U H ar Her &, amor -1 wa arer Il aer -1 3 xus
— 31 gar #HAmer -l & JUs - 9 garT JWUs — A |

AT —[BFvS — T B U TIGeIs UBR B &1 A JUS & UL
FFAT 1 A 28 B UDB 1 3k BT gl Al wedl B IAw A

Arer -l Al uea Sr—azgferse 21 ao1 -llds WS - § B UesA
g 3TN UBR B S| A 12 UeAl P IR AT | URAB US

2 3ich Bl 21 AT Il &S JUs — F P U g ITIT UhlT B
F1 MY 3 UedAl B 3IaT AT I UDPb U 6 3ich Bl 21

This paper consists of two Sections, Section — I & II. Section — I consists of
Group — A and Section — II consists of Group — B & Group — C.

Group A of Section —I are Objective Type questions. In this group question
No. 1 to 28 carry 1 mark each. Answer all questions.

All question — Section — II are Non=Objective Type. Group —B of Section —
B are Short Type Questions. Answer all the 12 questions. Each question
carries 2 marks. Group — C of Section — II are Long Type Questions.
Answer all 3 questions. Each question carries 6 marks.

T — 1
SECTION — 1



s - 37

Group — A
(a=gferse uee)
(Objective Questions)
ll. feraTtaiRaa et AT 1 A 28 A TR fdbcdl H Tsh JE 21 3MURT A&
abeT getelr &: 28x1=28
From questions no. 1 to 28 there are four options of which one is correct. In each
question you have to choose the correct option: 28x 1=28

1. wra A frefaRaa yara areit 4 yqa &

(®) ariior |/ yThor (@)urhor & TR
(@ | yrfior (=) ¥ TR
_____is the main stream of internal migration in India?
(A) Rural to rural (B)Rural to urban
(C) Urban to rural (D)Uurban to urban
2. 5d & B B Ped B |
(®) dqdeR (@) e
(M) T Beax (&) HIg TS
The practice of flowers cultivation is known as ................
(A)Sericulture B) Apicilturer
(C) Floriculture (D) None of these
3. Frafafaa TR 4 o9 91 TR T8 & dc ) Re@ T8 27
(@)3m=T (@=)uer
(m)=rarer (&) ®rermar
Which of the following twons is not situated on the bank of a river?
(A)Agra (B)Patna
(C)Bhopal (D)Kolkata
4. <fEror sRe®r @& MNatwr a9 & &85 e @
(®)gad (@)uvrSt
(msrsE (a)edw
The temperate grassland of South America iscalled ?
(A) Praries (B)Pampas
(C) Downs (D)Steppes
5. fawa &1 999 IF HUN IS I B
(@)= (@)wRa
QELE (@)Egad g IWR@T
World’s largest cotton producer country is:
(A) Egypt B) India
(C) China (D) UnitedStates ofAmerica
6. frafafaa TRY & S A1 TR &1 Redst  wgarmar 2
(®)RTSRB T (@)SHeIeyR
QERIEN (en) rerst
Which one of the following cityis called “Pittusbergof India”?
(A)Rourkela (B)Jamshedpur
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(C) Durgapur (D) Bhilai
7. frafafReaa 4 4@ fea a3 9 Req d4dfba -

(@)l (@)d=
(m)arsirer (er)3retTEsT

Eskimo is found in which of the following belong?
(A)Mexico (B)China
(C) Brazil (D) Alaska

8. Wrd & fFr=faRaa dgxmel 4 4 $i9 471 JAfsdr de wR afRerd 27?
(@)sfegan (@)arigia
(mHss (G)IENIECEESE]
Which one of the following ports of India is located on the caost of Odissa?

(A) Haldia (B) Paradeep
(C) Mumbai (D) Vishakapatnam

9.f=fafRaa # foda Qo1 @) Swa@ 999 Afra 27
(®)5gaa s R (@)arefia

QEREIES] (G)ESIEINDI]
which one of the following countries has the highest population?
(A) Unilted States of America (B) Brazil
(C) Bangladesh (D) Indonesia
10.fFr=fafRea § @ f&Q WG PIrd &1 o976 $eT Srar 272
(®)eHlec (@)Rex
(C)Resia (D)sarer
which among the following is called the ‘father of human gergraphy’?
(A) Humboldt (B) Ritter
(C) Ratzel (D) Blache

11.frafafaa 4 @ o9 a1 a8 2 - —
(®) fcwatd — dle—swa (@) &R —dlz—s@d
(@) afawiffa—diz—swa (=) 79 4 &g T8
Which is not true ?
(A)Pittsburg — Iron & Steel (B) Bokaro — Iron & Steel
(C) Calofornia — Iron & Steel (D)None of these
12. foa af @ S &1 S @1 9eH faures ad $ed 27

(®)1921 (=)1931
(M 1941 (=1)1951

In terms of population which census year is called great divide year?
(A)1921 (B)1931
(O)1941 (D)1951

13. Fre=ifaRaa & 9 fead $eal, 9 9 @S ol BHd ST WMl @
(@)frafe Py (@n)armi Py
(M (en)arforea iy

Crops like coffee, tea and rubber are cultivated in :
(A) Intensive agrirulture (B) Plantation agriculture
(C) Mixed Farmaing (D)Commercial Farming

14.201 1% SI=RIVMT & IR ARG &I foimgura 27
(®)950 (=930
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(r)940 (=960

As per 2011 census India’s sex Ratio is _

(A) 950 (B) 930
(C) 940 (D) 960
159~ & &g ey A ERT RIEE &1 ™ Y99 Sl @ ?
(®)qxa (@) SYR
() A (&) "MruTa
In which city of India Diamond cuttingis a major industry?
(A)Surat (B) Kanpur
(C) Ranchi (D) Bhopal
16. g fparsamy | Hefea 2—
(@)auR (@)uRas=

(MEarR AR darg (=g |
Tertiary sector is related to
(a) Trade (b)Transport
(¢) Communication and services  (d) All of these
17. ¥9R & f=fafaa geot & @ fead gal @ fesaw a6t
ARATES d ®U H YA fHar smar 2
g (@)7Eerd yaem
(Muddra gwr @)SsT yaw
Dogs and Reindeer are used as packanimals
(a) Savanna Region (b) Desert Region
(c) Mountainous Region  (d) Tundra Region
18 fargaRas et 4 Re@ 2
(®) Ix1a (=) wfRran
QLT (=) R feram

Trans Siberian Railway is located in ...........
(a) Europe (b) Asia
(c) Africa (d) Australia

19.feR ¥ Afy Siaqiss 9 fog 9@ &1 BT 96T °
COREINES (@)aRIgS
() smefs (a)arat

(CINELRL

Over exploitation of ground water in Bihar has led to increase in concentration of ?

(a) Floride (b) Cloride
(c) Arsenic (d) Iron
20.91crETs fda @fie o fag ufig @ —
(@)D raar (@)arar
(myatar (@)
Badampahar is famous for which mineral?
(a) Coal (b) Iron
(c) Copper (d) Manganese

21ISB Al ST GIF 69 U & WA 4 wifia fear war oar?
(@)eq (CIEQIELS]
WELE] @)zEd | PIg 2
Raurkela steel plant has been established in collaboration with-
(a) Russia (b) United Kingdom
(c) Germany (d) None of these

~ 30 ~



22 ‘i@l 9e a8 (®)
HEAYQ YT (@)srwvIad gaer
(s C)RINICE
‘Bheel’ tribal community is the inhabitants of :-
(a) Madhypradesh (b) Arunachal Pradesh

(c) Mizoram (d) Nagaland
23 IAR—< T IferaRT Siiedr 2
(®)is— daTHAN (@)uerFsic —d<wH
(M) TR—S=H AR (&) R

The north-south corridor connects:-
(a) Leh- Kanyakumari (b)Pathankot-Trevendrum
(c) Srinagar- Kanyakumari (d)Srinagar- Trevendrum

24 frafafaa # @ &9 A1 9ART &1 99 9] ATUIRS AEER @ —
(@)dr= (@)EgHIRe IR
(MEg® g MR@ET (8) 9sd IRe

Which of the following is the largest trade partner of India?
(a) China (b) United Arab Emirates
(c)United States (d) Saudi Arabia

25.€afs YguoT BT AT BT @

(@)anw Hrex (@)griax
QEERT] (@)sHea
Noise pollution is measured in terms of :
(a) Ohm meter (b) Ampere
(c) Bacquerel (d) Decibel
26. WTO®T a1ef @ —
(®)faza wdeq dTeq (@)faea e G+
(nfaea AR WA (=) 4 3Is T8

WTO stands for:-
(a) World Tour organisation (b) World toll organization
(c) World trade organization (d)None of these

27978 € Gsb ® I~iid @

(®)NH-1 (=)NH-2

(M® vd & <=l (=) @ &g T8
Grand Trunk road consists of:

(a)NH-1 (b)NH-2

(c) a& b Both (d) None of the above
28 frrfafaa & @ <9 a1 va9 gdf de w Rea @

(®)PToSan (@)qHs
QI GREIN CIERH
Which of the following port is situated on the eastern coast of India?
(a) Kandla (b) Mumbai
(c) New Mangalore (d) Chennai
o1 -1
SECTION - II
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ER—axgferss ues)
(Non-Objective Questions)
S — T
Group—-B
(g 3T uee)
(Short Answer Questions)

U JHT 1 A 12 db g 3IT4T & AT 12 Ueal & 3IaR & | Udd UL

& fou 2 3w feraiRa & 12x2=24

Questions no. 1 to 12 are short answer type. Answer all the 12 questions. Each question
carries 2 marks 12x2=24

1. S Goe 9§ 39 /T 9Esd 87

What do you mean by population-composition ?
2. JEfiel ue @ 2 ? Gau A fad |
What is Technology Park ?Write in brief?
IR USHYT T & $9d U@ Hdl BT Ieadd I |
What is Air Pollution?Write the major sources of it?
4. S Gl T A& Sl @ aal ?
Water resource conservation is necessary, Why?
5.  ¥Rd ¥H Uad Soil & e wR wfdra faavor yxga a3 |
Present a short account on the development of wind energy in India?
6. duqw WRaA &1 fafasa Rt 2, Fy
Bangaluru is the silicon city of India, Why?
7. o UR¥ET 9 @1 @ @
What are the merits of water transport?
8. gl fear@daml &1 quid a |
Describe the tertiary activities.
9. 9Rd A fHaAE & T 4 A& 2?
What are the sources of irrigation in India?
10. Al Yed @r 287
What is the Metro railway?
11, 9M49 Piid & 6B Sual @ M faleg |
Write the name of some sub-area of Human Geography

12. 9oll @& IURIRS Sd did q 2?2

What are Non-convetional sources of energy?

w
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goeT AT 13 A 15 &g 3T 21 AT 3 yeal & 3T &1 uAb uea P

s - A
Group - C
Eg ITIT Uee)

(Long Answer Questions

foIT 6 3icp ferariRa 21 3x6=18

Questions no. 13 to 15 are long answer type. Answer all the 3 questions. Each question

carries 6 marks 3x6=18

13.

14.

15.

ARd A SFEET 3fg S YAIfad HA aTdl SRS BT quiA ) 91 58 FEafHa s &

SUg 9l |

Deseribe the various factors a effecting the growth of population in
India?Give suggestions to control it.

34T

Jdrd T @ Y919 & SR §d R a1 g4t |
What is migration?Discuss the course and consequences of migration.

il g9 Y awdl 9 AU qr §usd @ | S9a) yqd fawivdars a1 quia $ifig
What do you mean by the rural and urban settlement?Discuss the main features of
Indian agriculture.

Jr2rar

AR Y I yg@ gaRn &1 9vfq sifeg
Describe the main problems of Indian agriculture.
ARd & Y@ Aenfire g &1 W foad aon &l <t &1 w&u § 9vfq g

Write the names of industrial region of India and discuss briefly any two of them.
Jr2rar

HRA &I A g91ex fEfalaa @ galRfa &

(®)d<rTe (mHTER
()Rt (&) PTepRIaTRT
() TgsT (@) SRASYR
Sketch a map of India and show the following:-
(a) Chandigarh (c) Manglore
(b)Mayurbhanj (d)kakrapara
(e)Noida (f) Jamshedpur
IR
Answers
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NN kW -

B 8 B 15 A 22 A
A 9 A 16 D 23 C
C 10 C 17 D 24 C
B 11 D 18 B 25 D
C 12 A 19 C 26 C
B 13 B 20 B 27 C
D 14 C 21 C 28 D
Answer

Short Answer Type Questions

S ued fedl 3w ) s a1 g, foi v, Riem &1 wWR, smarw qn snf¥fe ww
Pl YRIA Al 2| TITOET & G TG © AI—W1 J9T Gucd & JAldbs
#f IR 5 od 2 8 < @ A @ UL, JAULEE T WR,BIYAA TAT IR
faetwaren &1 gar gadr 2 [ € A faera @) A gieEen & i @ fau Aarntesfes
@ Bd @ |

TRl @1 Arel R o ddEe]el d AR dienfel § gaa g smgfie Sen i 3t
WUAT 81 ot @ W a¥ga: Bel 4 R g Tafife Ao § ed & R
genfira) ure ®ad 2 |

oicd, <ifeal ik fivd @ 37 TR § U@ AR 8 @ 21 R § # Exd
fawfia fear = 2| A, AT, dEas gafe d@iredaR SaEtdrsh e 2 |

JgFsd ¥ fafr= yerR @1 A9 urft S 2, 9 U9 ga @ T faewe ed @ W9
fodl ROl ¥ aRgAvSE A Al &1 IJUd 9Sa oTdl @ AR B oI ugref ar] d
fira 9 21 a1 Suer Wifve dgaq frs omar @ o Ags Sigan, &k wufa @ fag
geR® g 8| 39 Refa &1 argugyer wer wrar 2|

IIugEeT & @ wd frafafea 2

i.  Sfiareq s+ &1 <84
.  @=d
ii.  S=Ehr

Sftast &) fara smaeasaRt § Jd G98 Ag@yrl @ | gufay &er T ¥ od @ Sfaq
2| o B H 9 2| ug AMIWHATIAR SUAL & AT FfE 3D TS W HH
a1 faa wirar 2| Jra: ol AGREvT GHT B [T 2 | ofel A&V B AT Dl
fr=ifafaa figan @ +ff we gt 8-

i. gl & §d 71% SRAd R IuAH o 4 d dad 3% @I aaviia 2 | arer g1

FUD) SUAEAl Y X WIHF & IR == 2 |
ii. vaEr A4 FRa@R 3fg @ 9 Sennl @ faere ik &Y Sares 4 faew ©
forg St @1 | FaR Jedl W1 @) @ AR Afas A 9ga e 98 "l T |

9q Sl YuiwdvT UGN Jad 3R ol BT AT A 2 | gad &1 Ifast Sl &1
exaTsd & Wedd @ fagga Sl § qqar omar
FR Q¥ H Uyad I9f IS $ GHIAG &Har 50,000 HMErE o T |
o @ ve—dlend It &1 At 9 S/ § ™ o 9&ar €| 99 Sl & fag
RIS, T[RRI, BRI, dicd a1 dfiiadrs 4 sgad uRRefi faemm 2
ORIT & Ho8 4 AT S Ua- Soll W39 YREAT &1 999 9T 497 @ |

fafeea & & @ 31 (P g © | gAdgi-ad S G SUHIT 3R @qIa—ared, [ C
1 fag anfe Rafards amaR wx & 9911 wid @ 99 90 ¥ 95% Riafere &) v=ar 21
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10.

11.

fiafasa & e SUAT © HRYT A sdeifad SN & Gbaur &1 Rifasa Rid)
P8I ICT 8 3R 39 IPR & S &I DSV ARd & d[gs J © | gAfag 59
fafarea R @ gaifea fear smar 2

STel Raes & fa=ifaRaa o &-—

i T Gs® a1 Yaurt o fedft At & fefor & smavgar ) wsdl | wEt @)
TEE 98 9 98 Wduld & URaET & gIH It § |

ii. o uRaga &1 @d 999 $9 2 FfE I &1 guor {8 g9 wa=an (
Viscosity) @gd © 9gd &4 @ |

A frareamn Rrad axga: fedt avg &1 Fmfor a1 Sare 98 gan, wWg 99, s,

AT AR FARYEdr & AR W VT &7 [ATH ddl 2,88 JlId harda dad

2| & daars fJorell e aidl, geMeR, arae, AeaTus, Sidey Nfe &1 & 6T

A S3TeR0 2 | e fparsemy & fafafaa aif 28—

i. AR SR ST —ofld Yd YT AR
ii. uRdET a4, Ge®, 9d, 9
iii. WR — #Alggya, A, Meal, Sifae, gwaR o=, uBerd

Fa] — d, 991, Raa e, Aaaaiye

ARG & HA BN &7 BT 30% AW R & Jad 2| vRa A RiaE & (= aem

T o = we &

i. TN — A &1 I8 999 wew@yyl g @ o Wl 3R sRard 7 yeR @ 2
AR & wed Rifaa g & 40% =T w® 39S g1 R sy & T8 @
S @R STR Uew, UoiE, sRamen 4 € |

ii. BV —394 Hed U, UGd §Y, TAGY 41 W T | g3t gRT 48% Y Rifua
gt ¥ | 3ue g Rigd Sax udw, dome, sRamon ik faer &)

iii. ATeE :— U@ IATiad §B WEfas MR §B W T | a9 g&ga: e AFT 3
T f1 W) fad 2| ararel @) 999 f¥e W fgud e R SHa 9%
arfierrg § faerft 2

Al Yd A & IR fagd A g arell RamisAl fas1 aRkare didear vd el
S W R # BIdT 2 | 39 UHR @ XAMfSAr uguel gad, e skt 2| a3
Yaarfeard ferar wug, aarfaa mfsat vd aarara e gomelt @ 3w 81d 21
AMa Y BT A 999 R afa & g @) yraRs  fpar-—afafear &) ara
T & Suas ffafea @ —

(®).=m@sIRS e

(CIREEINEIC IR

(). anff® e
(&) amifSe P
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12. JMRWNAE Suf Eid, Sul & V8 Eid @ ol & 9ara 9 8 AR S99 ygfarer 0
7gfd 811 9 991 | Suf & WH Edl @) @i B O &) 8 AR FH SAST I
ff H @ 21 V8 JURWRIIT Solf eid 3 & -

1. 9ad

. 9 WO
ii.

iv. @

v.  oiq ygref

vi. M

vii.  wEd He-—PeR
viil.  Ha-qA

XY IANT 9T @ SR
(Long Answer Type Question Answer)

13. 9Rd 4 99& gfg & <1 oRe Saverf @

i. WRa A g o gfg o1 @ IR YR W) FREF enfia g 2

il. SR # @ A el

iii. fafecar vd wawed gfgmn & guar|

iv. @ral wR fEEeT )

v. orf¥ie faera qom ofildd wR 4 gurR |

vi. e @ ') § ol wer afgar Rer |

vii.  9RER e |

iil. &9 99 A faarg |

ix. ofife Ifae sR&-—g&Y a1 ) A8 |

=T & Sura

i.  Rar FAeE &1 Swdaagds sEfaa |
ii. fuar vd Gqfaa smer Gt d gfg |
iii. IR @ ST AT DI IuEIT |
iv. vaq f¥fe faem, amifoe e v gafavor Gevr @) smavasaet @
ATI—H1Y ST el b1 Redvor |
V.  UoFA &) &I 2 ufaera 9 R am &1 ds 991 S|
Jrerdr
e B fPdl e I @ gE I IR WTe] 991 $ 99N $Ed 2 | Y9 A
AN &1 B N S T ST 91 398 9™ § gRad=r sifard 2
YT H3 HRUN A BaT @ o—
i. reffas— 7fd @ TR Y99 &1 UH 99T BRI AR 8, TRl § I,
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14.

IRaE-, AUR 3NMfe & &3 § AR SUAS BIdl Helg®y A9 4 TR B 3R
QAT YT &) 2 |
ii. faare— Eff se &1 yarw g Sl arfses sRe & rRer skl 2
iii. Rrar— yrhvr g3 4 =g R &1 AT @ hea®y ua™ |
iv. afife sR— aifife adsar @1 waeT @ g9 S ggaredt 2| 9 ger #
“Rrafreresd” &1 caifcds A8MIR & W BR WX YdN SHST IATE0T 2 |
v. Y g I wfta— 1991 warsdl A RIsY yard &1 J& SR 988 e
7 gfy qft o) mftq oft)
Vi. OIS $R— $F AP QU H [T J§ D PRI I@iSl, oI, Fiarferar 4
gl Qo A ARl 98 M W W 2 |
Vil. SR S9T— $9@ SIROT AT I AU BRI Bl BlsdH YRAM WIHl B AR
AT BYd © |
yared @ 9RemH
i. anfdfe am &) wiita:— SRI— srarisda yarRmal grT A w1 fadeh
a1 fafrma &1 yga Sia 21
gaa A fadel 9 g9 yedl & ®U § AR &1 USRI @ |
ii. wfew IRTAl &1 faera— we @RI &) 3R IfrafE yaw |4 Wis—rs
aor Afes IR’ 1 G der gkl 2
iii. warft T wrnfoie uRads & 3e8 wreww 8 2
iv. yardll ¥ \iwgfa fsor giar @ el a0l @R s 8 21
v. A AT Bt @ o |feaal A et &k sitwe gwuAlT (Drug
Abuse) SHft sramIfes fhaRt & Tdcd ¥ B & fag aRa &l 21
vi. yardfl Hre—Hrs ¥ W @1 A, uguvl, 9Ifgd 9 @ fuer dor s
PR & ydud oR¥fl M@ ik wwend dgr @ W @

13.  arfior vd T Il @ A} &l o arfarer 9 wase fear o
HavdT 2 |
gror 9Raar T 9Raar
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i grfor s ¥ @9 ara 1. T a) ¥ ¥849 ara T

AT Y, ggguTe, e, AR, 91Ty, Araramd
AB T s Ui e 99 o fgdiae @
i § T B R e s § T g 2
ii. ST AMHR Bler aidr ii. S9T®T ATHR <7 BAT 2 |
2 iii. 3@ SFE®T 5000 ¥ 3AH
iii. 3P STEEAT BH grdl 21
50—1000 <afdd areft sicft iv. 39 SITaed 400 <afad ufy
= frat#ier grar 21
iv. S9N STEea & Bl v. amgfe gfaemg sarer gkt 21
2 vi. 3% qRY Ud ser @
v. s sngfe gfaend & gfaem gt 21
Bl 2 |
vi. 39 9I9IR U4 SN &t
I Bl 2

w@ faeivar—
i. wra st 7 wrfoe gt @) Aifa shaa—amas s=ar @ aorm amud
# faart 3R a¥gail &1 JSF-—US HT 2 |
ii. %t # 8 AT 999 YW HIS AT 2 |
iii. st ¥ ge TSIl T ITATHAT B I WEH U W 2 |
SH— guTaA, fdened wa, Rarad a7 gormeerd |
iv. arir axft sifrafoa wefe i st o ar sidfrafoa
Bl 2 |
v. A IRt e, Tier A1 SFETIBR AEHfT B B "l 2 |
vi. T IRTal 1 Reafa sia, pefmfon, Gl v aRass qeE
Suder W R st 2
arerar
AR Y 1 = g aaand -
i. frafa afaga w fefva- aRa o daa e fagg A a9 & Riarg «
gfaem Sude 2 MR A¥ A-faEE a1 & auf w @ iR @ sar 2
ii. /=1 SAUTEEHAar— Badl @ SURHAT ORI Q¥ I g1 d A 2 |
iii. Forredar aen fa<fa daEET & F A% @ o9 grdt s an vaal @ @ve
B U A Pl & O A B I 2 | adad § fHEE B Aawd e W)
areg A fpar 2
iv. g1 gaRt @ Fh— e gorr faael @ fag mvver & 2 39 e W)
TR AT @ 916 SAGIR AoHIIP 98T AR & BRI YIRT T8 o Pl
2
v. BIC @a a1 fdEfsa dra— 1970—71 ¥ SId &T AMHR 2.28 BICAX AT Sl
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A A SR ged gU 0.5 2d¢dR X8 AT © Ui uRaR SiF &1 e sier
B BT I HROT
a. oEEI gfg
b. IHed & ferg faery w9 &1 9 40
fawfea a s {uita e gfc ¥ amer) 7l 2

vi. aIiOTSAIBRYT BT AT — d6R & a9 & e fear 3ve Sdres &1 941 <181

grar frad fearr & snitie Reafa saeix wedl 21

Vil. AMU® 3re" ISR (BT g3 90w R)— &Y &3 4 garg ik @ers & 99

ISR frerar 2 srerfa 9y af & 4—8 drg AW Edl 2

Viii. Y Fig g &1 Frefiavor— sfafiars @ SReT Sdssiadn, |@avrd,

1.

T, Poak, oI &xvr sl Rerfa S 81 et 2
ARd # 3iteifre fqarer s @ 9 B a1 9 afte
Mefire Ao & dRY & ETRe W E 9 o1 @ ol @
efre u3er deamar 2 | 9Rd # U9 8 NGRS waw 2 <t
=1 23—
i. gEs—gul afie g
ii. gl uew
iii. dTAR—affers, g e
iv. IORIT g_9
V. BICHNYR Qe
vi. faemEm—cx e
vil. Tea—feeel—iRe gaer
viii. Pleci—fwaTay<d uael
s —gol IAefie yee— I8 U< S1v | YUl dun Aifbe iR AR @
frecadt foal & fawga 21 39 a3 4 gt a5 @ afaR®, dgifeaaa aRswo,
UEIREA, ST, HEM q wiRed a&gl, O AulREf sdve, fawed @
e, S farf, saagifien, Wivcdar, uRdes SUSRU, WIGT UHEHROT
S 3nfe wg@ ? | ARd &1 giligs—grasg fava ufug 2
39 taife 83 @ e & $3 R -
i. ®rell A &3 & SR a8 ST BT fadwr
ii. o, ge&, Gt a1 agErt @1 faera
iii. =l a1 @ Safaga a1 e
iv. &l Ud e Aff$ B SUcTerdr
grell 3itefire uder— I8 gaell 9d1 & Il IRl R SR A JraeaRar 49
gferor A fesar R 9@ 100 fHofo & & A fawqga 2, "sraear el o=

~39 ~



21 a8l Senm ¥ o, gt ae, goifraRe, o &1 ammE, warE, situfert
Sd¥®, Ugiferan uRssevrerner uftg 21 39 SevT @ faeN & i1 sroT @

i. woar Aa T 2

ii. qMIeR ¥ Srafagd 2

iii. w= sifi®

iv. BIA®Al WE 308 3NfS 2|
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Geography
A-GEOG (OPT)
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FAAT: 3 He 15 THec] [gorfas: 70
Time: 3 Hours 15 Minute] [Marks: 70

udemrelt & fou ferdern:

Instruction to the candidate:

10. Udgmmell Jardsd 3194 olsel & & IdT < |

Candidates are required to give their answers in their own words as far as practicable.

11. arfgelt 3R s R Y gr s yuries fifdsee @wa 2

Figure in the right hand margin indicate full marks.

12. Tagmell U 3T & AT AT JXAT, ATUs JASAT 3T Yo JIAT 1A

o=t |

Write Section number, Group number and Question number with every answer.

ferdor:

HTaT —I:
arar —Il:
Instruction:
Section — I:
Section — II:

ST UeHd U H I HIOT &, HToT —| Wd o1 —ll1 o1 —| H Zus
— 37 gar AT -l H JWus — F AT [US — A

HOT —| & JUS — F P U TIGTS UPBR & &l A JAUS B
goeT JAJT 1 A 28 B UAPB 1 3k I & JAfl ueadi & 34
el

AT -l & Fft Uesm SR-axgferss 21 oor -l & J|US - T B
Uee ofg 3ITNT UBR B &1 Aft 12 ueddl & 3Tz dAfSw | udws
U9l 2 3ick Bl &1 A1 -l & Tos - J B yed Jd ITA
Upz b 21 JA 3 uedl & 3IA2 SIfSiul U= U9 6 3ick bT
21

This paper consists of two Sections, Section — I & II. Section — I consists of
Group — A and Section — II consists of Group — B & Group — C.

Group A of Section —I are Objective Type questions. In this group question
No. 1 to 28 carry 1 mark each. Answer all questions.

All question — Section — II are Non=Objective Type. Group —B of Section —
B are Short Type Questions. Answer all the 12 questions. Each question
carries 2 marks. Group — C of Section — II are Long Type Questions.
Answer all 3 questions. Each question carries 6 marks.

HPT — 1
SECTION — 1



FHUE — 3T
Group — A
(a=gferse uee)
(Objective Questions)
IV. eroafeRaa ueat J==am 1 A 28 H IR fAbcul F Uh AT @1 3MUbBr AST

abeT getelr &: 28x1=28
From questions no. 1 to 28 there are four options of which one is correct. In each
question you have to choose the correct option: 28x 1=28

1. Xrsd1g ot Ho 3 fpe Rrermar 2

(®) ITRT Bl a8 4 (@) a=1g B g A(T) A~g D Drerdbar A
1) 7798 B Dladar |
The national highway No.3 joins

(a)Agra with Mumbai (b) Chennai with Mumbai

(c) Chennai with Kolkata (d) Mumbai with Kolkata
2.3 TR feafay yfig 2:

(@) sitenfire (@) =ifie

(M Rafre (@) T @ Big TN

Ajmer town is famous for

(a) Industrial (b) Religious
(c) Educational (d) None of these
3fear SAonfa &1 HeER:
(@) afrarg (=) wegger
(1) wAtes (&) STREvS

Bhutia tribe is related to:

(a) Tamilnadu (b) Madhya Pradesh
(c) Karnataka  (d) Uttarakhand

4. AfFad! A mETaRa &fY & gem &1 Ped o |
(®) AdT (=) forear
(M) @rerr - (F) A
The practice of shifting cultivation is called ............. in Mexico

(a) Roca (b)Milpa
(c) Ladang (d) Jhum

5. 2011 &I SO & IFAR S8R &1 felmgura ... 2l
() 893 (@) 925

() 916 (=) 947
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As per 2011 census Bihar’s sex Ratio is .........
(a) 893 (b) 925
(c)916 (d)947
6. 15 f5d SR @) Taary &1 diem 87?2

(®) ST (@) Sw1 — e

(1) frarsr (&) S&T — IH
Wheat is the plant of which type of climate?

(a) Tropical (b) Warm humid

(c) Temperate (d) Warm dry
7. v fea fau ufdg @&

(@) irer (@) srgs

() siawTge (er) diar
Kodarma is famous for---

(a) Iron (b) Mica

(c)Bauxite (d) Copper
8. URd & f=ferfRad dexmsl @ HI9 9T HIGTdR dc UR 3raferd 27

(@) a=1¢ (=) sfesan
() urRTETY (&) @i
Which one of the following ports of India is located on Malabar coast?
(a) Chennai (c) Paradeep
(b) Haldia (d) Kochi
9. I forar & farwr a9 & 8= wednd @
(®) 938w (@) TS

(1) sS4 (&) Rdw

The temperate grassland of Australia are called:

(a) Prairies (b) Pampas
(c) Downs (d) Steppes
10. yRRefdPA T3 & <1 ¥ucs sid 2 &I @
(®) uyg 9 UIcy (@) 98 9 ERUAIR
(1) #Hed 9 |4 (=) arofld 9 Sfig

Ecosystem has two components which are
(a) Animals (b)Trees and weeds
(¢) Frogs and men (d) Abiotic and biotic

11. fra farR oaRT Gusa 3 adyem Svddie fawfaa fear ?
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(®) i &1 9T "y (@) e &1 R HUKH™
@) d &1 BRAE Susr(E) e &1 fafewr gusn
Which one of the schools of thought first developed possibilism?
(a) German school of Geography
(b) Russian school of Geography
(c) French school of Geography

(d) British school of Geography

12. frfafea <o 4 4 fSad S &1 g9a@ 999 31fea @ ?
(®) SraRY (@) urfewr
(m) e (&) 9Rd

Which one of the following countries has the highest density of population ?

(a) Bangladesh (b) Pakistan
(c) Sri Lanka (d) India
13. f&a Qe § Imy—foiw fAifie &1 smuR favga ik RrER daiof gar 22
(@) fawRia <wr (@) faerazfia <o
@) 3req fasRia Qe (@) Swaq § 4 DIz TE

In which country the base of the age-sex pyramid is broad and apex is narrow in
(a) Developed countries (b) Developing countries

(¢) under developed countries(d) None of the above

14. 91 g WE ¥ SFEEAT BT MHR I AT A g7 gar 2 wal:

(®) ST1ex S 2 (@) weR o1 2

(M qgx 8=a & (|) yg<x Fr=r @
The size of population in lower age group is larger in countries where

(a) Birth rate is high (b) Birth rate is low

(c) Death rate is high (d) Death rate is low
15. fafmior s fre=falRea 4 4 fow yoR & fSaredn 4 d4ft@ @

(@) gt (@) (). g (o) aqef

Which one following types of activities are related to word Manufacturing?

(A.) Primary (B.) Secondary (C.) Tertiary (D.) Quaternary

16. W4ifSrd Ts® u9@ X A9 IS arg=t &1 G fFrafafaa § 4 fea
qErey ¥ @ —
(@) iRa®T (@).g3u (1).3biHT (°).3mg feram

Which one of the following continent has largest road density and number of vehicles?

A. North America B. Europe C. Africa D. Australia

~ 45 ~



17 ARTSTSEl g 71 § 9 fow <o 9 s@aRea @ —
(@).d9sdar (@).3F (1).SUE (") .HArST
Maracaibo port is situated in which of the following country:-
A. Veneguela B. Iran C. Japan D. Canada

18. areex sxefl ffhe 1 1912 ® e foraT & o TR &) A= 918 |
(®) DT (@) frsh
@) deqr @) 79 4§ ®Is T
Which city of Australia is planned by WALTER BERLY GRIFFIN in 1912.
(a) Canbera (b) Sydney
(c) Melbourne (d) None of these
19. I Rl fow =g 7 2
(@) oice (@) TR
() arfierTg (en) sngyqem

In Which state Rolegan siddhi is.
(a)Karnataka  (b)Maharashtra

(c) Tamil Nadu (d)Andhra Pradesh
20. Gqr =3 # afufaa @ —

(@) giad fearHan (@) agel feareamy

(1) daw fearsam &) Suida

Service sector is included in:-
(a)Tertiary Activities(b)Quaternary Activities

(c)Quinary Activities (d)All of them
21. 9Rd § dIgaT 9899 o1 T 8o gfaerd 91T fod yaR &1 2

(@) fach=a (@) TS

() farge (1) dre

About 80% of India’s coal reserves is of which type?
(a)Bituminious(b)Anthracite

(c) Lignite (d) Peat

22. Ul xgrEad S & oy for=faRad & @ &i9 91 bear a1 2
(®) et (@) ®raen

@) ugrar (&1) sSfewrse
Which one of the following is the raw material for Petro-Chemical industry?

a) Iron (c) Petrol

(b)Coal (d) Bauxite
23. gfvexr el 988 o9 a3 § "ad uvefia faera @ fag 9 @ 999
eyl HRS 2

(@) &Y fawra (@) uRae+ faorg
() uiRas fae™ ) 9fr guR

Which of the following is the important factor for sustainable development in Indira Gandhi
Canal Area?

(a)Agricultural Development (b)Transportation Development
(c) Ecosystem Development (d) Land improvement
24. w9 3eu RAE= @) f69 9™ @ S oar 8?
(9) TaReTZH (@) SR
WREKE @) s 9 S

In recent time Indian Airlines is known as of which name?
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(a)Airlines (b)Indian

(c)Airways (d)None of these

25. fagr ffafea & @ f&w w9 &1 g yaor @
(@) Has () Breramar

(1) gRIY (er) wrfaman
Bihar is the hinterland of which of the following ports?

(a)Mumbai (b)Kolkata

(c)Paradeep (d) Marmagao
26. 193 foren foa wroa A 2@

(®) wea g (@) SR U=

(M) sIREvs @) 1 | HIs T8
Jhabua district is in which state?

(a)Madhya Pradesh (b) Uttar Pradesh

(c)Jharkhand (d)None of these
27.9RATO] Hofl IRATT BY IATIAT B §3 7

(@) 1948 (@) 1954

() 1962 (e1) 1950
When was Atomic energy commission established?

(a)1948 (b)1954

(c)1962 (d)1950

28. T3 Ja: g St & Rl & gaq freafafaa & 4 sl @ 2
(®) saadsi® AR 49 (@) d9a 3R avoHaT
() 99 3MR A= (&) fexsH 3R oFoHaT
Which one of the following are the terminal ports of Rhine inland waterways:-
(a)Dusseldorf and Basel (b)Basel and Luxembeurg
(c) Basel and Rotterdam (d) Rotterdam and Luxembeurg

arror -1
SECTION — 11
ER—azgferss ues)
(Non-Objective Questions)
IUs - T
Group — B
(g 3T uee)
(Short Answer Questions)

god JAJAT 1 A 12 ddb g 39T &1 Al 12 Ueddl & 3I7R 31| UTbd U
& foru 2 3iw forafRa 2 12x2=24

Questions no. 1 to 12 are short answer type. Answer all the 12 questions. Each question
carries 2 marks 12x2=24

1. sE=r &) yrgfae gfeg & aRufa a3 |

Define Natural growth of Population.
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2. ST B OIS qfE a2 SEET B FUMHS gfg 9 3T 9T gHsd @ ?

What do you understand by Positive growth of Population and Negative growth of
Population.

3. <ilE I d UPRI Bl ford ?

Write the types of Iron ore.
4. giftas R enfead @fe 4 sar @ H

What is the difference between Metallic and Non metallic minerals.

5. <Y SRAAl ) gEare o fod |

Write the Problem of Slums.
6. dIHRI Y9 YUl S & Hecd Pl Soaddd DY

Mention the importance of Bokaro and Pune.

7. S o @dl & fay aneel uRRefadi «@r s wfzy ?

What Should be the ideal conditions for jute cultivation?
8. WA &Y & ygw wawet & fod |

Write the important problems of Indian agriculture.
9. WAR 93 @ Hed &I foad |

Write the importance of communication Network.
10. =R Eges & F&r arad @ ?

What is meant by balance of trade?
11. &R ST ¢d g ST H Hax W SIS |

Differentiate clearly between cottage industry and small industry.

12. 9Rd T GaQ d<] a7 a9 Bier ¥ad &= &r 4 fad |

Write the largest and smallest Railway zone of India.

s - A
Group - C
Eg ITIT Uee)

(Long Answer Questions
gosT HT 13 A 15 g IT0T 21 Jft 3 Ueal & 3a2 &1 uAb U P

fou 6 3icp foraiRa 21 3x6=18

Questions no. 13 to 15 are long answer type. Answer all the 3 questions. Each question
carries 6 marks 3x6=18

13. 9o Ife@ & FguR 1 STt &1 affever g |

Classify the land use on the basis of land Revenue Record.

grerar (Or)
aRd A Jdfagd f& a8 @1 ==l Bifg|
Discuss the importance of hydro-electricity in India.

14. ¥=a # sitenfie e & yqa gwwel &1 Scaw fefog
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3rerar (Or)
ARA § Vol URTET &1 W Yd 3981 Y ARSI &1 qui foforg |

Discuss the importance and its main problems of Railway transport in India.

15. &af<1 UguYT qI1 @ ? sHe EId yHE iR FrRFer @ Sur 6 ==l fefeg

HRA &I AT 991ex fefaRaa & yaiRta «¥ —

(@) eeTR (1) DPIuTHH
(@) Praeh (&) wfraTel
(8) Tarerch (@) Hqag
grerar (Or)
Draw the Indian map and show the following
(a) Dhanbad (d) Manipal
(b) Koyali (e) Guwabhati
(c) Kalpakkam (f) Mumbai
SARHATCT
1 A 8. D 15. B 22. C
2 B 9. C 16. A 23. C
3 D 10. D 17. A 24. B
4 B 11. C 18. A 25. B
5 C 12. A 19. B 26. A
6 C 13. B 20. D 27. A
7 B 14. D 21. A 28. C
g I Y B I
Answer Short Type Questions
1. fodl a7 fagiy § 31 g9 ARl A O SR Y& @ Hax 9 9o+ dlell STaT Bl

39 87 3 UIgfas gfg ded 2 |
S @1 UIGfae 3fg R 9d v &1 gF © —uRfad gfg = §d o — Gd

Ty |

2. SR @ oA d gfg a9 gl @ 99 < 9 Javdl @ g o ) I <X 9
Afrd B a1 o = A F AT Wil U F IH ¥ H YA &R Wy |
T A @ g SEEIT $H g O dl S9SN $ RTd gfg dEd B |
Yg d9 Bl © Ol O &) Y T¥ 9 HA B WY AAAT T 3T <Al d gard dR

SIq |

3. e 3% dR YHR Sl aidl & —

gherse
THeEe
Risvrse
fermi=se

N

4. gifeas 3R Aenfeas @fwr & f=fafRaa siar @ —

gfe <r

grfedd Efers

gfeasd Gfvor
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10.

11.

1. ST UR oTg YTW 8Idl | 1. T UR AT disH UR ©Tg YTwd 81 sidl
gl gl
23 HoR IR FAPA BA 2| 2. 399 Tud 8 Bl 2 |

339 fgcmar o wdar 2 | 3. 39 fgemn T 91 w@ar 2|

4. flext wR cear ) 2| 4. flest IR T2 &Y PR IR & oAl 2|
5. I8 Y&AA: TG FEFl 9 UTW | 5. Ig &d: AR dgHl | T fHar
foar srar 2 ST 2 |

gl —sniufSdl T2 GE qBHl & TET GHE Dl Al / Tl IRTAT Ped o |
sHd) yE ey e @ -

1. e

2. Sfivi—zfivf g

3. W@y 3 a9 gfaemd

4. el g4l BT A9

5. UgSld |, ¥ 9 U1 AfT &1 419
a9 HH8 Al |
PRI IRES BT YW sl —sWId e T € 389 Wiad il & w4
YHRT STdl 2 | IO 78RS &1 yqe e e vd sitenfie TR 2

S @ ©dl & fag snqel uRRefadl e @ —
argH g —24 ¢ -35¢

asi — 120 do Hlo — 150 HoHo
il — S@le

it —aHde

A% — ¥ yai« vd g

M

ARd & &Y gaE Q9 2 I8f 3 &Y 3 yy@ wwwn] i 2 -
IR A R AR

=1 Scure@an

BIc @wa aor faEfsa wia

1 garRt @ HH

IRTSAHROT BT JHTd

Y I qf &1 ez

SNk LD =

AR I3 BT 98 frifea @ —

AT qT g R @ arer & e & +f wee 2

J g faelia 81 @ faerd ¥ gg@e 8id 2 |

Y IR TAT 9105 § e Bl © |

J Q9 & e famra ¥ wers B4 © |

J gure & A= auf & frerer s tedr ¥ 9e™s 8 2 |

M

I IR FrRafd & sar &1 AR Adad d8l Ol © o9 AT i $I gor-r o
frata Joa aftre slar @ @ SO gad AUR $ad 8 dfed 39 fauda w9 3maa
Hed @1 gl ¥ frafa e &9 glar @ S ufidd AR ded 2 |

FER ST aoI o] Sl # e ofar @ —

| HER ST | ore] e
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12.

13.

1. 39 g SO ft dEd 2| AT 1. A IR AT B g A
fafEior Seir @1 @ew B IJPR ¥ 9 BId °
IPHIS © 2. s99 Sdreqd #wIAT gIRT

2. 3O HM49 ® BT &1 AT 8idr glar @

2 3. ¥ ST Hedl Al dIeY

3. ¥ B 4Tl a9 ATHIRYT J f Hd 2
SYBION T YA fhar wirar 2 4. 39 fafifa w1 &1 99IR

4. 399 QIR 919 & fag qoR faxga srar @ sfa d9s
I Bham @ TR ORI § |l Sdr

=

ARA BT 994 g1 ¥eld &3 IR Neld 2 a1 391 & fQeell 4 2| 999 slel
¥ed &3 IRYdl WHIT Yed © TAT BT RATAd A1did ([arsrel) 2

g I 9T b IR
(Long Type Questions Answer)

IR — RIoRG AP  ITAR A STINT &1 ffHror 59 yaR 2 |

(®) a7 &7 (forest) -— aiffmd a9 &7 R IRdfad T9-a7 ¥ AR a1 @
aiffed o &= a8 &% & ol a7 Aok & aod 2 saeT WaieT aXa
ARy grer YT @

(@) IR — @l § ygaa g (Land put to non —agricultural use)

— T 3R wEd aRaAl WS AR Sl sawRa | eI Bl B
STANT B FAarelt A 59 a9 7 Imeft @ w@wraa: ?m?ﬂfﬁﬂﬁr$&%mﬁ
3fg 8l W@ @

(M) SR 3k =ed g (Barren and wasteland )

— 4R UBIE) q— A9 , 96 d g gdife v f &t yafaa wenfia &)
geral 9 ff oY a1 78 99 g @ IO a1 @k qfy pEarh 2

(&) vt axEE &3 (Permanent pastur)

TR & A @ oy araygdd qfy aRrmE FEard 2 | 399 €8 i
AfFTd W@ 31 8l Gabdl & U= ARSI U1 Uarad & i o) gidl
2 fort wrar wufa wares a1 omar @ w8 —@d W) qfy "se AT v B
fear +f Rradl @ afeara @i a1 SPiE BisaR A9 & eI o
$ET Srar 3

(®) fafds 9% — wual vd SUa+l @ 3idifad & (Area under miscellaneous
treecrops and grover)

— 39 @ # 9T~ A1 Bl & U Ud 9re 3 g el @ gt Ag
foehl w@rfa &) onfia @i 2

@) &t = g7 (cultivable wasteland )

— 39 A ¢l A ol @ S ot 5 9wl | An &t wwa 9 uRell uS)
2 sreafa s ®Is Hfer T gam @

(®) adur u=edl {7 (current fallow )

— TP 99 AT H¥ G99 d@ Y Med T B adue u=edl SefiE weT Siran
2

(&) grra+ ot A (fallowland beyond current fallow )

— TP 99 ¥ Afe wig ufa 9 @ 9 999 d& ucdl @ arelt fy 3w ot
# &) o 2

(1) fraa a=f qff (Net area sown)

— 59 1 ® waa SmE 3R &1 St B S fae aRfY g3 o wead
2

3AdT

IR — ARG efaawen o A= a=a1 4 o« faga wufed &1 ag@ wafuR 2 I
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S @ 83 A4 — 9Rad o9 9 A el auf & A= R auf & sRo
dl & A 9 W) BT A= @ Riarg smawas sda— faga
IU B A Sl BT AT I BT 2 IR WS q18 99 A A
AT ST @

I A — bl — dREF & G& f§6rell tav 701 Wyfaa e
foar o wdar @ S &1 [ASaHor fHar o1 9&dr @ iR 3 @
gt faeml § w99 wU @ BIT —BIT ST wfid fey o a@d 2
YA H — ARd & §B 4RI A SIdfdgd 9 ISl adrg o I8
2 Ol 4q3 IR Bida@ar a3l § R QU B IANsAT D forg
Sefagd U 8l WY Al Xl @1 A gl wd du s AR qww
®1 389 WY A

S — oSfilad § — foxfy ff Qo @ anies faera &1 #uds a8 @t
SAT BT Sildd &R T HRdl @ 9Rd e gfe 4 fasm=gg @
gt fawrell f& gfaem ya@ o) ard™Al &1 9= e Sfiaq
@I ST Sl Gl © 9Rd & ¢ oid faga &1 g safag A
I 2

(®) uET BFa & @@ Afg 2

(@) g8 a9 SIad &1 HsR Wifa @

(1) "=t ugifer s &1 SR A @

(&1) 98 9 &7 IMUR ¥R 2 AR g9 vl & saaT wfaa Sy =il
P U B

14. IR — ARd A Mefe e & v yya a2

1.

2.

3.

10.
11.

12.

13.

14.

15.

16.

faeg aoiR # ufowgl — 9Ra &) siaRi<y soR 9 yfoet & 99
e @ foIg uET &1 dEaR BT SN @

AT 9 P WA -— ARd H dad [oRId 93 dP acid &3 i
BIsHY Y ulR=H gre iR ydf ge w” H1g Y yam= e w1 2
Itaifre 7 &1 Y FPIHRT T J9E:— IAR 9RA & siftrawis

& STl ¥ BETS B S Prel a8 aed) @ gud
@d giHarell facel a1 &1 g o9 fear o w&ar @
TRass @l fAefia 7 819 & dReT SN &1 faeg &9 2

3B a3l faeivex qafor vra e wu 4@ fies @ Yawml
@ gyfaa faera 3k @y ST &) ©IuEr 9 s UNg f6 = arn
A AT IS B
Sof @ areAl 7 faga @ ¢ar areq 2 59 s/ @ ggr Ae #
YA o AHhdl 8
I § gsdld iR 981 & $RU IWUGA R FIAE Usdl & 30
gdlcdTfed $=AT A1fey
ARA & AFfAE Wl 3FME ST Bl @) B 2
Y I & 0T IATG BT Gfad STANT g1 a1fay o waR @Y
qadl AT
yTafae ducran &1 SuahT Sen & faera & fog 98 & ur <= @
HER 3R g I &1 yifed amgfie 1 @ & 8 ur <=1 @
TefR@ fawwarsil ar] uguvT STd—UgyUT e UguuT a1 98 TRl A
S & AR SHEIC BT B HIA DI AMGTAGAT @
yrfior &= 4 sitefie faera @ fag arfior s9ar @1 saufea ser
shfY
ATARTd & AEEl ST 99 ord 8 g
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17. 3enfire o<l &1 G Aol 29 &) owxd 2
18. 3feifre &= 9 woifae gy 8qr

34T

Sd¥— 9Rd ¥ Yol IRa8T &1 98 for1 2

abhwN=

. ddl g8 BT ARMER™S R gEdr uRkasd

AN AT &1 yRagd g49d

tenfire faera o MaRARIET i SRRE ST sAfe ® gRdasdT gRT
93] G § YONTR & IJaUR SUAET HIIAT

RISE Uabdl § AN QR <% $l Upyga d fRIA

wRd A ¥ uRaed & g agang @

1.

2.

3.

4.
5.

9g8d ¥ A=l 91 fRwe @ gad 2 3R Sioik Eigax mMfsAT 1 AaHd
2 e waR &k Ity @1 afv wgad @

AIRAT 9¢ W& 2 AR 7 R I & gufy o a2 afes iy «r 6
qed @

QI P ISP AN A G XAMIfIAT BT AHT 2 Bod: His gedl 2 AR
i3l d b BT @

Bg AN H SIET Ydrl 8] 819 @ dRor misal fade @ adr &l 2
AR # Q9 H 3700 UH WHAUR 2 W8l Wicd b awerm 8l & s+
ORI W Aragr @) asfar A ga @ geear g &1 w9 gar @

15. I — @ &1 ddg IRTH 3R T 9 9gd A 2 ARe Reafa &iiv qaqamy w®
& BT YHTd qaifre gsdr @ «af1 & s d&v Afdnrd @ u’g digdr Ura: ||
w0 9§ yafad el @ 39 A @) g8 sfiea @

=T gyl & Era e @

19. S § "efAT &1 FdHT
20. dis—Bis &1 oA

21. g Ifd | I areT a1
22. qRIA

23. A IHR

24. ATARA

25. Hls—HTs & I

26. 9S4 H BIs WM dTd Yere
27. Y g1

=f yguer & U9 = @ —
1.5 o 9809+
2. B & Ua BT Bedl
3. 99RT® 3renfa
4.31fgT
5. faa @ frafRat
6 HAIRIT

«fy gguvr & s & sug e @ -

1. arEl 9 9gdE’ gad Ud uRshd §99 9 &9 saf S st @

2. wfeAl ¥ S=a dgar & sdagife e« wR yfadg o =anfay

3. TN , qoIRl A1 S A &afy gguer waifde @ o AafiTd WX W
graur vE arfzy

4. 9gd ol smars a1 9gd dig smare 4 A Sfafaee sarfe @8 Q@
g Ay |
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Model Set No. -5

Geography
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A-GEOG (OPT)

AFA: 3 He 15 THecC| [gurfes: 70
Time: 3 Hours 15 Minute] [Marks: 70

gdtemell & Tou ferder:

Instruction to the candidate:

13. udgmet JermdAda 3raa ol & & ITT <

Candidates are required to give their answers in their own words as far as practicable.

14. crfgelt 3R s R Y gr 3ic yuies ffde @wa 2

Figure in the right hand margin indicate full marks.

15. el Uk 3T B HATA HTOT JAXAT, JUs AXAT 3T US JAXAT 31a9

for=st |

Write Section number, Group number and Question number with every answer.

ferder:

Hror — |:
ot — |l:
Instruction:
Section — I:
Section — II:

SH U UN H < Her &, o1 — | ud Her — Il aqor — | HA
T(US — 37 dAT HET — || F JUs — & dar JAvs — J |
HOT — | & J|US — d P UL dIgeltS UBR &b &1 TA I8 B

UoT JSAT 1 A 28 P UAh 1 3ich bl &1 A Uedal & 3Ia=
AT |

AT — Il & HFeft vea SR-—axgferss &1 o191 - | & Jyvs - T B
U oY ITANT UhR B &1 Jfl 12 UesAl & Iwr AU uDw
U 2 3k BT B HET - || B F;vs - F B Ued 4" I
B B &l At 3 ueel & IaR AT UD® v 6 3ik @I
EY

This paper consists of two Sections, Section — I & II. Section — I consists of
Group — A and Section — II consists of Group — B & Group — C.

Group A of Section —I are Objective Type questions. In this group question
No. 1 to 28 carry 1 mark each. Answer all questions.

All question — Section — II are Non=Objective Type. Group —B of Section —
B are Short Type Questions. Answer all the 12 questions. Each question
carries 2 marks. Group — C of Section — II are Long Type Questions.
Answer all 3 questions. Each question carries 6 marks.
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SECTION — 1

FHUs — 37
Group — A
(a=gferse uee)
(Objective Questions)
V. feraafaRaa uea J==m 1 A 28 H IR fbcul A Us A B IUBT FE
bea getelr &: 28x1=28
From questions no. 1 to 28 there are four options of which one is correct. In each
question you have to choose that correct option: 28x1=28

1. a9d {4 yoR & Jdar] &1 ular 27?2

(®) ST (@) S 3T
() =fraisor (@) SwI- TH
Paddy is grown in which type of climate?
(a) Tropical (b) Warm- humid
(c) Temperate (d) Warm- dry

2. @9 e fard 27
(P) HEA AFR— BTl AR
(@) q7eg 9rR — 3Rd AR
() u=w AR — dld 9R
(&) Tl 9N — ol 9NR
Suez Canal connects
(a) Mediterranean Sea — Black Sea
(b) Mediterranean Sea — Arabian Sea
(c) Mediterranean Sea — Red Sea
(d) Black Sea— Red Sea
3. ®d U4 geoll Ua¥ &l fAER wRa & g yeur 4 @ 2
(®) fewrerg wawr (@) <adT u_w
(M v gqw  (9) 399 9 dis T

Market gardening in India is found in which of the following regions?

(a) Himalayan Region (b) Deccan Region
(c) Desert Region (d) None of these

4, uRasT & wreAl ¥ 999 axar yRasT g @ ?
(®) Ss® uRas- (@) e aRae
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() Y uRaed (a1) aryg uRae

The cheapest means of transport is

(a) Road transport (b) Water transport
(¢) Rail transport (d) Air transport
5. 20113 IFAR HART H SAIASAT Heled &
(@) 382 (@) 325
() 372 (&) 335

According to 2011 the density of population in India is-

(a) 382 persons (b) 325 persons
(c) 372 persons (d) 335 persons
6. STl ¥ Hgal & 90T Hedld o
() Pear 9T (@) woiver
(1) daa (&) gvuTg

In Brazil, coffee gardens are called

(a) Coffee garden (b) Fazenda
(c) Selvas (d) Pampas
7. 2011 favr urgUesT € ... $1 yRasA gidm =:
(®) dgra (@) wa
(m Au () 5o
Big Inch pipeline Transport ............ :
(a) Petroleum (b) Water
(c) Gas (d) Milk
8. waeE fiRifis A s=ar 2:
(@) = % (@) 7 =

(1) ey fom e (8) Swidd @+

Population pyramid represents-
(a) Birth rate (b) Death rate
(c) Age- sex structure (d) all of these
9. ws< g, i1 % &9 yoR &1 TR 2?
(®) wies TR (@) ufreEr TR
() 9 TR (&) e TR
Mount Abu falls under which category of town?
(a) Tourist Town (b) Defence Town

(c) Port Town (d) Educational Town
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10. DY 9T 9Rd &I Ga9 d<] 8FIR 27

(®) e (@) qaz
() feeeht (&) a=TE
Which is the largest megacity of India?
(a) Kolkata (b) Mumbai
(c) Delhi (d) Chennai
11. Ra & wele &= ¥ fda yor o IRaat &)1 wear 8?2
(®) FIHR TR (@) Hrgar axi
@) fea s (&) garof gxf

Which type of human settlements is predominently found in alluvial regions of
India?
(a) Circular settlement (b) Terraced Settlement

(c) Clustered settlement (d) Dispersed settlement
12. fow af @ gu=. . 9. 999 e gaaie aeilia & <& 87

(®) 1985 (@) 1999
(3r) 1990 (=) 1995
Since which year UNDP is publishing the Human Development Index?
(a) 1985 (c) 1990
(b) 1999 (d) 1995
13. #gfRar qom SIRar 4 wrald &Y & gor & . Ped B |
(®) @1 (@) forear
@m) 3= (1) @r=IT
The practice of shifting cultivation is known as ------------ in Manchuria and Korea.
(a) Roca (b) Milpa
(c) Chena (d) Ladang
14. fr=fafaa & @ 19 @1 9Ra & Ylasia g TR &1 Sereer 272
(@) Hqxa (@) daxmET
(1) wge (@) 3538

Which one of the following is the example of well developed ancient town of
India?

(a) Surat (b) Hyderabad
(c) Madurai (d) Puducherry
15. Sevr ot et e s=a wrar wr fedr ) 81a 2, weama 27
(®) @B ST (@) R =9 ST

(M) & srelRa ST (9) B 49N & ST
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Industries which are not dependent on any specific raw material are -
(a) Footloose industries (b) Weight loose industries

(c) Agro- based industries  (d) Small scale industries

16. S=a W o9 AR g O Gafera fpar sam fea aif | 27

(@) wrafis (@) fa<dae
() =gef (&) waH
High level knowledge and research related activities are of which sector?
(a) Primary (b) Secondary
(c) quarternary (d) Quinary
17. f@a 8 @I 4T HBTHFR &I §R $ed o7
(®) =TT (@) W
() @ (@) 379 @ @I e
Which canal is known as ‘Gateway of Pacific’?
(a) Panama (b) Suez
(c) Kiel (d) None of these
18. ar5dt Q% @ PIT WA HIART Sar @S9 $Ed 287
(@) @mUR (@) frafa
() smard (&) Qg AR

The practice of buying goods from other countries is known as:-
(a) Trade (b) Export
(¢) Import (d) Foreign trade
19. fawraeiia <en 4 A9 IRTGAT B GIRIY 27
(®) SEEAT BT dald)oT (@) Afes aRaar
@@ = @7 o o N (7)) T F 9
Problems of Human settlement in developing countries are:-
(a) Agglomeration of population (b) Slums
(c) Lack of drinking water (d) All of these
20. & gwY] WaF fha wow # sraRera 27
(®) TSR (@) ®Aicsd
(M) SR Y™ (&) sngyqer
In which state, Kaiga Atomic Power Plant situated?
(a) Rajsthan (b) Karnataka
(c) Uttar Pradesh (d) Andhra Pradesh

21. for=fafaa & @ &9 9RdT &1 IRURETT ST 27
(®) gt & =T (@) <ite 9 ST
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(1) Ul WA S (F) 3 9 PIg 9
Which of the following is traditional industry of India?

(a) Cotton textile industry (b) Iron & are industry
(c) Petro — chemical industry (d) None of these
22. &4 A9 TR 27
() BTIYR (=) "drTe
@m) gt (&) 9ver A
Which of the following is a capital city?
(a) Kanpur (b) Chandigarh
(c) Durg (d) Bodh Gaya
23. @1 sts fow =g 9 amifoa @1 ot 27
(®) affrerrg (@) dafcs
() B (1) ey w<er

In which state Boat Racing is organized ?

(a) Tamil Nadu (b) Karnataka
(c) Kerala (d) Andhra Pradesh
24, fre— s arfaw @ —
(®) ST HReEror | Hefera (@) a1 dRevr 9 Aefera
(1) &1 WREwr A e (&) 379 9@ BIg €

Neru- Miru program is ?
(a) related to water conservation (b) related to forest conservation

(b) (c) related to soil conservation  (d) none of these
25. fr=ifafaa & @ @19 A gaa 272

(@) qa3 C)EILIRIE
(m a=ig () Bifea
Which one of the following is a artificial port?
(a) Mumbai (b) Marmagao
(c) Chennai (d) Kochi
26. 91y YN & W@ Sd 27?
(®) Sitared o &1 <8+ (@) @+
(m) e (&) s
Major source of air pollution is ?
(a) Burning of fossil fuel (b) Mining
(c) Industry (d) All of these
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27. 3™ 4 ®9 OPEC &1 9ew 27

(@) ferefy (@) gFsR
IELSIG (&) wRa
Which of the following is a member of OPEC?
(a) Chile (b) Ecuador
(c) Brazil (d) India
28. ivel fou wsa 9 2?

(@) facelt (@) SR u<w
() sRarom CIREIC]

Noida is in which state?
(a) Delhi (b) Uttar Pardesh
(c) Haryana (d) Punjab

Hror — 11
SECTION —II
ER—azgferss ues)
(Non-Objective Questions)
S - F
Group - B
(g 3T Uee)
(Short Answer Questions)

U FHT 1 A 12 db g IT4T &1 AT 12 TSl & IR & | UdB UL
& fou 2 3 foraiRa 2 12x2=24

Questions no. 1 to 12 are short answer type. Answer all the 12 questions. Each question
carries 2 marks 12x2=24

1. iR\ (B1aD) TR F1 82 9@ < &l & fafeag |
What is garrison town? Write their two functions.
2. IF-a]iIENI Uq IaRioofld Uard # 3fdR Wse B |

Differentiate between international and interstate migrations.

3. w9 fasra & uRerfya & |
Define Human development .

4. 9R 91 Yaanf @r gidar 27
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What is transcontinental Railway?
5. W< (Eeqel) ST HT 8?
What is foot loose industry ?
6. A ST e A ST @8R
Why is sugar industry a seasonal industry ?
7. o Heoll $ff TR a3 & @i & @& P ot @ ?
Market gardening is practised near urban areas only. Why ?
8. WRA H ¥l 9 P IR YqE GuRl  al ford |
Write the four main problems of cotton textile industry in India.
9 dipdise & IR SUANT &l fae |
Write four uses of Bauxite.
10 9RA A WAV Sl & IR bl & 99 fa@ |

Write the name of four centres of Atomic power centre in India.

11 9Rd & gdf a¢ ) Red ar yqg@ dawme ot fad |

Write four important of India which is situated in eastern coast.

12 MRd @& &I YqQ I STedmnt &1 99 fod |

Write the name of two important National waterways in India.

s - A
Group - C
Eg 3ITIT ULE)

(Long Answer Questions
gosT HFT 13 A 15 g IT0T 21 Jf 3 yeal & 3a2 &1 uAb U P

fou 6 3icp foraiRa 21 3x6=18

Questions no. 13 to 15 are long answer type. Answer all the 3 questions. Each question
carries 6 marks 3x6=18

13 fIeg & fAf=T 9/ 4 emy—foim H orgel & oIy ITRERN SR&T Tl FaATIdh AT Bl
[EECEINCIE I
Discuss the major factor responsible for imbalance in age—sex structure of population
and occupational structure in different parts of the world.
3T
APTR < H Ioa UIGAIP! SN Ugd HERI & IR & H & Al el g1 e 2
Tt BT |

High technology industries are developed the circumference of major metropolitan cities
in the world. Discuss it.
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14 ROU Y @B g fARivard qqisy ud - Qe A S oM arell |69 9ge
YT Bl & A9 qarsy |

Describe the main characteristics of plontation farming and name of some important
plantation crops

Jrerar
Sl WAV Y fHAr O Gadr @ 91 9d WX faeta &1 g9 9

Discuss the measures of water conservation and give suggestion for water shed
development.

15 AR & INfefe fasra 9 &=y fawwar & SROT 91 JHAFAT R IR D SUN
qag |

Discuss the causes of regional disparity in the economic development of India and

describe the measures to remove regional disparity
Jreqar

ARA &1 AFFaA g91ax fr=fafaa &7 gaflRfa & -
&, YU @, 9ddrer T, eI @, ddifsdar $, Rat Tt g uREdg |

Sketch the map of India and show the following

1. Pune 3. Gurgaon
2. Rawatbhata 4. Bailadila
5. Shillong 6. Paradeep

SIRATAT (Answers)

1 B 8. D 15. A 22. C
2 C 9. A 16. D 23. C
3 A 10. B 17. A 24. C
4 B 11. C 18. C 25. C
5 A 12. C 19. D 26. D
6 B 13. B 20. B 217. B
7 A 14. C 21. A 28. B

(S<I=ETeT) Answer

Short Answer Type Questions
1. ARET TR & 8EN TR W dr wrar 21 39 dfve sEfwEl § dfe gefsar wd@
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7.

2 TAT S YEN P HWSR BId © | A4l |, WIAER 08, 99141, SEAYR sAMfe AR H
SHd SqEV © | s9e &l ®rd e 28—

(1) 9% ST BT @A)

(pdfal @ Sugad aaERy # 9 e @ fay gEa —gEE 99 @A

UH QU 4 GE QU D A Wl Y9/ Bl ©. 99 NI Ydrd  $ad o | 9ddrd
g # wradregel & fagel g s g5 # s @)

o9 Bz Afdd a1 AfFTAT ST 98 (S oI 9 FEI TSI P YA HRAT © A9
I8 JaRioolld Jard  Pedldl & | YoM 4 AR & AR © iy 78RS,
affiestg 9 "o ST T U € Y9 @ |

A fae Wy Yqifde waferer 9@ doax anftfe, wmifve &k werHifas  w@dFan
d» 99l YeR & #AF4d fadoul &1 wiwfaa @«=d gy ain @& faeedl d fawar
AR S Rrem  w@rey daE dAT GESROT & I@Ex] d gfg a1 ufbar @
IR YAt R WEEY ¥ [oRd 8¢ 39S qFl BRI &1 Wisd @ | a0
i anfdfe sk s ifte srol | fafv= fRemel  § ol am=Rn & giyem gs=
B fag fhar orar 21 UR—4AsdRyd YeEnt, uR—aAfSaa Yaunt, e forars
URHSTEIUY YRl $HS  SS8RVT o |

TR YAt R WEEY ¥ [oRd 8¢ 39S qFl BRI @1 Wisd @ | a0
frfor anfefe sk worifas srel 9 faft=1 feemel A odl IR @1 gfdamr ge™
B fag fhar ordr 21 UR—AsdRyd YeEnt, uR—eAfSaa Yaunt, e forars
URHETSIUY YR §9@ S8R 2 |

WS ST S Ted QAT bl HeEl WAl © , Wl I@RAfT BT gAE@ HRA
IYAHd Wad Bd @ IR UNREA dR$I R ArenlRa € gd & A e fafqear
TOREIT RO W e TE B €1 3 R falre o= wra w fav @Y wead
3, dfcs Fachr guf vk wed 2. o <& ¥ N ua ey o1 wad 2| F=
ATd W IMERT T 8 & SR FAdgI-1d ST d Wo< el T $Hed 2 |

6 It SenvT HfY wr maRa SuRT WeW g1 SUT R | SUST U@ Hedl AT
=T R ARd fawd A = AR AN T BT e 99T SAUIRd Q¥ ¥ | AT
U$6 AR g 9l B9 2| 98 U Al waa 2, R fAEd safr & @rer
ST 21 d@ T @ 9w @) @afy fRma @@ @) ew W @ wkeh
BN & BRUr, AN el T e st sem @

ol gl ®f¥ § e a1 o el wfeoal @ sifaRad wa ik ga @t
gt st 21 9 Wed #M U9 Af¥e qoft et @, dom s wRie s 9
a9 @ fau Mg qoR A ogErnr war @1 el W TR $el 7 e @,
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10.

11.

12.

13.

wEl $dl F¥ arel SuHlgar wEd 2| TRI # Wy ugEm @ fay saer ot

TE &3 @ ey 3 arht 2

ARd # gl = S @ AR yg™ 9Hwg e 2
(i)So9 foer @& U & &
(ii) st faega smgfd

(iii) =1 SUTE®ar
(iv) 7 SUIEHdr a9drell UFRETG #iEl @ gensar

(vyeaBmma fafffa st & g« wuf |

diqalge & AR Syanr e g
(i) agam= |, St Aewaq fafor &
(i) fagga Susxor fomafor
(i) BXe WS GOl & 99 994 H
(iv) & dq g9 #
10 9Rd A YATY] ol & IR b= < 2—
(i) TRTYR — HERTSS
(i) &M —wdlcs
(iii) NTadHTST XTSRRI

(iv) -RIRT —SaR 99l

TRd @ UYdf ac ) Red arR yq@ dewme = 2
(i) drawTar — ulR=gw  §Ta
(i) ugly —s<rar

(iii) faemETITT—IMrgYRY

(iv) a=8 —afireaeTrg

ARd & S ygd IS St e 8-
(iR St S&1 01— Al ST —
goreEre 9 gfegar & —(1,620km)

(i) TS TNt W& 02—9gFYA A4l ST —
afear 4 gadt ad—(891 km)

g AT 9 b TR
(Long Answer Type Question Answer)

Ig—feiT @ e Y UPR @& INW gR1 AT omar 2
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frifre @ed @ TEd ammfy RRife @ e 8, gafig 59 smaf
fafrs we1 wmar 21 Arifis @ sefa usRfa smeenm & sfasa e
SEd! faRivaren 1 cuidl 2 39 yerR s @Y 9 sterr—srerT  smafaAt &1
ey e 1 9 e Refoat @ @il 2

1 fawaRa st Sadenr — fawRa sl Sa9e Pyeer srgfd o g
—fdm frifie g1 qwid ol @1 sU@T smaTR Fwl @ieT @ Y s dewr
gar 2| disT AR ¥E QA @ & Smwen &1 afew T e smgaEf &1 2@ Wt
Sed g ® P N Yad 2| Ig IS & Ao ol d9 fefia seEwn
@1 fafire fmifis 2

2 Rer w=H™—

o Ul ® IR &I 98 fiifis ot i @ ik YR gar wmar 2

o ReRr waw® &I <urfal @ wIfd I8 39 919 I Yfad &xar 2 f& FTgR qn
YR THIT WA BT @ |

o Jrfor @ SwEw sl WEAT W B

3. TEAE SIS — $UPI G¥Eql @) e faeivar @
1. IAER —ddrel  qr H—gYsaHR
2. WIeR TT g} i1 e glar @
3. faefia Qul & W=

4. IIqEIS  SNET— fdva @ ST 4 GEAT HRdl @ O ouE 39l 9aEr #
2

1. Urefe —srcufadfia  siefagavenmr arem <91
2. 3OY SAE@T &I IJUTd e grar

3. fgdfe don gde—<RI-—S  S9E@T 3Ud GEEFEl &1 d'a)k 9AiT
P Al 2 aefogaven fefa B @ ik fgdme o gie
Faural A ol SmEen &1 Igud Ht gedr war 2

34T

et fpaet § S=a digaifer a8 fidY @ 39 @ R fisa @B
TEdl A ga wd ¥ Sl B @ 3 SEm @ fau Sweife @t
Tigaifial @ smawear skt @) e ko g wd fdsmr  (Research
& Development) fr Srar 8, g9@folg 39 SO # offd SdTed =10 UBR &7
gar g, saf s Sen § 0 of @ud sfer 9 sm fomr wmar @
Aqol  sifie Wl &1 SIUETR 9NT AGHe  (Fha dielk)  Sfdl &1 BT © | A
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14.

e arRafdd  SAEd (el DieR) S ¥ FEr § e B Tl ST WEnfian
SENT § AFEa e} MG f$oisd (computer-Design&CAD) e fFioT emg
fraa@ ©d e @ sodeie fFFer @ A Imafae iR qitwefia Sarg
9@ W IEd 2

39 g 4 fyeond waEl, sR@El Ud "SR &3, & I
R IEgPH, WH—YR, IATGEI @ gANREN  q@d 1 fadt @) sw
g o W e 9 iy faem @ AeEg 99 @ 2, se g
AT 9T $1 fmfor fear o &1 2|

Swd Nigafra) Selvr & AfSiy S Ae iR, #§ d9
o 2 3R WigAfial ud gud #fe W Wt /@ @ fiaa @) e
favd @ afeier qul 4 S=@ YigAIfe) SEim yq" He IRl @ R
aat ¥ & fosfya star 2

Juur &Y & g a3 REn, st den <o ud W sWRer @
SW Ud U] Hfedellg gow €1 I b ANiRe Ny 2, e
It eIk ¥ d99 @ fau 9@, $uAl,  PIPl, WS, UM, T Dl
AR I ol BEAl SR Sl 2 ) s9e @ dEvr fefafaa 2

1. 39 N @ R vd s@Rar «@im 9 ud e Iwr sfeddy
Sufaet §  venfa fear o |

2. 399 9ETFlI @1 AR qgd 9o BIdl = | B S dl 8ORT 2dCq
a3 4 b gY Bd © |

3. 3ud e goft fder, Sw@ ydy don dafal ImuR ud  denfe faftray
&1 g fear wmar @ |

4. UET I FT W A d gyt fear omar ) wefe awfa
Al Ud gud o9 Marwr fesdi a=af @ gt sar 2

5. 9RTHl @ SREMI  dAT 969R & 91 Slisd @ fay §d td 9w uRasd
&1 WA far wmar 2|

9 B & faera @ fau g vd RS @Ml & AR &1 SAgHM
frrifafiaa aeal @ o o wear 2|

A. wafafa 9 aR= sler § SIwl U9 didism I Gl
s oft |

B. faesaiiRmal 3 wRa ud sfiddr & 9w @ 94, 4R 3 &)
® U9 Ud uf¥edl §lU §Yg A T U@ dd b qEIEm
famfia  feu

C. ®W+q a7 3WMR&T & faRma 3 fBdfi=g 3 aiRaa a1
b R <Y |
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D. =@ @M A ssHR/AT 4 1= &1 &Y gw 3|

E. ooiiad # 3+l #l B S®l & IEm=l (Boivsl) WR JRIyarrdr
&1 AfPR T |

34T

TP RUId & AR 2020 Tb HIBR ol Gdbc Uql BT 1992 A UAP a9 22 A &I
fawg o 99" ¥R 9 BT 999 S AdERAvl g 2 | 9l & Ruid @ IR AR
BT ol WX 0.3 WY /a8 @) <X F A o7 @7 2| 3 STl AT ATa¥AD 99 o1l @ |

o e\ & e ad@le 2
1. smgfie Riarg ugfa &1 97T
2. auf S $ YT HAT TAT ST IAUATE DI AT
3. g&RIYoT|
4. Sfg wd Srarerl &1 fEforg
5. BIc—qs I 41 SAEAEAl ST dATH JqaT |
6. STl YfE®dIor I3 (water treatment plant) @) MU= |

7. o GOl & Ui SITeedl Sii—

1. 22 Ard “faza oo feaq” & Jaux W vAd B° BT, aAUT STRevr iR
Mfcar AR e &1 IS BT

2. 7 SIS 2016 9 “TAIMA WA yiside” & 281 Hivide Yo fHar 11 2 39
I Bl AR d& AT |

8. "< oiis! aripa” & faaR td faeg— 9% fagrR &1 ggar 78 s uvide
"HIA—AE T 2 (9 TR 2016 Bl WRA W YAH A (STWQE), dddT (FeAu<)
(arTET 2005) 2 |

9. UGAT I &I W ISP SUBT YAADHUT HIAT |

SR (water shed) 98 &3 2 o <) 14 @) o '@
I8 Riadt 21 99 v Sid G9R &1 A o9 & fov sme g fev
Od 2 9 39 9w faerg ded 2 |

ATl dIexes SdUic HIRIHH 1994 A ATAT oIl BT 2 |

gTa— gue foay f=fafaa seq Seg o 9&ad 2 |

i. Sl B 99idl TAT Sl GGUT Bl Abd & folg o U1y A1l
@) deeblel AREIT DR |
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15.

ii.

1il.

1v.

V1.

Vil.

UmEr, dredl @ gdrs, Earedl iR arEfyEr § suaia
S & ST &I AT |

S SPRYT 47T HRAT MR O D GREAT IR F[IA g§EA 9
wafera gt fear—awaral § | &1 wIfia &)

il o fasra 3 gHsAl S e, TaGul snfe 1 usfiga
BT

qfra o e @ geal @ e e s ge @
AT ST 6D |

ayf ¥ ®d @ Ul & SfHAl sremar 1 @ A sHeST HRATY

¢ & G oid & af Y1 7 T8 FAER WX @]

&3 I R B B SU™I

ARd &1 U$ 9gd 9T &7 fUvs uew @ 3avid 31dr @ ofed 57 &=l d faww a1 onfiw

HHTGY 2 |

-

1. S8—ydf wRa A <@ &1 30 ufoera Sia—faga Gared @ dr 20 ufawra ugifeas

Td urefae 4 2

2. qdf SawRe R R § Y 3t arfr e 2

3. AT # HU MR T B Y BT waddy 2

4. yafar rsdl A Sdfagd &1 Sfad faera, a9awer &1 gqfad SWRT 9 &fy
IRl & A f[AUvH &) aven & |

5. URTET WEl B (S TR D [P » U A IHRId A B Swxd B |

6. ®f¥ R wiea @ fasfia #= ER, dTa IR IR T_Y B Yge a9 =T o

dhdr 2 |

7. SIREvs, S, Bdie ¥ Sfad w== den @feer smenRa e ) emuEr 9
3 A &1 fUssa gR far o a&ar 2

8. IvsaH—fIdIaR o adig U # Sa—fafquar &1 faefia &) RIa dom e
3 Y 31 faefha fear sy

9. uRaed, ¥4R, Sl 3NTfE AR d WAl &I ST S 57 &3 1 997w
4 fasfia fear s aear 1
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10. Iorifae soeTefdd fasfia o) don oFfae v Wie &1 g3 ) fUos &3 @
sy &1 gX fovar w1 wwar 2

11. e 9 te W@ 9191 JTAR$ GHRIG S9— Tavddis, &3dls, Addarg nfa
g, foer waemE s 2

map
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Time: 3 Hours 15 Minute] [Marks: 70

udemrelf & foru ferdern:

Instruction to the candidate:

16. UTIgmel Jardistad 3194l olsel & & 3Id2 < |

Candidates are required to give their answers in their own words as far as practicable.

17. @fgel 3T afeT o i gu 3ic gorife ffdse wa 2

Figure in the right hand margin indicate full marks.

18. UAgell U IAT D AT HOT AXIAT, JUS JAXAT 30T UoeT IHABAT 31a9T

o=t |

Write Section number, Group number and Question number with every answer.

ferdor:

airor -1

aror —II:

Instruction:

Section — I:

Section — II:

ST U9 Ux A a Hor &, A1 -1 wa aror -1l st -1 H Fus
— 31 gar o1 -1l F J|us — a g Jus — A B

AT —[BJvS — T B U TGl UBR B &1 A JUS & UL
FBAT 1 A 28 B USSP 1 3k BT &1 A weddl B IAT dfSE

qor -l A3f uea Sr-—azglerse 31 o1 -lls W|vs - T B U
g 3ITT UBR B g1 AW 12 uedAl @ IAT AU uRH ued
2 3icp BI 21 AT -l P JUs — F P U <" ITINT UhlR P
E1 Fft 3 Ul B 3IaT AfSTI Uk U 6 3ik BT B

This paper consists of two Sections, Section — I & II. Section — I consists of
Group — A and Section — II consists of Group — B & Group — C.

Group A of Section —I are Objective Type questions. In this group question
No. 1 to 28 carry 1 mark each. Answer all questions.

All question — Section — II are Non=Objective Type. Group —B of Section —
B are Short Type Questions. Answer all the 12 questions. Each question
carries 2 marks. Group — C of Section — II are Long Type Questions.
Answer all 3 questions. Each question carries 6 marks.

AT — 1
SECTION — 1
FUs — 37
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Group — A
(a=gferse uee)

(Objective Questions)
VI. ferarafeiRaa uear J==am 1 A 28 & o [dbcdl A Uh HET &1 3TUhl Jar

bea getelr 2: 28x1=28
From questions no. 1 to 28 there are four options of which one is correct. In each
question you have to choose the correct option: 28x1=28

1. vRa & fA=faRaa d-gnfug gzn & 9 Al v &) areRar < f=ay 22

(®) disuq 9 Faler g (@) ‘1eY Yd TR gddll

(m) faeeht &) < T Ay

Which one of the following union Territorieshas lowest literacy rate in
india ?

(a) Andaman and Nicobar islands (b)Dadra and Nagar Haveli
(c)Delhi (d) Daman and Diu

2. feoofe s 4 fog @°f « amar @ ?
(@) Efei(@) 99«1 I
(1) &y ST @) dgiferv ST

Detergent comes under which category?:
(a) Mineral (b)Sea Product
(c) Agriculture Product (d) Petrolium Product
3. @rexem feafar ufig 21
(®) Arfrer QEIEGIF
(@) dfar CRGIE]

Lohardagga is famous for:
(a) Manganese(b)Copper
(c)Bauxit(d) Iron

4, IR YW & 915 ARA DI S9SN &I e Jqurd fHa s &1 2 ?
(@) faer (=) wERTSE
(1) JTET YW (e1) uf¥=w q9Te

Which state shares the largest proportion of population of Indiaafter utter
Pradesh?
(a) Bihar (b)Maharashtra
(c)Andhra Pradesh(d) West Bengal
5.amaa: sriefia Sae = oy @ A wrl Sired) 2@
(®) 21 — 60 T (@) 18 — 65 ad
(1) 15 —65 ad (&) 15 — 59 aH
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The working age group population generally represented by one of the
following figures.

(a) 21 — 60 Year (b) 18 — 65 Year
(b) 15—-65 Year (d) 15—-59 Year
6. e usTdl @el safked = ?
(®) Ptc® (@) dva
(1) 3T g (enafierrg,

Nilgiri hills is located at
(a) Karnataka(b) Kerala

(c) (c) Andhra Pradesh (d) Tamil nadu
7. ot Fo 4 fod fyemar @ ?
(®) ATs &I 4a3 ¥ (@) a=18 Bl Bidddr |
(1) faeell & 4a3 @ (&) faeell BT Bradar A
The national highway No. 4 connetcs:
(a) Chennai with Mumbai (b) Chennai with Kolkata

(c) Delhi with Mumbai(d) Delhi with Kolkata
8.2001—2011 & IRM SHEIT & a9 gfg <x fod =g ARSTIS @1 w8 off ?
(@) fufdmpn (@) feEr
(T) sraH (1) srTTe'S
Which of the following state recorded the lowest growth rate of population
during 2001-2011.
(a) Sikkim(b) Bihar

(c)Assam(d)Nagaland

9.9 T[T T &I ATYAT BBl g3
(®) Rerr () A=
(@) srast (&) sfeean

Where was the first jute industrywas established.
(a) Rishra(b) Haora

(c) Naihati (d) Haldia
10.84a%cx feafay yfg @ ?
(®) <rsT T ST (@) gt 9= =T
(1) e S=T (@) SN 9 IET
Manchester is famous for
(a) Iron and steel industry (b) Cotton textile industry
(c) Jute industry (d) woolen textile industry

11.fFrafafaa § 9 &9 491 Uigfae 9578 81 8 2

(®) A=T2 (@) qag

(1) ®ifea (1) URTEY
Which of the following is not a natural port?
(a) Chennai (b) Mumbai

(c) Kochi(d) Paradwip
12.9Rd @& foa wva § Rrens s@rg 9399 Rera @ 2
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(@) sfear (1) ariEr yw

(@) sdaTe (&) weq g9l
In which state of India is Bhilai steel plant located?
(a) Oddissa (b) Chhattisgarh

(c) Andhra Pradesh  (d) Madhya Pradesh
13.fr=fafea & <9 —ar aifkes @< 2 ?

(®) 97T U= (@) draar

(1) Iu® (e1) <veT
Which one of the following is a metallic minerals ?

(a) Lime stone (b) Coal

(c) Mica (d) Iron
14.FrafaRaa § 4 &9 A1 TGl BT 99 98T IAGD T © ?

(®) TR (@) T[oRTd

() faEr (&1) TSR

Which one of the following state is the largest production of groundnut ?
(a) Maharashtra (b) Gujarat

(c) Bihar (d) Rajasthan
15. fa=feaRaa ¥ &9 a1 Sut &1 AdIayofig g 2 ?
() €IR (@) Srgen
() asiferaw (&) a=ETYY Hort

Which one of the following is a non-renewable source of energy ?
(a) Solar(b) Coal

(c) Petroleum (d) Atomic energy
16.frefafaa 7 @ »19 @d% @ ?

(®) 15 (=) araet

(m) = &) =it

Which of the following is a kharif crops ?
(a) Wheat(b) Rice

(c) Gram (d) Barley
17. qdwen Yeid &9 &1 & § ?
(@) scIrRTEE (@) =refigR
EAGET (e1) MREYR
Where is the headquarter of the East Centeral Railways ?
(a) Allahabad (b)Hajipur
(c)Kolkata (d)Gorakhpur
18. frre=ifefaa 4 9@ few #wergly 4 Sawen g9fg waifes € ?
(@)D BT (@) <feror s (1) SR
auReT  (&1) TR/

Which one of the following continent has the highest population growth?
(a) Africa (b) South America
(c) North America (d) Asia
19.5UraS I &I 999 A5ayyi &89 2 |
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(®) <ad & (@) S &
(N SR —yd &= (g) ydf &=
Important cotton production area is:
(a) Daccan(b) North area
(c) North -east area (d) Eastern area

20. % & sravfa frafafaa & 4 e fear-—wamu aftafaa 22

(@) Bl BT Scdre (@) YUTH(T) Al
@) g1 |/ wd
Which one of the following avtivities is included in agriculature ?
(a) Crop cultivation (b) Animal husbandry

(c) Fishing (d) All the above
21.f68 v & Wdl YIS rell WR P Wl & ?

(®)v1e (@) =

@@ = (&) durq

Which of the following crops are grown on mountain slopes?
(a) Jute(b) Tea

(c) Sugarcane (d) Cotton
22.9Rd ¥ 999 ®H SFaET fod g @ @ ?
(@)fwmae yger (@)rwvmad g<(r) fafesa
(e1) ar

Which one of the following states has the lowest population in india ?
(a) Himachal Pradesh  (b) Arunachal Pradesh

(c) Sikkim (d) Goa
23.faecll fod YR &1 TR B ?
(®) vemIfa® (@) amiRe ) sieifre (&) Sfere

Delhiis of which type of city? -
(a) Administrative(b) Commercial
(c) industrial (d) educational
24. R ¥ TR A¥E™ B URYING &1 & fay SE=I &1 [d9 a9-d

BT ARy |
(®) 100 aafaaufa aif fe-fle (@) 400 aafaa ufa avf fHeH.
(1) 500 <afaa gfa o feedie (1) 1000 afaaufa avf fHei.

The minimum population density necessary for a settlement to be designated as
urban settiement is -

(a) 100 persons per sq. km (b) 400 persons per sq. km
(c)500persons per sq. km (d)1000 persons per sq. km

25.39 9 P9 &7 g@T yavyg &4 2 ?
(@)uf¥=w 9a (M) [oRIE  (@)STR L™
(&) SNTEvs
Which of the following is drought prone region?
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(a) WestBengal(b)Uttar Pradesh

(c) Gujarat (d) Uttarakhand
26.f54 IS H T BT URTS DI AUEATRA AP © 2
(®) doIE (/) feerr
(@SR g9 (&) affrerrg

Which of the following state has longer period of sugarcane crushing ?
(a) Punjab(b) Uttar Pradesh

(c) Bihar (d) Tamilnadu
27 54 B ) Wl A a3 S FHI B dTYATE A1RY |
(@)em (@) () S (1) Bure

Which one of the following crops need low temperature during its sowing ?
(a) Rice(b) Wheat

(d) Cotton (c) Jute
28. HIR, TeRPHIAT, Haldd, AT yRg 2— ?

(®)de a3 (@)dIgar

WK CED (1) g™
Moran, Naharkatiya, Kalol and Mehsana are famous for -
(a) Oil Field (b)coal mines
(b) Mica mines (d) Uranium Mines
afror —II
SECTION —II
CR—axgferss ues)

(Non-Objective Questions)
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oS -
Group —B
(g 3T uee)
(Short Answer Questions)

UoeT AWHAT 1 A 12 db oy IaIT &1 Al 12 yeali & 3aT |
U&® U b U 2 3 feraiRa 2 12x2=24

Questions no. 1 to 12 are short answer type. Answer all the 12 questions. Each question
carries 2 marks 12x2=24

1.9 9quel & AH & faq g1 wgayel gsima <

Give two important suggestions to control water pollution.
2,1 & @l & ferg ameef aRRefaat «ar s+ =arfze ?
What should be the ideal conditions for sugarcane cultivation?

3, WIS & SUART B ford |

Write the uses of magnese

4,71TST Ud SRIFI @ A% &I Seol@ @ |

Mention the importance of Noida and Barauni.

59Rd @ dR Y@ IIRISER gar1g 37T T 1M 91V | |
Write the four important international Airport of India.
6, HRAR Yad @ fHdl IR =1 gl & foad |
Write any four main problems of IndianRailways.

7, UTSUCTsH URded & Y= faeivansi &1 fod |

Write the main characteristics of pipelines transport.

8, |dd A& @ T ATaIHAT 2°

What is the need of sustainable development.

9, W19 fadrd & IR W=l &l fad |

Write four pillars of human development.

10, gfg @i} fawma @ My T Gws 82

What do you understand by growth and development.
11, 37MYaI TAT ISYA S gRATTNG Y |

Define Emigration and Immigration.

~ 78 ~



12, 9919 A Gefera fH=) IR ey HRBI BT Scol@ BN |

Mention any four pull factors related to migration.

s — A

Group - C
@g ITIAT yee)

(Long Answer Questions

g AT 13 A 15 g 39T 21 A 3 "Uedl &b 3Id2 &1 Uah
yod & AU 6 3ip fergiRa 21 3x6=18

Questions no. 13 to 15 are long answer type. Answer all the 3 questions. Each question
carries 6 marks 3x6=18

13, o SRAl @ fafr= gfosul &1 avis aifsg
Describe the different patterns of rural settlement.
34T
AR ¥ |l 99 ST & fqaver &1 9viq siforg |

Explain the distribuition of cotton textile industry of India.
14, ARG ¥ &) = faevapn &1 v g |

Describe the main characteristics of indian Agriculture?
1

ARd H dlg 3FTD & IUIG U4 fIavor &I wse Hifsg ?

Explain the production and distribution of iron ore.

15, fawa SiEn faaver &1 gHa1fad &< ard SRS ST G449 § 9uis N |
Describe the factors effecting the world population pattern in brief.
3rerar (OR)

ARG &1 AFFIA 1R Fr=fafaa &1 ysRia a—
(®) @S CIEILIRIE (IT)RTadHTET
(&) SIHTR(S.) AR @) @€

Draw a map of India and show the following:-
(a)Lucknow(b) Marmagao(c) Rawatbhata
(d)Jamnagar (e) Mysore(f) Khetri

IR
Answers
1 B 8. D 15. A 22. C
2 A 9. A 16. B 23. A
3 C 10. B 17. B 24. B
4 B 11. A 18. D 25. C
5 C 12. B 19. A 26. D
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Answers(SIIRHTC)
Short answer type questions
Sl UgNUT &) AHAW & forg 31 Agayel gsma =1 & —
BN BS—PHART Bl FEiRT M R wHAr
byaa sl — <igel & Afedl /draEl A T8 SraAr An
BBl |
T 3 @l & forg angef uRRerfoat = @ —
i.  amuE — 21°% -27°
ii. a9l —75 —100 cm
iii. i — <me
iv. 91 —gudd
V. 5¥ — 9W yIiW G |

Ao & suA e 22—
i. Sl g 999 o
ii. g deRar & fmfor A
iii. ®rerumm §
iv. <I9sT U4 A1 ST ¥ |

AITST Ai¥cdAIx SHldivil UTd & forv yfig 2 aor s doenegs
dREHEN & forv ufRig 21

W$W§g@[aﬁﬁ@wg¢r§@ﬁﬂﬁ—
i. SarERdId A% gd13 SISl (Widigo)—q+s
ii. U 919 TAI8 ST (GHEH) — DIddTdl
iii. sfexmie) garg arer (ure™) —faoell
iv. 3~IgRg garg ASI(TESH) — A% |

ARA Ved @1 IR &I q9|l i 8-
i. o971 &1 fadd | FeAT|
il. 1991 fedearan &
iii. o geedn
iv. SFEwE® 99 yiaT|

qrsUelrsa URasd & ge faefvar -1 38—
i. 99Y &I 99d |
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10.

11.

12.

13.

ii. UGN B $H FHEAN |
iii. g9 Al 9@ ugd |
iv. ol @ 99d |
v. A9 a1 femae &1 w9 9E Igdn|
IE Yo EXAT ATEAT 3
Had faera @) smawadar 71 RN | 2
i.  wdl 1 & ford yTefae GareEl &1 |Eur 9 ST |
ii. mﬁﬁﬁﬂwﬁﬁqﬂl
iii. uAlaRor yguor wx =0T
iv. UTHfd® AHTEEl &1 6RET |
v. faoma o:af A4 gfg)

7Hd fae™ & IR W A= 28—
1.  |Hdl
ii. gad gryefigar
1. SdIGHdl
iv.  HeIGdIHRT |

3fg ok faema <F w9 & ded A uRads &1 T s<ar 21 3fg
qEATHSG SR You FRUE Bidlr @ d1 s9al ' gecoie  sreqar
HUMHS & Hhdl ol Ul 3 2 & uRada o-aae  seEn
RS 8 Adhdl o |

fawra &1 s1ef qoneie uRads @ W You W& Biar @ | 39T 3ef 3
— fde™ a9 & & g Geal S9ad gddaE <emel # gfg B 2
fa®ra &1 99 BIdl = | 98l AdRIHAS gfg gidl 2 |

fodl Qo1 o 9rE% @ MTHY 997 DI ATYAT dAT d81 9 d18% Sldhx
9949 Bl SUA Pad 2| 59 <l 4 fedl 9 a1 wsa B SEEn
¥ yRa<d= giar 21

ya @ G4fSd ar 3uey dRe e 2
i. &M & d8aR AdW
il. ET-9ET DI W] AN
iii.  emfa 9 wenf¥aa
iv. ofilgs @ gufq &1 Y& dAT Aqhe Sedry |

Long Type Questions Ansers
Ifaat & yfaeuy 59 aRaYl &) snafa (Shape ) @ IUR 8d € wd
g dbEl Ud qrTf o) Refd & $9 Ud gawen & 3meaR R =g
foar simar 2:—
yrfior IRl @ A= ufoeu @:—

i. ImuarerR Ufdeu—sd yeR & ol & wuferal Weh 39 @

AII—HT Uh §E &l §9DIV WX dledl 3, fad mdaeR

yfaey @1 g&dfl g-d) 2,
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11.

111

1v.

vi.

Vil.

Vviil.

1X.

o—

ARd & S AQE |

¥ gfave— a7 gfoedy @ @ R faesfia sidl 21 9=
$AR-—49g BIAl @ 9HM Uh GER & AWA—EHEA sl B
SIRETE & BITHNRYR, ITR—Ydl ARd & gddi A # |
die ugl gfaeu— Al d < Anf @& fiad @ $i W
fa®fa giar 3-—9Rd @ A 9T A

g der Ag—qdi  yfaeu—fel  arere, sier, saremget A
¥adc & IRl AR fasRia gfaey

SH:—®IfSaTars. T 98 & Tagd H |

aRT ufdeuy — il &3 dsd M} fadl 8 Sid:— U4,
R,

Bryperer ufdwu— W&l &I dso AT T8 gaY gsd AT T
A I et 8 &g Sus! uR T &l Bl

eRer ufied Sief gs@l @ =aven @M=Ia: i sidl @
qAT S 9K D75 W ATHI AW 8l oIl 2 ol feurad uqwr
$ UsTSI AN A |

WAdigar vfaey @dl uddia vad yordl &= 4 @1 ol 2 o-
IGUEe yaw, fsiH, sw— ik grfior aRaal @ s
afosdl ¥ @rEdl Trfer, va ufawy, snfe v o 2 |

3AdT

el 969 SN TS Y§ dedl dd meRa s 2 foas
PR 39 U & fqav0r =3 a1 & &= 7 g3 2| YA
Ig ST Ug uerdl Al § &=id o1 dAfed g & auf
H 39 SN & f[Ab=<exvr 9ok &1 giawm ard &30 |4 gan
|

M

Jerfd AIRMS S 9 Ig SN ddd JHag
— IFUQEIG &4 d® W o aduE wHg 9 Q& 9ed
fao=ia =T 99 g&1 8 faavor— 1. werrg # 125 fied 2
el waifre Yes 4 60 fird @1 390 gl o= @1 Ao
(cottonopolis) @&l Sirdal &1 sHa JAfdRed AdRT, AR,
ABIT, FRTE), qef, gol, Plegryr, AFTYR fe d=% 2|
2. ORI — F&f 120 frel 8| dad IrEAEE A 67 ST Rerd
21 g8 s BRU WRA &1 AAECEX PEdAdl 2, Es IR
JEAGIETE ddr <9 & §d IdIed &1 80 wfaerd 4 i aifdrs
I9 (superfine) HUST §41d = | I8l I Dl H— ASDIC,
HIGTR, {Id, Weld §SISY U UIREaR o |

HERTSE Ud ORI A el 99 ST & @iftre fasfua s+
ST U SR & 1. GYsl Seldry,

2. Ol Sdafded & gfaem 3. srell A 4 durg I o)
gfaem 4. Yot & Suaedn
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3. ¥4 yow— 88 fel 2| ¥l Souid, W@IferAR, HiUld, <49,
AT, SgelYR W& d5— 2 |

4, IR URY — 41 A 2| AYR B [UR ART BT ATARCY
$eT WAl T e JAfaR® I dw— el AT,
SCATGERAYR, RIGETG, IR AR, IR0, d@s 2 |

5 9w 9 ;41 | 2 | Pidedl YW D B |
WG &1 & SR, JuR & Jfaem, a8 R o
9RaeH, sl O #fie, ad Searg anfe @ |

6. dafiierTs, :— 300 firel 8 | a9 FAIR F o1 il @ | 39 -
<fRror ARG BT ATAER BT T R | I BE —
Held |, 9a19 |, URAR, fesiadell, IAmegRd |, gdisiRA anfa
2 |

14. 9 &Y @1 g fagva] = 2@
1- Q31 @Y nfdfe Tvg~Tar &T IER 2 |
2- 2/3 @i @t Sfifasr Y w= snf3a 2
3- faene SEE @ Slifasiurs &1 g™ 9ee @
4- 3P SN Sl Hodl A YqHE ST & o AT S,
dled |, ge e, RvRe s
5- RIS AR A wecayel qfAer
6- ugraTeE 1 Y w ek @
7- wHifSTe —arehfde Sfiaq @1 smerRRre
8- < DI IS I BT 29 yfera £ | ura
9- @ren~ @ 3IfaRdd ba —Wwel , AT Afsoal qom e &1
IdIGA AT |
10- ARG B Sedry faRivay auaE 9 W) §fY & Idred
@ IqHd =Bl B
11- Seaary fafdgar @ SR ARG § [T SUiYT SR
Ao gl vaa SR W) @
Jrerar
ARd faza ¥ <l 3RR® @ "SR H ufgdl e (1.31< foram,2.
arofiel 3. ®9 4. A9 R@ar 8 o9 & Saa § A,
e forar 3R 9ol @ 919 @le =49 Y@dr @ | URd # g
IS Y& WU 9 GRATS GG § YT T @ |
Jdred  (production) HRG # AR UYSR & I XD BT
JAUTG BIdT @ @lg AP & Sred # 1. 3391 2.%+icd 3.
BATg 2 Wdfh WeR # U9H WA $-iicd v@dl & |
1. Aege (Fes0,) I8 waldl e &1 s @ ol
gfero—gdf Rz @ilca (fa9w@) dffiars, (Weq) Ud
ATYYSY A & wU H YT AT 2 |
2. guerse (Fe,05)-2/3 9 aiftre wfad dsR @ sHaT SdTe
IRE TS, SSIUTHABRIEH SIS fHar wrar 2 |
3. famiAge (2 FeOs) s9®T SdRA uf¥ad §d @ I-RS
g7 o grar 2
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4. fisvige  (FeCO) a8 feaic &1 3-R® &— I3 aAT
BANTE ¥ IUTE T 8 |

faRor— 1. ST — TH T D @ISR, IS dI
T e @i Saed @1 gfic 9 wgayel @ | @4
@<l # — TRV | qemuErs | s yqe @

2. Pilcd — H FRAPHTGR fSd &1 99T UsEl ud
$oqE &89 , deal f¥dd @ gUe |, fa=gyl sk Rmem
e @ 2 |

3.BdRITe:— Bl gdarsT fordl &1 daElar dide forar &1
Maee g3 fdT &1 Seell — o8 Y9d SURH % @
47— Aisdl dom qudl afeal &) aifedl § wERer sidl
B g IAD o 2 |

5 9RES — olg Ia%d gega: Rigya Rrdd o urar wrar @
Sl STPIfE & AICISC ISP Idl & A8l 9d G-
—IR]SY , 31, WWST, Ud A8y 2 |

6.H8RITS:— dial forar & Wueliia Ud olexr a2 <fror
—uf¥g § — I e 3 e fear srar 2
7T, -— e fSiem & Ry vsrel 4

8ITHURY — HN , bjdd , Gl , faqe , T<¥ Ud
IR forer ¥ Sares AT @ |

15. faza ST faavor & y91fad o)1 drad 9 dRe Sexer 2 |

1- #imifore aR®

2- 3fefe dR®

3. guIfsie Ud Hithids dR®
Hqhnifore eaRe & Jiid 9 aRe 2
o Oidd @ SUASAl — oicdd bl AT N4, 8 3R HivH
A A, |1 —Erey el |, BEdl |, SR a1 diared
H foar omar 8 | 98 dReT 8 fo g awar ) '9rd) @
a1t # Irferarfia g3 oft |
o H— MG — AHIR TAHTT FHAAA ASHI AR dg Il
IR 999 &l 99Idr 2d 2 |
o VIR — IHd wrerary frad @eft uRads &9 sa 2@,
3ferd o &l IArhpffa &dr 2 |
o Al — IUGIS HaT drdd U d AT 99T UHE $Hd
qoFTaT® ®U 8 gddi 9o U9 dweeled 831 @ |
2. e aR® — sUS Iaiid @99 3R TRIHRer 3nfe
SIHEIT bl gaTiad &) 2 |

e faul @ gaa 83 ST B AMEHT A 2|
Tqd 3k sitenfire wfafafai ok SO avd |
Boa®y &F e Se-d dTell 9+ Sidl @

TRIGRYT ISR & d8ad] aax , N&fdred q
fafecar wdef gfaen? o uResd 3k 9aR @& d8ar 49eH
¥gd A B |
sitenfirevor — 3tenfiie VOR @ IdAR SUdeT BRI 2 3R
99 G&T ¥ i Arefa drdl |
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3. 9AINI® Ud AiRaf0e aRe — §8 Wi afife e aiwfae
Ugcd © DRI 3AfId i &l AMhAd @wxd 2 | b sfl bR ol
ST &4l Bl BlSHY dol oIld 8 Sl&f gHIifoie AR qorHifae renfa

Bhar 2 1
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Model Set - 7

Geography
A-GEOG (OPT)
JFAAA: 3 He 15 THec] [gorfas: 70
Time: 3 Hours 15 Minute] [Marks: 70
Tdemeff & forw ferdern:

Instruction to the candidate:
19. Uldemefl Jerderd 31der ol H & 3IAT T
Candidates are required to give their answers in their own words as far as practicable.
20. @fgel 3R afdT ur A gu 3 yorfe ffdse wa 2
Figure in the right hand margin indicate full marks.

21. TAemef URB IAT B AT HOT JFSAT, Jvs JAXAT AT Ue JSAT 39T
ISESH!

Write Section number, Group number and Question number with every answer.

erder: =T Ueed U & ar T E, ofer —| Wd smer -1 eTer - i Jus
— 37T @em &er —ll A JUvs - T gAaT J|Us - A B

AT —I: AT —IBHVS — T B U dAIGTS UBR & &1 A JUS B U
TFFAT 1 A 28 B UDB 1 3k BT g1 Al wedl B IAT dfSw

AT I AT -l At Uear SR-Tgferss &1 #AoT -IlH Fvs — F B U
g 3TN UBR B o1 A 12 UeAl P IR AT | URAB US
2 36 BN &1 AT -l B JUs - T B U dH ITIT UBR B

Z1 HAat 3 Ueal P 3IaT ASITI URB U 6 3ich Bl 2|

Instruction: This paper consists of two Sections, Section — | & II. Section — | consists of
Group — A and Section — Il consists of Group — B & Group — C.

Section—I: Group A of Section —I are Objective Type questions. In this group question
No. 1 to 28 carry 1 mark each. Answer all questions.

Section —I: All question — Section — Il are Non=0bjective Type. Group —B of Section — B
are Short Type Questions. Answer all the 12 questions. Each question
carries 2 marks. Group — C of Section — Il are Long Type Questions. Answer
all 3 questions. Each question carries 6 marks.
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AT — 1

SECTION — 1
FHUs — 3T
Group — A
(a=gferse uee)
(Objective Questions)
Vil. eraefaRaa ueet J==m 1 X 28 H IR fUbcdl F Teh JE B TR T
bea getelr &: 28x1=28
From questions no. 1 to 28 there are four options of which one is correct. In each
question you have to choose the correct option: 28x 1=28

1.  q9d BT Y&I IURH A 8-

() wra (@) g.va.u
CEINIE] CEIG!

Which one of the following countries is the major producer of mica?
(A)India (B) US.A
(C) Brazil (D) China

2. fr=faRad § 4 e Wi & AFFdrd] USRI 1 RTYAT BI?
(®) dreud (@) foa
() gorrT () w1

Who founded the Humanistic school of Geography?
(A)Wolpert (B) Kirk
(C) Tuan (D) Harvey

3feXgad, Sl faza 4 Haifred wedyel do &3 @, sal Red 27
CORRIE] (@)Bdd
(M (&) vu

Kirkuk, one of the most important oilfields in the world,is locatedin
(A)Iran (B) Kuwait
(C) Iraq (D) Russia

4. f=fafaa & 4 5w =g @) 999 &dl de ¥@r 2 ?
(@) af=Tg (@) IR
(1) HBRIS; (G)EaE]

Which One of the following states has the longest coast line?
(A)Tamilnadu(B) Gujrat
(C) Maharashtra  (D)Kerala

5 URd H 999 991 AT H AT &I W4 drell a¥qQ¢ oI A1 8 ?
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(®)P=ar AT (@) «'r 9 «Iid
(1) ugiferaw 9 faers ugref (&) A 9 989 deerR
Which one of the following is the largest volume of import commodities in India?
(A) Raw Materials (B) Iron & steel
(C) Petroleum & Lubricants (D) Pearls and Precious stones

6. f=ferfaa & & &9 aRa ¥ el +ifa 9 G&fea 2 ?

(b) SrTarit (@) yo oy
(TR TS (&9 urer
Among the following which one is related to Blue Revolution in India?
(A) Horticulture (B) Floriculture
(C) Sericulture (D) Pisciculture

7 Wdl fead gdfa € ?

(b) AFT—Heoll (@) srFTS

() s= (&) FrfurerT
Truck farming is associated with

(A)Vegetables (B) Cereals

(C) Milk (D) Poultry

8. Fr=ifaifara A 4 19 41 ¥ & fery we faera Yasis fFr=aq <o fean
T 87

(@) faER (@) fewrae g

() dsre (er) sRaToT
Which one of the following states has recorded the lowest human development
Index?

(A)Bihar (B) Himachal Pradesh
(C) Punjab (D) Haryana

9. IIPRI WA HIF &1 ffor gam o P ST 4 |
(@) 3 ua.q (@) 7S

@m sHf (a) ®E

Bokaro steel plant was constructed with collaborationwith
(A)U.S.A. (B) England
(C) Germany (D) Russia

10. Sofl GaTE SUAT Y gfthar & 3ifaw arazerr 87
(b) ufRas- (@) derUT
(1) afRRre ArEf &1 fyeE  (9) wuTaRul

The final stage in the process of energy resource utilization is

(A)Transport (B)Storage
(C) Disposal of waste meterial (D) conversion

11.f=fafRaa & @ 19 Sy efcawen « arer g469fia @ ?
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(@) T @l (@) w83 ST
(1) @ 9 I (F) RHEFARd SN
Which one of the following is related to Tribel Economy?
(A) Intensive cultivation  (B) Footloose Industry
(C) Mining and Quarrying (D) Shifting cultivation

12 fFrfefaa 4 9 f5a g A4 S9 &Y 83 &1 Affean ufaea = =g
@ Ifcfa rar @ ?

(®) SR U (@) wea gaer

(1) o9 9 IR (a1) S<RTEvS
Which of the following states has the highest percentage of its agricultural area
under canal irrigation?

(A) Uttar Pradesh (B) Madhya Pradesh

(C) Jammu & Kashmir (D) Uttarakhand

13.3R qdf ARa § wAiaRd &Y &) g &Y. ®Ed ? |

(@) <r<iT (@) frear
(1) AT (=)
The practice of shifting cultivation is know as in North Eastern India
(A) Ladang (B) Milpa
(C) Roca (D) Jhum
14 T @) ToEr @ ?
(@) faeel (@) IrEH<IErg
(1) qrag (an)dreradn

Cottonopolish of India is:
(A) Delhi  (B) Ahmadabad

(C) Mumbai (D) Kolkata
159w 59 yoR @ SuvT @ fog yfig 2 2

(@) gt a6 (@) =N

(1) dlET-gTd (&) ugl—EmEA

For which type of industry Bermingham is famous for ?
(A) Cotton Textile (B) Sugar
(C) Iron-ore (D) Petro-chemical

16.999 fhardery d o o & forv fA=ferRaa aiRyfYe vrssl ¥ 4 foger
g fear sirar 2?2
(@) <irel BielR D (@) Trdl dick D

(1) W@ dieR sif® (&) BTl BieR sffD
People engaged in quinary activities is termed as one of the following:-
(A) Red Collar worker (B) Pink Collar workar

(C) Golden Collar worker (D) Black Collar workar
17 fFre=faRaa 9 9 19 uRass &1 digaq aeE 27
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(@) arg aRas= (@) sl uRagq
(1) Yo uRas+ (e)as® uRass

Which of the following is the fastest transportation mode?
(A) Air transport (B) Water transport
(C) Rail transport (D) Road transport

18) YR &1 W <1 fafad <o & 77
(@) ©4F (@) sMRaT
(1) SITaT (&) HoIlRmr
Which country is the largest exporter of rubber?
(A) Russia (B) America
(C) Japan (D) Malaysia
19) Sire frafe Y &1 7= HE ... 2l
() =aTae
(=) g
() "
CIBIRICIE]

is the main crop of subsidence farming.
(A) Rice
(B) Wheat
(C) Maize
(D)Soyabeen
20. grre,zRAm iR uRedl IR yew # e RigEg & frafaleaa & a9 4@
gfRem 27
(®) a1 9 SAqUTar (@) w9 oa g 7 &
@n) R 3 porEar § & (er) =9 G+
Which one of the following is the result of intensive irrigation in Punjab, Haryana and
western Uttar Pradesh?
A. Salinity in soil
B. Lack of ground water irrigation
C. Lack of quality of land
D. all of these
21. SRR &1 999 93T 994 Iolf §IF 8l 87
(@) ToTRRIT () IporRTd
(1) HERTSE (z1) dIicsd

Where is Asia’s largest wind energy plant?
A. Rajasthan
B. Gujrat
C. Maharashtra
D. Karnataka

22. ¢ 3ftenfire o= fog sitenfie udwsr & 27
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(@) gas— g9 (=) geh
(1) oRTd (&1) BITHTTYR

Tromboy industraial centre is in which industrial region?

A. Mumbai-Pune

B. Hugli

C. Gujrat

D. Chota nagpur
23, "ART e Afas” 1987 RS fHas gRT uelRE@ fHar Smar 272

(@) 9 Toq (@) gcds Rufe

(1) YeuTeSrete (&) 39 | DIg 8]
Our common future (1987) is a report published by;

A. club of Rome

B. Brundtland report

C. UNDP

D. None of them
24, Aea Ree IR ol wef Rera 272

(@) 9Tk (@) daxrETe

(1) qBIgA (&) $79 9 PIg AL
Where is national remote Sensing agency situated?

A. Bangalare

B. Hyderabad

C. mangalore

D. None of these
25. fr=fafea & | @19 |1 U wIddg U< 87

(®) faemaEmgam (@) =R

() g« (&) sfe<an
Which one of the following is a land locked port

A. Vishakhapatnam

B. Ennore

C. Mumbai

D, Haldia
26. fFr=Rafa 4 fea &89 4 eRIdedd vd |idsid &1 9aifire IudiRT fear s
14

(@) =R (@) sfenfire

(M) =iy (@) ¥ 4 o T

Which of the following sector has highest surface and groundwater consumption?
A. Domestic
B. Industrial
C. Agriculture
D. none of these
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27. fawa & a@® AR A g 9 @) yfc uR9s & fda aem grr gk 272

() argar () urgueTs
(1) X (&) ds®

Which mode of transport is used to supply cooking gas in different areas of the world;
A. Aeroplane
B. Pipeline
C. Rail
D. Road
28. WX dIudr &7 fad qu 4 Re@ 22
(@) BT9 (@) s
(1) dfesraw (&) STHT®

In which country Ruhar coal field is situated
A.france
B. Germany
C.Belgium
D. Denmark
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atror —II
SECTION —1II
ErR-azgferss ues)
(Non-Objective Questions)
X*us — o
Group — B
(g 3TT Ued)

(Short Answer Questions)

U JFAT 1 A 12 db og I3 &1 At 12 ueedl & 3a2 T
U Ues &b fau 2 3 feraiRa 2 12x2=24
Questions no. 1 to 12 are short answer type. Answer all the 12 questions. Each question
carries 2 marks 12x2=24

(1.) F U T 27
What is transhumance?

(2.) faed & uf9 U@ TR Ja@¥ I ST 9/ 9014 |
Name the five important ocenic waterways of the worlds.

(3. Iardl U3UTe Ud ATIIRS 93Ure d 3R W PIforg?
Differentiate clearly between nomadic herding and commercial
herding ?

4. @ B 3 gRaa v |
Define Truck farming.

(5. Auer By @ wE faevaen « foad |
Write the important characteristics of plantation agriculture.

(6.) WA BN & IR MU T I 272
What do you understand by co-operative agriculture.

(7.) AR FUTS” T 87
What is sagar samrat ?

(8.) gfeRr wfell 8% & IR A MU T S 2?

What do you know about Indira Gandhi canal ?

9.) SHASYR A el &) RAUAT & SRGI &7 fqawor T
Give an account of the factors for localization of TISCO at
Jamshedpur.

(10.) ARd A IvEfd & faera R & Wfdra e faRag |
Write a short note on the development of atomic power in India

(11.) ¥9Rd & WA dd Med ATer &1 T ford |
Write the name of main oil refineries in India.

(12)) < faed SURT & B3I 4 & SRS o7
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What are the important factors for production of hydel power?

g — A
Group - C
Eg 3T Uee)
(Long Answer Questions

g AT 13 A 15 g 39T 21 A 3 "Uedl &b 3Id2 &1 Uah
yod & AU 6 3ip faregiRa 21 3x6=18

Questions no. 13 to 15 are long answer type. Answer all the 3 questions. Each question
carries 6 marks 3x6=18

13. Soif Gdbe & I &Y fo3m o did—ald a1 Y fear o 9edr @ W
N |
3ferar
A9 fde™ YEaie & el ) IR f&ar Sran 2, ve 39 R W fawg
& faurfora &Y |
14. 9Rd 9 il URded @ Afaspfid 817 & dReN & wee feforg |

Discuss the causes of undeveloped waterways - India
3AdT
Aferq IRl & u@ faRivand e afes aRTAl & e & U 9aiy |

15. S &1 afReafa &1 gyaifad &4 didd dR&! &1 fAd==m & |

Discuss the factor affecting the location of idustry.

3AdT

R T AHfaa g1 FrfafRa o yaflRfa av—
(®) IRIYR (&) (AR (1) INYE (8) AR (S) YR (a) gehapiror

Draw a map of idia and show the following:-

(a)Tarapur (b)Amritsar
(c) Koraput (d)Sholapur
(e)Kanpur (f)Tuticorin

Answer(SdvHTe)
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1 A 8 A 15 C 22 A

2 C 9 D 16 C 23 B

3 C 10 C 17 A 24 C

4 B 11 D 18 D 25 A

5 C 12 A 19 A 26 C

6 D 13 D 20 D 27 B

7 A 14 C 21 B 28 B

SAATT (Answers)

Y TREME] &1 @id 4 yYuide §9dd 4R U9 ddia 831 | ddl gRAl a3 axd
2 WAl 4 A 9T 9§ uddig aREmE @1 AR ¢d Ad § uddia a9 A
IREME] I R Y HRd & gadl 59 TAfAfer &1 Fgudrd a1 Sdr @ | 9Rd §
feare & uddia &= A [ooR, 9Pxard, TG g9 qfeAr |l @ 9 ASdra 9
A &= 4 yddlg &3 9 9o 9d @ Y49 ¥deia 9 yddig g3 9 A]E &9 9
AT I 2
favd & uf9 ygE FeMrRE oAt i 8 —

b

1. SN sredifed AR STer it

2. <f@roft sreaifed sremrf

3. YIMd AR STe® | ol 8% qrf
4. WY 98 °9it

5. UATHT 98} 9t

IAdRl UYUTAS Y4 ATIR® gguTeq A fFrfefaa siar @ —

EGCIGIIRNCIGE ARG GI[UTel
1399 UYUId Ul Ud IR @I (1398 93 49F R AR"Ed el W)
adrer § A gyl & A faarer | &A1 Sar @ W@l aRenE faqga wE
Pd WEd @ wmrfl B @
2594 & v wwg § & A= | 2.39 AR 4 9gUTeE & Agad 8
JHR $ G| &I Tl Sl 8 | & IATAR U YA bl 9Tl Sl @
3¥8 UYUIAd Silgd  fafs @1 | 398 ugEareT g8 49 W fHar oran @
Ugfd 811 @ SR W 8ldl @ | 3d: g8 fa&ja siar @
439 9YUTE ¥ 9YE &F eI, | 4.39 9UTed & 999 &3 938,
gdf afPs) &1 adlm AFT 3R9 | vHE,des 3R SIS @
gEgd wem YRR gugl 3R
ASHIRGN &

%ol 3y afesal o fafire Y o 99R 4 1w gx & ordl 2 &R fora
IRag @ METAHAT Usdl 2| ¢F BF Ud dOiR & A8 &I g8 ol U ¢& d
TR H T AT 2, SHI IAER UR AT A7 ¢F S I@T [T 2 39 Ay’ ST AN
JAfrpTe WY WS IARDT H fhar Sirar 21 39 £ A @Al BT AR Biel shdr
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10.

2 g o™ wd it @) W= it el @

Ay Y o) ygE fagvar fr=ifea @ —

1. 399 BN &3 &1 IHR 9gd fazqga gar 2

2. 39 &Y ¥ Aftre goft e S ydas vd aa-ial IR vd e
faftral &1 gaiT fear smar @

3. I8 Us Hudl $N © 7w fadl v vaa & S wR g G fear
IGI

4. 9FTHFI & SREMI 9T 96IRI 9 Sl & fau 9 uRasd &1 yAiT
foar Smar 2@

G4 GBI BT P GHE AUl Y 4§ AE aW U & fay W81 4 s geai
T g6} B SR o~ R dl 99 AgdRl Hf¥ ded @ 399 Afdard ®H
JEUU TEd gU WEHN WU H Y @ Al 2 | I8 Y S99, frevds, dfesas,
e ¢d gcell 4 A%hddl Ydd dadl 994 A0S A%hedr 39 sTHIS H Al @
TS GG FUBT IS B |

HeRTsg Refd Y+4s 818 &3 &1 Udl 9FR §9IC AMd Selel §RT 1975 H oRAT IRIT
o I UgIfelad IUG®d &3 s dc U 176 fdhalo Ho Iav ulRew faem 4 aRe
IR H Red 2 I8l 99 4 9FR ¥UIC AM® Hd 9[-0 T 2 Sl b Se o
AR gl & WNAR A & |V WG &I R HIAT © Y81 80PRIS ¢ del & HSKR

BT AAT B |

gfeRr wifel Tav O gal TIOR8 @ M 9 ST WAl o AR § 99l 99
TER H W dF Ud 2| 39 A8 Bl IH Addol aAT A Afedl & € wR Rea
TP 91 9§ BIAT 2| 1948 H HIR 91 §RI Hdbfoud I8 T8 URAISHT 3191 1958
Pl YR g3 | IT IR U9 A e 9" 9 Faadl 2 AR IORE @ OR
TRerd e ¥/ & waiara 40 fo Hlo &1 sitwd 8 w g&dt 21 39 =R
a3 @ G FAISIa 18 9060fdHoH0 2 IR I8 19.6301T BacAR Hf¥ Y HAM
g4 94 Yo @7 giaar ya@ awar 2

SMRIGYR A fewal @) U1 & 79 dR® @ —

i. I% PIudl 3R diT e @ a7 o 7oy R @ gafey $=d Ard ae
$u9 H | 39 93 gfaen @

ii. @=d ATl B $HST B & A A dIR HAid & faaror § H SRicyR
®I AraraTd o giaem 2| Y8 R diddbar o & Xd @ fard @ ag
SHRITYR IR Sl @ |

iii. ¥ WAl 3R ©RPs eIl & FITH R 991 g3AT 2 | 39 14l 4 BIdl &
forg gafw urll 3R <1 ereM @ fay 91 fre Sirar @

iv. 999 SANEr 87 3 9 9w Al a9 fia wird 2

ARd ¥ verfad & wa ity qon oaaRaw afaw 2

REFE 89 gRars 9ol § 9@ 9d 2 | qhnifae ®u 9 REEE &1 g= 89
gY@ & ST8T SISl a1 RdT UsTs &l &I [ | $9& JAfaRad e d
SR & U W PRI $T HSR 2| 99 ST AVHR drd gAY] faEfsd gid @

~97 ~



dl SHoll ST IcFGiA idl = | 95fsa9, ol dwige, JRF—EH AR Ai-Gige e
avifas @fel 2 | ARG A AIFGIEE &Y UsT H Y9 AET A R ST @ |
d9fSa sIREs da1 ISET H fiaar @ | oAIRIW J&a: dkd @ a9 @l
gefir f9 @1 91 9 HAIFGSe U9 goddige 9 W fear Sar @1 aRigR
HAYFHH , R, ATAHTET, DT R HIHSURT H YA Holl I AT 2 |

11. ARA & U@ dd Agd SRET 4 28—
. garedl — |
. ferars— sraw

n. 00— faEr

V. SIMTR— IeRId

V. HYRT — ITRUSY
VI. ®IFell— I[oRa
VI. HH3— WERISE
VIll.  efegar— "o §Td |

12. Sidfdgd IWURA & &I SRS fr=ifed 2:—

gemElE 98 4 UgR od @I AR BT BIAT|

T 90T H ST 9T ol &1 g 99 BT

AT e STA—duTd &1 I |

e Atefre ucer qur uRdss & |rEs &1 8
aiftrfisas faers gd a=m ek &= &1 3T |
IR a1 gAie Yot faer &1 2 T

l.
Il.
[l.
V.
V.
VI.

Long Answe Type Questions

13. ol Gbe o FUEE & fav = yag fea o 9ad 2 |

NG R WNE

Holl GarEHEl © 9T ¥ faeadar aEr s 2
IR AT &Y JMALAHAT & |
ol & FdI9 &3 & UgaH ATaTS 2 |
olf @ 4 defeud A BT TN ATahD 2 |
WRAT[SHoll Bl qeETQAT T B |
o1 B @ Sfiarea GaEET &1 9RshRor AT 2 |
fawfia <o, srcufasfia < A TdFfiaRor St
el &1 faera 8 |
fawfia < srcufddfia <ol &1 Yol yd da-ile &1
TEITARYT BN |
UgIfer &1 Y—RIoHIa 4 99T S—
OPEC @3N gRT Uglfera® & orifa &) Wil @ A
IYART a8 4 ufd & dgiferad @ Joa R 95
H ad B

10. STIATeH Holf U IUATW <419 8 39 HH fHhar

WY |
11. 999~ I gRT Holl T Gad fHar Srar 2
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14.

o Sol @1\ A gig sidl s9 R FREFor
foar sy |

IWRIh JAEl BT JTART B dRad
ol ddc o THR FaRn | fAaera arar o
qhdl B |

3241

favg anftfe faem & Joaisd °q @3 UPR @ 9ue faafia &1 g 2

OECD(organization for Economic Corporation and development) §RT 32 @RI @I
SWTT &R fasfia Qo @ ygaE &) ol 8 3999 32 oRT § 9 14 @71 6l
MR @R AT ST 2 |

ufa <afed sma

ufa aafea arffe sma # gfg
ufa <afed s gaar

qTERdr

itaa sfas gaarem

TR WX

ufa aafea ufafes dard

Hd o & SEEEr 4 fgda wd
Jdiae saeEn fasr

9. HM4 A4EH faerg wR
10.3FRIE QaUR # QI BT wWR
11 ufa aafea aifvrfsas sof @uda
12. 59971 3MThIR
13.vHeEr gfg v

14. 59T 9-cd

O NO LA WNPE

favg 9% g1 AN faom & oY & & fag 59 R < a=ar § 71 2
<fe favg 9o & IR ufvafem e g ¥ed 937 @R 2| 9o IqUR faw
@ 1 9 & dfer Smar 21

1. S=d 3 9 91T <0
2. HEUH TG dTelT <0
3. fr=1 g 9 arer <o

ARd 4 ol URTEd @ AfASIAT BIF BT B3 T SR & Sid—

1.

2.

3.

S HETEE IS G T A 2 3 I W) WR YA H 9T Il ©
AfHAR T 3 TSIl ¥ o) & AR GO9d B rAd H faefia 78 sidr |
@3 Whfas ey @ 9N- o WX A Rerar 7E 2 auf 81 W 9a WX 98d
IR 3T Srar g 3R 916 & Refay am Sy 2

I ARG &1 A ¥ delt ) gy aftre 8 <’ 2, W iR S @Y 9w
% TR g 2

<froT aRa @ Afeat § el yura iR Swfaad (Rapid) g wIrdt 2 S oid
uRaed & IJaHd 8l B |

. g AR T8R a9l kg H Usiad gY oid R R svar @ s i g o
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15.

e} Ao gl T |

6. URd &1 YTHIoT Iefcgawer fUsEl 8 Sl S gRT Yvg—ydrg &1 moarfed

T2 HYar 2 |

7. Od ufRdga &1 I uRdaga areEl 4 gfaeusf &)Er gsdr 2 | sagNEie 46l &

s T8 H &1 ygE Yt 9 ufowet 2

8. #arl uRa # Shaa—fAafs srefaraven € | a: deifire uyen & AR AR

yRags Hifig wu A gar 21

3d1

#fer aRAT @ =1 aE fagiva 2

i
ii.
iii.
iv.
V.
vi.

Vii.

IRaat afa yd= sidl @ i srasifa (Decline) <em o fawns << €

Iei = anfefe Reafa urd it @ a2 e o t=d 21

I8 &7 Jfa fs—rs aren siar 2 1

Il grEIfored IS 9rAr ordar @ dor faff <1 9oR @ o' 9T a%d 21
Hfers Ifkaal darel 83 W™ Ud GhIs &) giduife daren 4 ofad v8d 21

Jel AfIHAr &1 AT IrAT ST & 9T d9iel AU degigfa sl aqs
gergat faerdy 2

3 &A1 ¥ AHiIe gIadm et uram SIdT @ |

Hfer IRTAT DT DA & U —

1.8 ® &1 g wIE sitEnfie sl 9 g 89 W) S9a fay Jrarma
gfaar € wme |

2 qfe IRTAT ¥ IR [ fafecare, @, ure snfe gfaaw Iuds sy
Vilg |

3.5®I P AN AGERAT Bg R VT ST HIAT SITY |

AMRBR GRT TN Yd D PR & HHAMRAT DI a8 g= A1 A19r9 glaer
SUTed HRI§ Y |

5T ATSHT & JTaT FdedT &l gdizda grifiedar o amfee |

6.ITHIOT &= § fAd doIgRT & ATATH U HIAT 1Y |

799 AT A A deqRl $1 Smarg faAr iy

g.oHEIgfg ux =T

9. ISR & HHRIT &I & Gl oIy |

10T OXPHR gRT @I TR 1 ITIhT 31 Afd AR Sy |

SN & EReAfd sM® RS 4 yAIfad gidl 21 39 4 Hoddld $I Iudfed,
ufdd iR, Yofl, uRas sk siffie anfe 9@ 2 391 dRSI &1 Aifde dga a9d
WM& Ald © YR 3R SWN & ITAR daddl I8dl @ SN &I gHrfad

&Y dTdd BIRGI dI &I 9 d q1el STl @

1.9 Mfd RS

2 IR—HImfas dR®

AMfTd dRB A —

1. dedl didd — GMHEAd: Sl S8l Wl R Wfid f&d wrd @ Sigl el
Al SueTs sidl & o9 Sl § fAfifa avgan &1 4R $=d A1 &1 o d
HH BIdT 2 S99 SglN @l df &d HIid & Sid & fSdc 81 wnfid &3
Bhar @ oY : =T 99T, ol — Seurd Sen T

2. Wfdd— SHSGT Y™ WEH SIbar Ugifads oid faga uafas i qen
9] Wi 2 el sE@rd S diad )R iR evar @ gufay g seEn
ST @M & U 2 ¥I1ud fear sar 2@
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3. 5 — W dAT A 39 & ggr 431 4 Sudedr drenfie o o
& $R$ & $B AT H WX & AURT 21d & od— fBiwmarg A efen
e, YR | ¥ e, g 9 Fied S|

4. URTET ¢d AR — Hed ATd &l SN D« db o a1 [T aa &1 @ua

D &3 a9 o S & fou 9 9T G I[aErd S g 9= § g0 Afard @

HAR @ 9EF o — SIedR.Sollea dvgex anfe ff sfeifre faem & wgayyf

Ifier e 8)

5 9T9R— 919k &1 Aicdl | Iarmd @d $F 81 Srar dm e ¢ g4 arell

I3 BT AP X & o AT IJ[HT B

2 iR—4iifers dRSI 9

goft

e fifa

dfe gfderm

5T 1 glaen

Tofae Rerar

A

e dea Y SEl @ IaeYer @ gaifad &xd 2 s
IR A dod ginfeae aRal QO H 3ifere yu@mel Bid 2
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FAAT: 3 He 15 THec] [gorfas: 70
Time: 3 Hours 15 Minute] [Marks: 70

udemrelt & fou ferdern:

Instruction to the candidate:

22. Udemell JaTIHAda 37Ua 9leal H & IdT < |

Candidates are required to give their answers in their own words as far as practicable.

23. @fgell 3R afdT ur A gu 3 yorfe fafdse wa 2

Figure in the right hand margin indicate full marks.

24. UAemel UG IAT P AT HOT AXAT, JUS JAXAT 3T WSl JABAT 37a9T

o=t |

Write Section number, Group number and Question number with every answer.

ferder:

Hrar — |:
ot — |l:
Instruction:
Section — I:
Section — II:

SH U9 UN H & HOr &, 61 — | Ta #ror — Il et - | F
XFUS — 37T AT AT — || & Jvs — @ Far =S — A 2

HOT — | & JUS — I P YA TIGTG UBR & &l A J9S B
goeT JAJT 1 A 28 B UAPB 1 37wk I & FAfl ueadl & 34
el

AT — Il & HFeft vea S-—axgferss &1 &191 — | & Jvs - T B
Uee g 3ITNT UBR B &1 Aft 12 ueddl & 3Tz dAfSw | udws
geeT 2 3k BN I HAEI — || & Fvs — F B Ued dd I

Uhlz b &1 JAAT 3 Ul b IaT SIfoilul ub Ued 6 3ich bl
X

This paper consists of two Sections, Section — I & II. Section — I consists of
Group — A and Section — II consists of Group — B & Group — C.

Group A of Section —I are Objective Type questions. In this group question
No. 1 to 28 carry 1 mark each. Answer all questions.

All question — Section — II are Non=Objective Type. Group —B of Section —
B are Short Type Questions. Answer all the 12 questions. Each question
carries 2 marks. Group — C of Section — II are Long Type Questions.
Answer all 3 questions. Each question carries 6 marks.

AT — 1
SECTION — 1
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FHUE — 3T
Group — A
(a=gferse uee)
(Objective Questions)
VIIl. feraafaRaa gea ds=am 1 ¥ 28 A ar fecul A wes JFE 31 3musr

JE Rrepea gerer &: 28x1=28
From questions no. 1 to 28 there are four options of which one is correct. In each
question you have to choose the correct option: 28x 1=28

1.2011 &7 SEIVAT & ITAR HRA B STTEEIT 87
(®)121 DTS, (@)123 BRIS
(1) 125 FRIS. (@) 127 FRIS.

As per 201 1census India’s population is-
(A) 121 crore (B) 123crore
(C) 125 crore (D) 127 crore

2. %9 # A4 A B STHGT -
@) T4 (@) fewf~srar
(1) Edead (@) s

The Founder of Human Geography in France was:

(A) Bruhnes (B) Demangeon
(C) Herbetson (D) Blache
3. 99 RaH gl AR § —
(@) Wl TR () S a9
(M 3feaifed (CIERILINSES

The busiest oceanic route is:
(A) Suez canal (B) Cape of good hope
(C) North Atlantic (D) Panama Canal

4. SEET B gfe | WRA BT favg H @ ©
(@) ueH (=) fecra
() e (eryergel

From population point of view India gets its rank in the world:
(A)First (B)Second
(C)Third (D)Fourth

5. FrfaRad | | BIF DIl —giell ATEiie Jaer § 8l § ?

(@) sfegar (g) SERIGQR
() derrg (&) ~reTY

Which of the following is not Kolkata-Hoogly industrial region?
(A) Haldia (B) Jamshedpur
(C) Titagarh (D) Naihati

6. 2011% IFAR 9RT ¥ AfFell AreRar yfwa 2
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() 72.44 (@) 75.46

(1) 82.44 (9) 65.46
According to 2011 female literacy percentage in India is:

(A) 72.44 (B) 75.46

(C) 82.44 (D) 65.46
7. IRT &1 |aifdd TRgGd T 2
(@) Trar (@)ATTTS
QESIE] (o) Rafapa
Most urbanized state of India is:
(A) Goa (B) Nagaland
(C) Punjab (D) Sikkim
8. Scoll T <IoTexT # B A1 WieT urar Sfar g 2
COSIELN (@) E—srh
WEIENIES ' (&) reT
Which mineral is found in Dalli and Rajhara?
(A) Copper (B) Iron-ore
(C) Bauxite (D) Coal
9. YRT H HIY 3P S I B a1l I &
(@) forr (@)afew F e
(%) ™| (&r)3rrervreeT
Which state of India is the largest producer of Jute :
(A) Bihar (B) West Bengal
(C) Assam (D) Andhra pradesh
10. afie et f5e fawa 3T e -
(@) AFE I (@) “ifd® e
(M) TR P CINSEIGUIS]
Economic geography is the branch of which subject?
(A) Human geography (B) Physical geography
(C) Urban geography (D) Political geography

11, 9T # a9 &4 frurd aren o7 8-

() Rarom E)ENIE
(mfaer (@) T4 I T
Which of the following state has lowest sex ratio in India —
(A) Haryana (B) Punjab
(C) Bihar (D) Non of these
12. 9ra & fferRaa fafgal § & oo @ @ & fog o9 watfe
U 7
(@) YR et (@)etewrge e
WSGICAEE] CIISGREE
Which of the following soils of India is most suitable for cotton cultivation?
(A) Regur soil (B) Laterite soil
(C) Alluvial soil (D) Red soil

13. BV 31 e § w9 faalm I 2|
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(@) ToTTe REIRERS

(W)ITR g=w (&) HERTS
Most developed state from agriculture point of view is?
(A) Panjab (B) Uttar Pradesh
(C) Jharkhand (D) Maharashtra
14. IR ¥ HafAd THARIT 8- dTell I 2 |
(@) faBR (@R U<
(1) e CIRSIE
Which of the following state has highest density of population in India?
(A) Bihar (B) Uttar Pradesh
(C) Kerala (D) Punjabra

15. fFrfafRea & fre dg &1 e o SEill & oy Fedl At AR &xal & 7
() BER TENT (@)erL e
() g = (@) w@ee e
Which of the following types of industry manufacturers raw material for other industry ?
(A) Cottage industry (B) Basic industry
(C) small Scale Industry (D) Footloose Industry

16. wreal, |awn, dedl 3R faaRl &1 99l bedrr & ?
COISEIN (@) IR
(muRasa (=N 4 BIs T8
Transfer of words, messages, facts and thoughts is called?
(A) Communication (B) Trade
(C) Transportation (D) None of these

179491 e Sllsdl  &—
(®) cdifed — yIid I8NER &I
(@) 9= WFR — dd 9R $i
() g — {89 W8NrR
@ s 9 @rg @
Panama Canal connects:
(A) Atlantic — Pacific Ocean (B) Mediterranean — Red Sea
(C) Pacific — Indian Ocean (D) none of these

18. YT A1 &Y T & AR BT MRS SEROT & ot oitgar 23—
(@) WF—d (@) Rigea—dwiRD (1) seiR—as=gar (@)=

The silk route is an early example of long distance trade which connecting:-
(A) Spain-Norway (B) Seattle-Sanfrancisco
(C) Kashmir-Kanyakumari (D) Rome-china

19.fr=ifafaa <ol § 9 fPaq TRI & Ffferor & fav 3009 Fa9@T B TR & fag MR
HET © ?
@) (@) fedds  (Mensadvs  (a)EsT
Which one of the following countries has the criterion of 300 population for urban
classification?
(A) Denmark (B) Finland
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(C) Iceland (D) Sweden

20.9edl & G Sl T fba-r gfaera sreavfia @ ?
(®) 1% (&) 2% (7)3% (=1)a%
Which percentage of total water on the earth is unsalted?
(A) 1% (B) 2%
(©) 3% (D) 4%

21 §fq9ISC &1 H99 §ST SRS 8 ?
(@) sIREs (@) 3nfear (1) w0 Uw  (8) ABRISS
The largest producer of Bauxite is ?
(A) Jharkhand (B) Odisha
(C) Madhypradesh (D) Maharastra

22. {93 9 G Uzl gl 99 dRET ©ifia fear o qaife —
(®) 493 & U @
(@) I8 HUTH SURH 89 & fde @
(1) Hss e fa<ia == o
(&) Sugad G+

The first cotton textile industry had established in Mumbai because:-
(A) Mumbiai is a port
(B) It is near by cotton producing area
(C) Mumbai was a financial centre
(D) All of these
23. yeR¥1® fEaieE &1 |99 B ?
(®) WRagT da @ (@) a7 oy & e @
(@) e a3 @ (9) fafr= @ @ faerm 9@
Regional Planning is related to:-
(A) Transport sector (B) Special Regeonal Development
(C) Economic Sector (D) Development of different Sector

24, ITR—A YAd BT JE&ATAT & —
() saEEIE (@) BOMYR (1) Biddar (&)Y
Headquarter of North-Central railway is:-
(A) Allahabad (B)Hajipur
(C) Kolkata (D) Jabalpur

2594 2004— 05 ¥ Fr=falRea § @ <9 wRa @ fafa & 9@ arell yq@ g 2 ?

(®) sShfafRT (@) soage |
(1) varEg 9 94 Sare (°) 399 4 BIg T

Which one of the following is the major exported goods of India?

(A)Engineering goods (B)Electronic goods
(C) Chemical and related product (D) None of these

26. i W 98 STl UgEYT & HROT At B
(@)= =1 (@)eaa et T
(m)arforar (CIEESINE]
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Which of the disease caused due to water pollution?

(A)Eye problem (B) Respiratory problem
(C)Dysentary (D) Deatness
27 fafaea A< g 2
(®) iteT gwId Sl (@) vegfifEw et
(1) S=a dbN@! SET  (°) N enRa ST
Silicon Valley is famous for?
(A) Iron & steel industry (B) Aluminium Industry
(C) High technology industry (D) Agro-Based industry

28.2axdre aT fid—<xiere e &l Ped 2 |

(®) Jsar (=) s
(1) & (@) 379 | Pig L
Hyderabad and secundrabad city are referred as:-
(A)Twins (B) Dark
(C) Slum (D) None of these
o1 — 11
SECTION — 11
CR—azgferss ues)
(Non-Objective Questions)
FvE -
Group—-B

(g 3T Uee)
(Short Answer Questions)

U FHT 1 A 12 db g IT4T & AT 12 TSl & IR & | UAd UL

& fou 2 3w feraiRa & 12x2=24
Questions no. 1 to 12 are short answer type. Answer all the 12 questions. Each question
carries 2 marks 12x2=24

1.9RAR I S @) yqE wEnei &l fad

Write the important problems of Indian suger industry.

2R Xed B ygE faLivas & fad |

Write the important characteristics of Indian railways.
3.39% & YBRI $l fad | HOR TG94 d1 JUH IATGD Q3 DI @ |

Write the type of Mica, which is the largest Mica producer country in the world.
4. IRA @ IR YgQ gy < °rd) yRIATSAT ST A0 9ary |

Write the four important name of multipurpose river valley project in India.

5. Wftfa ggHe oA WM & IR § U T A 2 |
What do you understands by golden Quadrilateral super highways.
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6.9Rd @ T dc W Red yqgE g+l & 9 9aig |

Name the important ports located on western coast of India.
7.5 & aftrere et 9o §mar § Fat Rera 2

Why most jute mills are located in West Bengal.
8. UV 3R UgNdI # 3R T 2 |

What is the difference between pollution and pollutant?
9.$8dl & UPRI Bl ford T 999 S99 f5e & Fgar &1 A qaiy |

Write the types of coffee and name the best quality of coffee.
10.%19 ¢d Rerfd @ #ed 3far wWee o |

Diffrentiate between site and situation?

119199 &) &l gRATRT &Y |

Define Human settlement.
12319 USRI Sl ford T2m a8 S {6 & SIgem &1 9/ 9ary |
Write the types of coal and name the best quality of coal.

g - A
Group - C
Eg ITIT Uee)

(Long Answer Questions
Uoel JFAT 13 A 15 g 3T &1 Wl 3 ueal & 3T | UAb U &

foIT 6 3icp fereriRa 21 3x6=18

Questions no. 13 to 15 are long answer type. Answer all the 3 questions. Each question
carries 6 marks 3x6=18

13.9Rd 9 EarEEl o A= gor 9 gafarefin aaard a9 @ 2 ) s9er e 99 fear
ST AHAT B |
What are the different types of environmental problems related to land resources in
India? How can it be resolved.
SDE]
$od ATl R IMERT SN &7 affadwor gega o |
Classify tthe idustries based on raw materials.
14 TR IRTAT B YT IR BT qUiA BIONg |
Discuss the main problems of urban settlement.
Jrrdr
ARE Y &) 9T a1 YR @ foy wer & ya™l & @4t sifeg |
Discuss the measures taken by government for the improvement and reforms of
Indian Agriculture.
15.9g9E ) =1t uRASAT &1 3ref We ¥ AR 39D YW W B Tal Hifg )
Write the meaning of multipurpose river valley project and discuss its main
objectives.

Jrerdar
AR &I g 91} fA=ferlRaa &1 gelRfa & |

(@)m=T
(@) Z=T

(1) sfeear
(CIEIEaN
(8.)dTaR
(@) TSI

Draw a map of India and show the following:-
1.Agra  2.Kudremukh 3.Haldia
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NoOupdhwN—

4.Bokaro 5.Bangalore 6. Kangra

STIRHAT AT
A 8 B 15 B 22 D
B 9 B 16 A 23 B
C 10 A 17 A 24 A
B 11 A 18 D 25 A
B 12 A 19 C 26 C
D 13 A 20 C 27 C
A 14 A 21 B 28 A

Short Answer Type Questions

AR AN ST B ygE ey e @ -
19foRFERIR e SUTTHar
2. IiE @ Wifa fea
35U &3 ¥ B
43S A AfTH
59TafR® faavvr 4 g
6. B ifa
ARG Yord @7 yE fAevang feifea 2
13 9 BN Ud HEPRI & dd <ig Ifd @ FGeq drell el U9 U4 Srdrsa)
TRId ¢l &1 yREred fear o var 2
2812 e Bl HEFIRI U4 §s e A oiisd & fou siH—3rarsd) v mfsar adrs
ST & B |
3. ¢l @ gefesr &1 Ada & foy goFT § w&ar waa (ACD) &) awr & 18 2|
4 T AT YR AT B g
5. YRAI Yol Yool TRRT & 9ad 9<) a1 faza &7 et 9 ¥ gorrel @
FgD N YHR &I sidl 2
17 RBIaISe (ABT ATH )
2.91AIeIse  (HTd1 JI9w)
3.qenwIse (frar 3ras )
WOAR &1 G g<] IYPH Il < IRd 2

ARd & IR Y@ 9gqd! T4l a1l uRAisEr i 2
1.97@S] ATTd URATSAT — qderol T4

2.SMITR o1l IRATSAT — ISR T4

3ERIgG s gRASHT — FBd!

4.5 aRATSET — B Td

5 a1 URASHT —grasT 94

ARE I ol giaRor 4 9 @& 9R FERIE el | Siasar, w98 3R
A3 Dl 4 A9 Tl AP G AF 9 Ssd @ fau w@ffa agys aRars=r &1
AR 2 S99, 1999 $I fHAT| 39S advd 5,846 KM ddl 49 6 o drel Sod Ho=Idl
3 AT TAART WA 2 Sl < D IRl g8 TRl $l Sisdl 2 | $9 98ME &
o @& |1 9RT @ 39 48R @ 19 99T 99 IR 3 dRd deayel w9
® g3 ¢ |

ARd & 9@ de W Rea yq@ gaq e 2

1. bIScll — T[ORTd

29Hg — HERISE
3.99Mdar — T
AFITAR — Bl
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10.

11.

12.

13.

5®Ifed — &l , Y0 §7Tc

Se @ e A af¥ew dwma 4 e R 9 wenfia @ -
1.5 SUTE &I &l BT Fdear &1 i

2.9 oId uRasd &1 gfaen

3.@ed S Pl IS H3A @ foIg waia a=m 4 S &) Sudsdn
4391 3R 1 giaemd

sfrafa & fag dewme a1 g

6.9 U4 I HASI B IuASIAm

g5yl 9 arcud fell ygue ugref & aigdesa § faemme e @ @ W fafes @rar @
S BB SF—aree] 3rar ) sfla—vigant & fog sfere @

ygu® ¥ aread feel ¢ o are a1 A ueref @ agdsd 9 $9 yeR fawme B e
¥ 2 S A9 Sffgq g¥R Sfal, el serar gafaver & fag sifers 8 wedr 81 I8
YSNUT B dTcl 8¢ © | IAT 441 H Ugf¥d 81 &1 & UgS faecll &1 uA oRe
Iuf¥rse &t T A ST 2

®gal 9 9HR &1 81 & —

13Rf9®1 (ST w1 &1 Bear Rfasr 2 )

2 faaRar

3XI9ECT 999

WM 99 drKifdd g1 & ghs & Yas = o9 R I&i Rerd € o — ¢& g tab
7B W), 98 fHIR Rera 8 9ar 2 | wiefe Rerfa Wit @ R @t saReafa saa
AN & & & G W WIHIT Bl 2 |
AT AE B GifdS raEsare] ¥ 4 U © | 49 IR ST JYIT G A BT qA
2, Ffe fHd +ff a1 & IRGAT &1 ©u 39 837 & qIAERYT ¥ WG &1 G99 A
2| UF ©IF o GERuGar il $U 9 997 g3 81 S¥ A9 9%l dEd °, od, I
TR AT 9ER
PIIAT AR YHR ST &Il & —
1.9yrIIse (g8 99 {6 &1 HIgar 2 )
PAC AL E ]
3.ferrarge
adc
Long Answer Type Questions

aRd § gEaEHl d A= yoR @1 gafarefiy gwwnel &1 WREr S)A1 gsdar B | &Y
@ Had H quf don aUH Y@ qaiaoiia RS © | IR 9 Afdrerer anf gfRor—ufl¥eh
AN gl g1 it @ e ol «iftre fafdear uid o @1 <ur @ sif¥rerer W
H QUA T 99 |Y a1 IBdl @ | U aRRefy § vRa &1 vafa 9@ Suas )
glar 2 | a9 2013, 20149 2015 # AR AFYA 99 A auf 7 89 & SR draE, id
IR H3m A U S TS AT TRAT NI O B RS I B qols W ol Hde
der gam 2|

AEEET & 39 gAiaRel wwensl & e qeal gRT eSO gl @ |
197007 a3 A IR &1 el @ik o wreRal @ feg faen oa @d glar @ SuaT 85
gferera {frra o wial @ g gt @ |
2388 &3 § 99 50 Ufied 9a &) Sw)d qfra gal 9@ @ sl @
35T (NASA) @ Ruid @ JER 9Rd &1 oid WR 0.3 Hiex gfaad @1 g 4 = <
RET &
49RAT & G 676 e d 256 foram @& 4% @ 391 Nl § url &1 dde Iu~ 8l
QDI
591 18 Yfrerd ITHIoT AT I W8 U o ST ©
6.9Rd 4 favd & o wdEAT &1 17 Ufaera (16.8%) W&l @ wdfd fawa & Ha FaE=
&1 91 4 gfoerd aRa 7 2|
7fa%q 3% & JTUR IRA B 21 yfoed de™e HRAT g o & FRoT B @
8Y # Ul @Y maTawmar itwa ufa <afed 1400 Fgfaw Mex & @ 1951 F s52009fA®
Hiex off
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14.

9.U% RUId & ITIR 2020 Tb < H WIS ol Hbe =T 8NN
10.99@T MR 91¢ ARNT B Y gsai 987 2|

e & Sua —

1991 STl GUBYT SR SHD IAYATE I AHAT & I8 AH—oldd D A4 Bl de1 B
dpe 2

2BIe—ds Ol 9 oo GareEl o1 AAD gse |
3.9fd &1 ATaReT ‘T Gefl’ gariger fear sEm anfav |

(A) 5ia &1 fRIfa &9 @ forg

(B)arg &1 Iaxifera &=+ & ferg

4. 98 9819 @ =1 9 e fearey &1 A

5. JaATfI®Id R qien &1 fFEfor i & di9 yarg 4 werace

6. Giel @& fspeor | qraraReT & YT 9 3 GETEAl B &fd B AT

3rerar
bod ATl R ARG SN &1 uia 99f ¥ §fer 1ar 2@
1.5 amaia

2. gfo o arenlRa

3.1 e

4.99 3meTlRd

5.93] 3meTRd

Y merRa e § A9 IR A 91d S § Ada] IMER, Bl 9,

9y yeref (A& 1B) ) 79T dd U9 a6 (YA 3eM,S[C) a1 W§s 3d @
g e § tRIfIRE GifeT g9 Saresd Suli dis swa afe e

2 RA IERd S H UTefie ®U 9 Ut O ard ErEte @fel &1 SuiT
Blar @ o U9l e Selv ¥ wfhe dd (@giferad) &1 Suah ghar @ 96e THe ud
grerer e A ff yrefod @fiel & e A dd @ 3E IaTd 3= e #
1.55M ¥ 99
2Res fmtor anfy 2

I WR weifaR I, 979 U9 Ora,drE ST Infy @
uy] maTRa S gwst, S aw, wefiefd S anfe amar 2|

Ty IRkaa @ Freyge g 2
(i) a1 a1 TR @ Al gfe— Remaefia <ol § TR 3 R faefya qw
@1 3eT 9ga e 2| fawa sRE &1 TR gfaera wigt 1950 A 16 off, 9 adwe
H qedx 47 yfded 81 1% 21 39 9fg 9 (9 << ] der g% |

1. wEd Bwara—(Urban sprawl)

2. #rs/ sifadgedarOver crowding)

3. 3marg &I 99T (Housing)

(ii) yar9—s9® ] 9@ SR 2 (i) Push factor
(i) Pull factor
T &FA F AR B FN & FROT Mg § TR T AR WRE=ReT o ygfa 21 fora
IR Uigfas gfg qom g & R TR SFEE dedl 8, A% Sl IER
IS B e A wfed g e 21
ggmmmﬁ—mmw#mﬁﬁaﬂmaﬁﬁwﬁmé_
139 (Settlement)
249Rag (Transport)
39auiar (Water)
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15.

AR I (Urban crime)

(iv) afers (@dY) aR@at (slums) geia—olRm™@ar @ <o o < 60 yfaera R SaeT
FrN—=uS) Jrerar sde v gl # el 21 ¢ a) Rl @ S8 www] g w@l
St 8 | SI—

1.41ell —FeY 1 w9\ (Sewerage problems)

2.%S —PHds &I Swred  (Trash Disposal)

3. TR 9Nl (Problems of Urban pollution)

e Td g (erFfa e f/gr—snus)) &1 dAguer A 9, deid § hadn,
AR A—HdACET Hel orar 2 |

TRI— 99 IR D91 AR TN AR 4 Y gaIR & fag o3 Sur f6d 21 3 gar
forferfaa 2—

1. ST 9T &1 I9cl-I— URUTHETwY

(A= feaml & sie &1 wifasn g fear
(B)siia &1 rfrewan drr fif¥aa @) =
2. WAl @1 gdddl — WXBR 9 1964 H fq@Rk U @Wdl @ ddedl @1 | fIer gy @l &
cHs ¥ JHa AfF ghar o o dfe Y 8 @al § T 8 urdy off)
3.Riars aRAsETReI &1 fefor —sia.

(A)emier ardt aRateT—qre fFer v Riars
(B)gfe=r wielt wev uRAIST—fazd @ @@ I8 RAIo1 —J=a Seww —Riarg
(C)wpwis fifya &= fasr™ srisHa

49IE U@ Id@I @ YA Pl YicAed GXGR A Hs ERANS Id$I ¢d GR D
HREM Wia ¥ arfe g @) sdwu wfea § gfyg =

54¢ 3f® IuS I a1 AWl &1 Ae—g & Sared ¥ gig sl IR waife 2|
6. Dl —ABISl AR BHaAl I FFIRAT BT A B

78 A AYfTH SUBRUIT BT YT —gaey, sTdCR, YR M |

8.%ud T —adaE ¥ Bud WM & gRT HYBI B BUd 94ic s @ Reafa & afa
qfd wReR grRT @ < Wit @

9. T B gAam—o7 e W feamt & Fxor & ot @

10. IfSAT, 53T afe R Hwa #HaH gafeql &1 gaRo

Nl & YAd9 Jed &1 fERe— Wwer A AaflR=Eaar &1 3 o9 @ foag fafy=
Bl &1 YAdH e FeiRa X feamt @ fal &) grear &1 2

IgyE a1 sgea ardl aRAeEr &1 oef 9w Ao 9 @ R R ue sRea @) gfid
T BIPR 3d Sewl @ gfd Bidl 21 sia wufad wu 4 94 wfedl 4 g1 fatr=
GARIRI &I & BT 2 | $9 77 UqE I=ed o |

(1)7d W dfg IR TR M@ iR Rigs @1 giaer g s

@) & ST T AF W AT FATHR faoTell U~ HRAT|

(3)37 Ao | SN & Afdd B Foavdl & A1 U ST 9gied Sy |

(4) 379 9reY @ fRIFYT dT 4T AuReH W Herdr fad 2

(5)afenf & Sorrger &A1 § AR ) Werdar fad @

g)ﬂzﬁmﬁwﬁmwiwﬁﬁaﬁ?ﬁgﬁ$mafa:wsﬁnﬁmﬁgﬁmﬁéﬁ
|

(7) 371 uRITSFTRY @ Wl SWRd @ wu # Infde A fyear 2

(8)gcuaRRera RIS vdedl & BT &1 B 99 Wl 2|
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(o)STm, WAl IR TRl & fau oa @7 glaen
(10)a=a Sitg wxeor &1 gfaen

SWRIFT BRI § Yo SATEVdld 48w 1 9 9ga I yRATSI81
&1 S ARa &1 AfeR AR defera o8t 21
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CUR MODEL ser-

9 (Questions)
-1 (GUe—3)
Section — I (Group — A)
(g )
(Objective Type Questions)

L. frforRad TeT W@ 1 9 28 # IR fawedl § & dact e WEl 2 | JMUD! S Wel faded I A & -
(28 X 1=28)
From Question Nos. 1 to 28 there are four options of which one is correct. In cach
question have to choose that correct Option :-
1. frforRad # B9 fage 7Ma [ & T @ § ?
Which one of the following scholar is not related to Human Geography ?
(@) dudt (@) Yeord (M) o WA (&n) gfeves
(a) Semple  (b) Ratzel (c) Burted Rasel (d) Huntington
2. frrferRad # BN ST a1 ufaey eRe TE § ?
(@) STt BT T () SRISHTRY () Rrem &R Twey Gl (@) wEER
Which one of the following is not a factor of discouraging settlement ?
(a) Lack of Water (b) Unemployment  (c) Education and Health facility (d)

Epidemic.
3. favg & &g w4 90% ¥ e JER TR § ?
() SR e (@) s () (@) 3
In which Continent of the world has more than 90% urban population.
(a) North America  (b) Africa (c) Asia (d) Europe
4. AE AT i 1 Heped (feiad # ¥ forem wegal @l ?
(@) 3 o (@) e R () Aeqe—Se—8a (8) Todiowio g dHerH
Which one of the following has presented the concept of Human Development Index ?
(a) Amartya Sen (b) Manmohan Singh (c¢) Mahboob-ul-Haque (d) A.PJ.
Abdul Kalam.
5. Bl B HY e & ?
(@) BT (@) Do BT () MeTs T () BAR e’

Farming of Flowers is Called ?
(a) Truck farming (b) Factory Farming (c) Mixed Farming  (d) Flori culture
6. frforRad # & fore referawen # SaTes &1 Wi a8 2 |

(@) Yoharg (@) M) wHTraTg (@) 3 & B &
In which one of the following economy production ownership is individual.
(a) Capitalism (b) Mixed (¢) Socialism (d) None of them
7. el eI Siredl & ?
(@) dig—dfeld (@) afel"—uRa (m) uRa—aied (@) SriaT—afel
Channel tunnel interlink ?
(a) London-Berlin  (b) Berlin-Paris (c) Paris-London (d) Barcilona-

Berlin

8. AP ST B T NS B Gy fbae & ?
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@) 7 (@) 8 (M) 6 @) s
What number of member nations of the SAARC Association.
(@35 (b) 8 (c)6 (ds

frfefad Fe@qel TR § § SN A qUid: TR a9 R ) Red § ?
(@) BTRT (@) o< oraTaT (M) A (&) geTiget

Which one of the following important cities as a whole is situated on a Hill Valley

Topography?

10.

11.

12.

13.

14.

15.

Plain
16.

17.

(a) Canberra (b) Adis Ababa (c) Moscow (d) Istambul
WTAIOR ¥R T Faverd WA e fobam 2

(@) i e (@) vfe T () <ifaw 7wle  (9) &7 & @IE Tl

Who has used the word ‘MEGAPOLIS’ at first ?

(a) Jeen Gottman (b) Patrick Girdees  (c) Levis Mumford (d) None of these
T IR H 59 gER a1 fde forareend qEad: urm S E ?

() it (@) Rt (7) v (@) 7

Which type of economic activity is mainly found in Rural Settlement ?

(a) Primary (b) Secondary (c) Tertiary (d) Quarternary
ARG § UM SO fhd v gg et ?

() 1881 (@) 1891 () 1901 () 1872

In which year first census was held in India ?

(a) 1881 (b) 1891 (c) 1901 (d) 1872

frfoRad # & 59 <o H 4RI SMuaIRel ol Fe@r &4 © ?

() 8 (@) e () forh (7) =S

Which one of the following countries has minimum number of Indian immigrants ?
(a) Surinam (b) Mauritius (c) Fiji (d) Newzealand
IR & frefeRad oat § & f6g ve & BN Jrrar e € ?

(®) T 3R TR (@) TRETS () srvEd gew (]) fagR

Which one of the following states fo India has lowest literacy rate ?

(a) Jammu and Kashmir (b) Jharkhand (c) Arunachal Pradesh(d) Bihar
a1l Rl Ffciiad &=l 5 9 el 781 ol 9l § 2

(@) T & RESEE (m) ToT & (]) SidG #eH

In which one of the following area dispersed settlement in not found ?

(a) Arid Area (b) Mountainous Area(c) Plateau Area (d) Alluvial

ffeiad # 9§ $F e TR 8 ?

(@) e (@) sfeerea (m) @R (&) wem
Which one of following is a Tourist Town ?

(a) Nainital (b) ankaleshwar (c) Kanpur (d) Patna
AR 9RA & foodt o9 4 Rerd @fer & € ?

() aer e (=) ORI (@) werTS;



(a) Andhra Pradesh  (b) Orissa (c) Goa (d) Maharastra
18. il $usT SEr 4 W 3ff¥d S ¥ P © ?

(@) Torv (@) RS (m) aferTg (%) SR wem

Which is the most developed state in Cotton Textile Industry ?

(a) Gujrat (b) Maharastra (c) Tamil Nadu (d) Uttar
Pradesh
19. T 9§ DF q@1 94d! &9 § ?

(®) "o et (@) SRy () ToRTT () STRIEE

Which one is the drought prone Area ?

(a) W. Bengal (b) Uttar Pradesh (c) Gujrat (d) Uttrakhand
20.  fFw=faRed 3 9 B FEME YRGS Ta ofdl HEHEN & ?

(@) NH -1 (@) NH- 6 (M NH -7 € NH -8

Which one of the following is the longest National Highway of India ?

(a) NH -1 (b) NH- 6 (c)NH -7 (d) NH -8
21, 9RA H A Ul XS b WA & dr Tl off ?

(@) gog & (@) T ¥ sfEFmETE (M) J9€ & a1 (3) BT W WTR

Between which two staton the first train of India was run ?

(a) Mumbai to Pune (b) Pune to Ahmadabad

(c) Mumbeai to Thane (d) Hawrah to Kharagpur
22, o 9 BT AR § ?

CORSERIL () eafy wgwor () & e (<) g g

What is the reason of Acid Rain ?

(a) Water Pollution  (b) Sound Pollution (c) Soil Pollution (d) Air Pollution.
23,  f=faRed # 9 59 U ueue I A e § ?

(@) CO @) NO, @m CO, @ SO,

Which of the following gases is not considered as pollutant agent of air ?

(a) CO (b) NO, (c) CO, (d) SO,
24, TN AR URAGH fHE T8 W B ?

(@) o (@) FerT (m) wrei () et

On which river Nagarjun sagar project is situated ?

(a) Krishna  (b) Mahanadi (c) Kosi (d) Kaveri
25. Al b8 Ti—Iared & fog uirg & ?

(@) P (@) e (m) Fereet (2) vy

‘NOAMUNDTI’ is famous for which mineral production ?

(a) Coal (b) Iron (c) Manganese (d)
Mica
26.  9Rd @ foa o # 9 fyu R oRrg € ?

() aferTg (@) #emer (m) faew (c) doma

In which state of India RATNAGIRI mineral area is located ?
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27.

28.

In which state of india Bamboo drip irrigation is famous

(a) Tamil Nadu (b) Meghalaya (c¢) Bihar (d) Punjab
ARG BT ARprer Ao @R e uRag awe & gar € ?

(@) ¥ 3R WAR (@) @ R ag (1) 9 3R 9R - (3) AR

Which mode of transport is mostly used for foreign trade in India ?

(a) Land and Sea (b) Land and Air (c) Air and Sea (d) Sea
frefole § & &9 91 W% 9d T © ?

(@) v (@) Horoer (m) et (e) wapT

Which one of the following is not a Kharif Crop ?

(a) Cotton (b) Groundnut (c) Mustard (d) Maize

~119 ~



-2 (Gue—3)
Section —1 I (Group — B)
((R—agf= wee)  (Non-Objective Type Questions)
(g ST weE)  (Short Answer Type Questions)

II

10.

11.

12.

TS W@ 1 W 12 TS o SR T & | T 12 T @ IR S| IS WA & o 2 o FeiRa g
12X2=24
QTR feeRraTe 1 SauRoT @l ford |

Write the concept of Environmental Determinism ?

HERAT X BT 31 W N ?
Clarify the literacy Rate ?

T Ao &7 quie Biferg ?

Describe the Quaternary Activities ?

T T8 ?
What is Port ?

TRIGROT 1Y AT T & 7
What do you mean by Urbanisation ?

TR {4 Ped & ? {B HERI & 99 ford ?
Which is called Metropolitan City ? Write the name of some Metropolitan Cities.

et faega wfed &1 fawr SR Ra § e Fi1f gam § ?

Why Hydel Power is more devoloped in north India ? write any three reasons.

TR 9§ Y T S © 7

What do you mean by Communication ?

IR Ao 741 8 ?
What is balance of Trade ?

gRA T[E yMTg B Fier @ B 2
Discuss the Green House Effect in Brief ?

9RA @ IR ged ieiie &3l & 9W ford ?

Write the names of four major industrial areas of India ?

SFRIGIYT 3fR SRR YA # 3fR e o ?
Clorify the difference between international and intranational trade ?
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(@us—a) (Group — C)
& s
(Long Answer type Question)

13.

14.

T A 13 9 15 9 I e E 1 9l 3 WAl @ SR < | IS WA @ o 6 ofd FeiRa §)

3X6=18
Question Nos 13 to 15 are long answer type. Answer all the 3 Questions. Each question
carries 6 Marks.
RIv Y &1 g ARl S AT I U4 HB GGG 09 el & A4 ford |
Explain main Characteristics of Plantation Farming and write the name of some major
Plantation Crops ?

OR

Sifdar AhAv Rigia @ A sawensii &1 auiF o ?
Describe the different stages of Demographic transition theory ?

SRR AR H M e &) Fe<l $T qu N |
Describe the importance of Panama Canal in international trade ?

OR

15.

TgUTs URTET ® ITARET R SRRV ARed IRAT HIFT ?

Explain the utility of pipeline transportation with example ?

YRA BT qHF AR (=ferRad o yehid o ?

(@) T @I T (@) fafdmn () R

(&) Te (8) Preiepa (@) o

Drow a Map of India and show the following :-

(a) Bay of Khambhat (b) Sikkim (c) Naraura
(d) Patna (e) Kolkata (f) Chennai

OR

IR DI WAl B APt ANMNIcTd SR BT Jeeid B AT WRA H §9d Scdad &3 HI g0 DTy |
Explain the Essential Geographical factors for cropping of wheat and describe its
distribution patterns in India.
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IR (Answers)

MODEL SET-9

10.

11.

12.

13.

14.
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15.

16.

17.

18.

19

20.

21.

22.

23.

24.

25.

26.

27.

28.



(eTg SR yw) wre- B
MODEL SET-9

grareReiiy feadare, Fegyare /Frfdae deda o 9t wu 8| Fagae & sfTa a9 @ Yai 1 ™ 7
T Wb aeRvd PRI & AR A4 9 dImeRyl Gl IRER FEHEd § | 98 $el Biod § (b P Al
e gt € | 39 STGUROT BT [t ¥ @ @ 517 Yeoldl AeIed &F il & |

ART H ERAT X 7 9 W fF M Al A & 99 Yiawd &7 g aRal € o Ug for@ wadr § oiR for
T B Y 3 T IREe B B A §

T T W A @ e frard R sga @ fafre vd wfte et o <@ € o formsit @1 T8N w ageie
fommelt @& wu #§ W oM & Aa B S, o, R 9 ok HeR W 991 99 ol wfafifl & o @ @
AT 3R I & TRV § WA €, aqeid fmsil & sidia |fferd A S € |

AT el TR 9318 iR T SRS AUR & §R & e IR A6 a1 9K A1 9R) GME1 9 A Aldare] et
fed & & 9T W @R AT H A 9§ | T R GEET @ ol R G IaRe @ G @awe, MR $9 e
SUT V& ¢ |

TP ¥ A € Bl 3R TR H G Bl DGR | 59 PoIIRT & TR P 410 I & ARG o aem §
TR TR & IR & w9 H B A § | ARG § TR B WR 31% 8 (2011 B SHOAT & SER)

TR &1 wfead 3fef € q1 Wex | a¥qd: 1957 ¥ g MeHT 7 HEFR SR F8T WK Y&l &1 Teell IR FANT fam
o | TR UGN # HET o FHA1 & o 9 ARG | G TAHE el TR Pl TR Hed § | AR § AR D) e
R 9g W& & | e dem 2002 # 35 &Y & 2011 # 9gaR 53 &1 TS 2|

ot g ofed &1 e SR 9Ra # ofdd gon €| 3% M T BRO R -

(i) SR RA @I A Ferarf € o T8, dad arfedl | grex Tordl §

(i) 37 W 9 9T vaf ae Scure e G ¢ |

(i) S #TM T4 B8 weayul AENfd Yo W BN 8 @ HRYT fael o A4 e |

Y] I H FT GUTYT AR G & | A o Gl & NG UG & forg w1wisll, Siferdi &1 fawr fom | ) a®

el B Ao & foly F99 & W1 FReR aRdad gU & | o Sfdia e @awen, ST, S, X, Ceflfder ¥
AGR A T H FTIC B I@T A o § |
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ferell <% & ST ok Il & el & /9 & R P AR A ded & | A (AT BT I @ @ [ W
At &1 a1 S e ATIR HJeH wel ST 2 | 98 d M B Jed T @ qeu & ofE & @ 39 fad
R FJe Hel ol @ |

P T3 Sifawge qd W o arell 7 Qe W wafdd faRon 9§ erRad (Infrared) fawon @1 ifid @t € ok
SO & Y $F ARI AR @ GRell § | avga: STavad [0t 8 SO G IR0 F | SR < Aage b g9 0 Bl
HETSY Wd FEd & |

WRA & IR e MENNS o & T =foriad & —

1. HaE-g0 sienfie e

2 el siefie e

3. -G Jael

4 ORI Ta

W9 PIS AT AT B U AR F IR YRR H M) (A vl & A 3 AR YN BEd & | 39 forg oy

YHR & TN QY D AGLIGHAT Tel & 9dih ARSI A # $g Afdd o o & el TR A TN T &
forefy wre” # amary a7 far aRer € g9 forg I R I &1 WIS wre A e £ |
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(Tvs—3)
Answers (ST el
Long Answer Type Questions

RO AN A ed & oFid A1 B SiufaeiaRe & qor Y & §o U Sul 31 YW g o AU BN ol ges
TR AMIGE ScTed JoTel @ | R SufEel 7 o e ST Bfedd &3 # A, 3w, B9, 9, HU™, T,
Bl T I B U TS | 0T B @ g faRiwand fFrfoRad € —
[ <o o & B faend 8 2 |
Il &% fRa e arl et § wenfid fom i 2|
. 57 &) g 4 5@l 3 Jkd Usdl ¢ | IR S T2 e R $% o | g S ¢ |
V. ot & e R 9o & fog ofts ot @ snawaadr exft 2 |
V. Sy W aEe) MR iR dete et e g fear e g
VI. 3% & wael g &, o diifos emsll & oaR &l 16 B0 & Sclied W & syl fhar o g |
VII. &0 %o @R & forg STl Sl 8| 3 T @1 a1 O g8 a¢ & e 91 Wil @ a1 a1 iR aR Bl
A% G ¥ red @ foly 98 A1 Nen it a1 e e 9 2 |
VI Y Semet a1 gof w0 & a1 o &0 & %M W & g9 e o g |
IX. 399 oFa <xif ol sreferawen 1 yuifad fomm & |
== <2l o SR S dTel §9 999 U0 B o il
@ FEdl, TRA 3R A F T, FolRnn # vaR, ol s # aren aRed dueg § T eiR aer, feid A
RIS SR = |

e (Or

ST AT BT g e i § waft Tdon Rigid © | 39 Rigid @ gR e giy oik onfde fawr @

ylsharetl & 4 dae i fobam T, TRl Weridl & el & &) Aids ¥ S 1 et (a1 ol |l & |
SR W Heft Rigia &1 gfiured Faued 1929 H S UH o F fham o o 1945 # S AN A

N foram o | AN 7 faed @ SE & WHA @) A vy 9 §

1. o 3Rl —

o SRl H Jod H &R AR Sed GG R BRIl ¢ I, AN HEHINGT AR Ao BT SR St
W BN drel g B At offd geeed W $Rd ¢ | e Jig 9 Bl © iR IR AN Wl § $RRd B §
B 1200 ¥ qd fIed & W <u S e # | AN GHI H ST WERW B §o o9 I Afadid o¥ 59
R T eI ST |
2. @T‘ﬁ'ﬂ?ﬂ?@:—

39 IORAT B YR H T R SAI a1 I ¢ fbg I8 GHI B GRT TS S © | I A g g8
T R B Y A 8| WReY el TS 9 o § GIR b W TG R H FA AR 8 | 59 AR B PR, Sa H

& AT g AN ST B & |
T Y H BT < O R, TR, ISy 39 AR & 3T AT B |
3. GRIRRCCRII

3o arg@e § 7 X SR Heg &R QM| A0S T G ¢ | SIEen A1 dl ReR B il § A1 AS T
| 9 W ¥ | e TR R @ S € qr Sua UM adHel 99 B 8| Ve See faRgds kAR &
AR BT FERT Tl € | Tl QSR <o 9 orawerm # omgH |

gY@ URAET 1 TdMaA W © | 30 Werdl § o, @ 7 R Wafis W @1 oRaed wR e W e
ST 8 Fifer, S YaTE Aad w9 9 B & | A% & e i # LPG N URguersd 9 TR @ Su! TBR gl
T 2, T UER TR # el gRT 9 @ g B 2| St # A ver @ g A9 oR sifeRier wsuers o
2 AfEAl TP UgA AR § | PRl & ol BT U A AT TEUesd §RT Ue WM W G I WA o 69T § |
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Y o0 NG H SeIed &3 AR ST &3 & i/ AT 1,60,000 o0 Wl IS BT WA It
faeT 21 §97 =l & R wrsuened © o Afewal @) @l # Ried 0d & Gl § SwR-gdl i O of o g |

3MR®T & TRIET BT 17% 9R BT IRIET Uy A & AT 8 |

Y HEaYUl UTSUEgAl Bl [qaRor FrafeliRed 8 |

04 RERCICE] EIER(ER) faawor
#10)
1. | 3% ARdRar WRIhe dd agueg 4070 &9 & AZIRAT & gdt AT o FiomeE oRaerT €|
2. | e—fifdecli-@ed Ugarsg 1,766 PRITT IR A YA WFR 6 ol 39 UEUAET o
TGRS, ST BT B T o Sirel 4T & |
3. | cifiee i TgUAE 1,166 Y9 I | fas 1 3T 9% ugars o 2
4, | s N URUATEA 4,800 TH DG BRI UIRYATST W w1 © |
5. | QAT UTgUege Yol 5000 W | 399 Bl W dedl dol SRET TgarT oIl 2 |
v

EREEGHESER SR K FECIES]

8,704

TN TR, S, TR AR SR @1 e B A
P St S fEiomfeE g

7. | andr afRareH 1680 2010 @I T@ataE(T), smfae (A), wieaa (P) 8k
ARG @ 419 39 IRAST & ARSI R SR 8ol &
8. | JPHHAH-Sodlhe 4500 JOHEAN ¥ 9 b H R gRT AN & GREM & BRI

HTHITA—2 TUcTSH

¥ faeis B |

AR UTgUcTg

2,775

39 I UIgUeTe W Sfaad ardt 2007 # g8 off | HB AHsial
B 915 TIDT AT B BT AN TR B AT 2|

IRA—ITATCI—RIAR T UTgUerg

1640

U USUCgT @ A @l MU T8l 8 URT & SO SRIGH
&3 B I B IR I Pl AT B |

TRI—3TH 19 TTsYers-

2,000

T AT W JOHMEIH, 3 IR &R Bl 19 §gad 3G

PRI, ST T YRT § gie] S |

RT H SFH & dodul ¥ el Gl dd R B JoieS REM d@ 9 §98 @ 9 B U 9 U dear
qel HRT & JolRIEd $RAEM 0d USYals § Ugarl S & | 9RA H 41 R 9 Tafie 19 R 99 a9 @ o '@
UTSUCsd B AT fIaREH 8 | 39® 99 oM IR I8 favq &1 Tax a8! UIgUegd & ofgil |

3erar (Or

Jedifed R TNd FERITRI B Wed @ forg 1914 # 39 Tex &1 0T foram Tar| sMRa@T S T WY 3R dlaH @
dra @ Y@ & A AR 8 fhodlo & & # Rerd UMl SioreHwHed & W WNIGHR 39 UM 9 &1 M feaT| 39 Wi
% 0 fhorlo Tl FER IS TE | AN WEANRI BT ok WA el © | o 80 oo & AN # BE exam AT gR Y
T §| 7 AU & SRUR & TR ¥ 26 HIeX $T A | Terl ol {9 | 39 TeX ¥ UR IR G T8l SAura
Ee & el €N—dR 26 Hex e SR S 2 | R, UEA S dees gER1 @i Sl @ O e e Sakar
g | S UBR TEH—Td IR STl Wi oIeTel dl YRId AeMFR ¥ Ugdrl Ol & | 90 4 Y4 I alel Sferall @l 41 39l
fafly & IR B I R |

T TR B ¢ S B 916 qaY SATRT oI RSB B B A | IIR—YJ $ 3D &3 T gdi 7€ $ 371 AN
q Uil de & o UiTedd, A WINIR! 3T(e &1 # el AT e 3 (T ST &l 9N 9131 § A—oT &l
U TR AN e T ST U B W B} Sfell 3 oRd § gad | A9 Wikl 9 @ forg 13,000 oo
faRad & T & T off |
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W &R B ol H G BT IS 78T Hel & B B, W cifed SRS < & forv gqann aniie w8 aga
e B

aerar (Or

I T R0 B & G U UGS & ®U H g AR H & T8 R % AHAar o| IR gl ¢ | AR W bl
Al H 3HPT HaeY Hed Ul WM © | AR R @R # 4 g9 qauR @ fe 7
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T B SAET B A aEEds ¥ AR Tday, 54 A &9 150 ASHeR Mwaren aw, 21° - 27°
C I= SFP A0HM, BTl 9, el 3R BRGRA W I e e Mg T 9% Ao U9 B | Rd & SoR-Jd1 4
el verel etel W A W onavEdmary QX B SRl € | o S9! WAl g6l AT A BRil ¢ |
IR B AN IUEH &F § —
1. IW-Jd IRd —
(i) I B FEYF qUT G @) wifeat sik wifda e
(i) IREH A & I AR TAUETS! fofel e |
2. IR 9Rd —
for R ammer iR Semer UgTel ® ford dfiterrg | @l 3R Ffed Woal @ & 31 2 |
3. ufded feHTerd —
TS 3fTT ITRIES B TETS! AT iR e g et & |
WRe g T O IAEd < T 4% a1 28% BE F IAET DRl & | AR— a0 H 4R
@1 SiicidT 7 A9 & geard foed # AR I 21 99 @ g oled H oM ¥ ofdd W o ¥ T B 2
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Model set —X Geography
Time- 3 Hours 15 Minutes F.M.-70
(a7 : 3 Her 15 fAe) QUi — 70
Section- I Group — A
(@S — ) (s )
(Objective Type Questions)

fr=forRad Te W 1 9 28 # AR Racdl # 9 dad UF G 2| MR I T [AH F A
From Question Nos. 1to 28 there are four options of which mne is correct. In each Question
you have to choose that correct option :

(28x1=28)
1. WER WRIGR IR fobeg 98 R & ?
(@) T T (@) T ) (M) B T (&) TTHIER AT

Sardar Sarovar project is on
(a) Narmada river (b) Ganga River (c) Kosi River (d) Damodar River
2. e UBTSl & —

(®) Tics H (@) Mar A (M) sIREvs | (@) IS |
Babubudan Hill is in —
(a) Karnatka (b) Goa (c) Jharkhand (d) Odisa
3. PHIT—4T B TG P AR FEaldl & ?
(@) PrIacy (@) o= () e () 3 & @I T
(a) Coimbatore (b) Chennai  (c) Salem (d) None of these
4, AT TeR el 8, Tl TR B

@ W d @) PAE | MEA gL ¥ (@) O TR |

Panama Canal connects Panama city to

(a) Port said (b) Cologne (c) Hono lulu (d) Red Sea
5. AT BT JATCF-YSH HEeAl 8-

(@) ¥ WR (@) = (m) wfRae (@) WER

Exchange of Message is called

(a) Telecommunication (b) Statement (c) Trasport (d) Communication
6. forer a%q @1 fafd SRR & 918 ¢l © ?

(@) SRF (@) oo () gonfaRe () g & e

Export of which item has increased after liberalisaton ?

(a) Fertilizer (b) Petroleum (c) Engineering (d) All of these
7. W TR @ T e g g ?

(®) 10 @@ (@) 50 g ¥ AferH () 50 o | FH (8) 1 ARG

What is the population of a Megacity?
(a) 10 lakh (b) Over 50 lakh  (c) Less than 50 lakh (d) 1 Lakh
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8. g Bael BT ST AT DT ST & ?

(®) e (@) Furd (m 7% (&) =

which crop is known as ‘White Gold’ ?

(a) Jute (b) Cotton (c) Wheat (d) Sugarcane
9. fer @i @1 ‘TR QAT BBl I © ?

(@) P (@) (m) = (1) Oiferar

which Mineral is known as ‘Liquid Gold ?

(a) Coal (b) Copper (c) Gold (d) Petroleum
10.  #FUIE SRR ada) Ud dal Rerd 8 ?

(@) dSrTe (@) feamea y<wr (M) Ales (@) IRETS

Where is Manipal Software technology Park located ?

(a) Chandigarh (b) Himachal Pradesh (c) Karnataka (d) Jharkhand
11. SR @@ $w= fodr 159 ¥ araRerd @ ?

(@) FHTcH (@) g () 9o Fd (a1) amer wew

In which state Durgapur Steel plant is situated ?

(a) Karnataka (b) Tamilnadu (c) West Bengal (d) Andhra
Pradesh
12. 93 cle—oed e &l 8 ?

(@) IREvS | (@) snfewr # (M waye § (@) BAiRETe §

Mayurbanj Iron-ore producing area is in ?

(a) Jharkhand (b) Odisa (c) Madhya pradesh (d) Chhattisgarh
13. fr=foRed # & si9-a1 v gdf ae ® Red 2 2

(@) FroSa (@) 7% (M) = IR (@) =g

Which of the following ports is situated on eastern coast ?

(a) Kandla (b) Mumbai (c) New Mangalore (d) Chennai
14,  SemieRor § SF-9T yguvr g 8 ?

() <t T (%) a1 w5 () e wqer (@) &7 |

Which pollution is caused by Industrialization ?

(a) water pollution  (b) Air pollution (c) Noise pollution (d) All of these
15.  foraforRad & 9 ford <1 @1 Sl SWAIAT 9et e = ?

(@) o ERLE (m) 7 (&) T

Water utilization of which of the following rivers is Maximum ?

(a) Krishna (b) Brahmputra (c) Ganga (d) Godavari
16. "I e frareie Aa SR ool yedt @ uRaxi e wrewt st 2| Y fore dEt ?

(@) Ve (@) Yevid (m) e et (|) <o

“Human Geography is the study of changing relationship between unresting man and
unstable Earth.” Who said this ?
(a) Ritter (b) Ratzel (c) Miss Semple (d) Taylor
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17. {5 3 & 9Ri SR 991 719 &9 ufasd 4§ SR ?

(@) 3R (@) FERs () R (@) TR

Village settled around a lake will come under which pattern ?

(a) Radial (b) Nebular (c) Nuclear (d) Star
18. 2011 @ IV & IR HaRad # | 5 I &1 T4l Ocd [+ & ?

(@) srevTEd gou (@) Herera (m faEr (@) axd

Which of the following states has least population density according to 2011 census ?

(a) Arunachal Pradesh (b) Meghalaya (c) Bihar (d) Kerala
19. o9 &1 99 991 JAY fHadan sH- 8 ?

(@) @ (@) gdied (M) = (=) fRreror

Which is the world’s largest tertiary activity ?

(a) Mining (b) Tourism (c) Singing (d)
Teaching
20.  PEE S SR A B9 W@ Se S WU B ?

(@) @reT SiR—gwuId IO (@) I e (M) i I JENT () T 4§ BIS

Which automatic industry was established by Kabas Ji Dawar ?

(a) Iron and steel industry (b) Sugar Industry (c) Cotton Textile Industry (d) None

of these
21, Tad el WA ol 99T b oy # oaferd © ?

(@) S| T7 (S REIPREN () <TeTeRrE (@) Plcs

In which state is Rawat Bhata Atomic power plant situated ?

(a) Uttar Pradesh (b) Andhra Pradesh  (c) Rajsthan (d) Karnataka
22,  e-feemER & yacid o © ?

(@) TR (@) gHIee (m) Yeora (&) e

Who is the profounder of Neo-determinism ?

(a) Tylor (b) Humboldt (c) Ratzel (d) Blache
23, ¥R @ 999 ANS GGG T DA & ?

(@) T (@) g (m) el (&) ok

Which river is highly polluted in India ?

(a) Ganga (b) Yamuna (c) Mahanadi (d) Narmada
24, fEfaRed § 9 9 I BT IRl HEY 991 SRd © ?

(@) TR (@) Hoa (m) SR () qferTrg

Which one of the following is the first largest producer of Sugar ?

(a) Maharashtra (b) Punjab (c) Uttar Pradesh (d) Tamil Nadu
25, FF-0 wfafafy 3T wRa F wgeyet G a8 2

() woeTe (@) @ (M) ReR $=1 (6) Tgurer

Which activity plays an important role in rural India ?

(a) Fisheries (b) Mining (c) Hunting (d) Animal
husbandry
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26.

27.

28.

fy=faRad # A ST TR 94 T W FaRed 78] € ?

(@) weT (@) I WKL (81) Prctprar

Which one of the following towns is not located on a river bank ?

(a) Patna (b) Agra (c) Bhopal (d) Kolkata

W B HEd et B 8 ?

@) fa=®g ¥ (@) av =g A mAw FEIH (@) T H A

Rabi crops are grown in ?

(a) Winter Season  (b)Rainy Season (¢) Summer Season (d) All Season
SRR SR & oEd $IF @ ?

(@) Hger (@) arfre (m) Yevid () wifds

Who is the writer of “Geographia Generalis ?

(a) Semple (b) Varenius (c) Ratzel (d) Darwin
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Section-11 (wr7-11)
(None-ObjectiveType Questions)

RIS T

TS W& 1 W 12 TS Y IO & | T 12 Tl & SR S| TS TA B o 2 3 FeiRa g

(12x2=24)

Question Nos-1 to 12 are short answer type. Answer all the 12 Questions. Each Question

carries 2 marks.

10.

11.

12.

(12x2=24)

I U< T & ?

What is hinter land ?

Tel YT @ e @ forg 31 Ayt gEma |

Give two Important suggestions to control water pollution.
YR & &l ged el geol & T ford |

Mention two major industrial regions of India.

IR B WAl & fov et uRRefcl @ g =1fay ?

What should be the ideal conditions for Tea cultivaton ?
Fd A @ SR W I BT aidd I |

Classify the industries on the basis of raw materials.

AIETell T STEICR @ Hed o Soold v |

Mention the importance of Mohali and Jamshedpur.

TSI JRINT T TS Hd ol o ? S6d &1 Fa| ol fordd |

When was planning commission constituted ? Write its two functions.
IR ST T & ? TR < |

What are basic Industries ? Give examples.

AN e BT IR 3N |

Define Human Geography.

ERASRCE S A A A

Differentiate between birth rate and death rate.

| G [ TH BT 7 ? AT JEATAd Fel |

What is the full name of SARC ? Where is its head Quarters?
WRA gRT FEH W 4Tl T Ygell AaRSd SAdRe I DI o ?

Which was the first spacecraft without man sent to the moon by India ?
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Group — A gue — '
EEISHNDRS]

Long Answer Type Questions

T AT 13 9 15 S ITRIT &1 90 3 T B IR <

T® YR & folY 6 3 MERT ¢ | (3x6=18)
Question Nos. 13 to 15 are long answer Type . Answer all the 3 Questions.
Each Question carries 6 marks. (3x6=18)

faNE o

13. SRRV, Foliexvr U Jwdie~v § 39 1§ @ °
WRA & e o™ W g6qe gural @ fqag el |
What do you understand by Liberalisation, Privatisation and Globalisation?
Discuss its impacts on industrial development of India.
grar_(Or)
ARG g & IU1eA U9 fITROT T qU @R |

Describe the production and distribution of wheat cultivation in India.

14. IR # & & AN AR & SRS 3 fadawT o |
Discuss the factors for uneven distribution of Population in India.
gt (Or)
TR MR # ST fedifcd Tl A & Hed HI quiE o |

Describe the importance of North Atlantic Ocean Route in international trade.

15. YRA BT AFRIS SR FT=fRad @ yeiRid & —

(@) Feme (@) e () wrarefr

(2) Bieat o (3) M (@) o

Draw a map of India and show the following :-

(a) Bhilai (b) Barauni (c) Mohali

(d) Kandla Port (e) Kaiga (f) Chennia
grar_(Or)

IRT H Uiferd & Sared Td faaRor &1 faavor €|
Give an account of the production and distribution of Petroleum in India.

~134 ~



(1

4

(7

(10)
(13)
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(19)
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(25)
27)

(@)

Answers (ST el

Objective Type Questions

)

©)

®)

(11)
(14)
(17)
(20)
(23)
(26)
(28)

(@)
(%)
(@)
Q)
(%)
(@)
(M
(@)
Q)
(@)
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6.

Answers (ST el
Short Answer Type Questions

forefl devTE T TR @ AU & a1 & o youey (Hinterland) @&t wmer 2 | sal et @ foega
qReel Bl & il Ig &3 GReR TEl 8l & |

Tl UG B b & oY <1 Heqel gema 1 § -

(i) TR T WY & U & et wat § T e < 9y | 39 oRegd frn o Ay |
(i)  sirEnfe &E | M uRne & 1 Ak 6y Sa Sl § T8l fiem A =iy |

WRd & &l ged SieEie gew 1 B -

(i) FE-g slefie ge

(i) g defe ww

T B el @ fore areet uRRerfeat -

1 am - 20° - 30% ¢

2. el - 150 -200 cm

3. gt — drer, ©iieT vd e ¥ gad
4,
5.

4 - TER o A el § ue o T u
WP — T, T T FIIe
ol I & YR W ST BT Y 7 9T dfer S |abdr §
@) &N W MR Ser
@ | R mERd e
) T W MR e
(@) WA W SR SEn
AETel) WTedmR SaIerel e & fory gRig 8 | SRR SRETS B Y dle-gward deifie T ¥ 39

dre TR (Iron city) @& S 8|

7.

ISHT STANT P TS A 1950 S0 BT N T | §9a & H1I Fforad § —

1. < & A, o1 AT HG GAEA] BT oAb HRAT

2. T P AARAT D YOl T AforT STINT &1 Aol gAIeR Hferd e e @A |

T T R W S S T AT PR R 2, 99 SMRT Sl dEd © | $9% I aN ScTg 3 8,
ST SUIRT 98T AR SET & PHod Al B WY H 7O I UfehAT H Rt & | SlIET U FET MR
ST & |

AT I YA S T8 ARG 8 Il AFG—aIIeRY] el & eI & R Jquld Y33l & 3eqd
W FRRT | Yeold @ SAR— AN WTel AIMd \HIl 3R ERTAA & da Wael BT Aeelfvd T g 1

U 4 # Ui TR T W SN S o dTel 9edi Bl dof e Sie] dEed! © | 98 U a¥ # ufa
TR TFEEIT W AR el A Bl Gol e e HEe 2 |

aw (SAARC) &1 11 9 28— <féor oRmmg el wam wwed (South Asian Association for
Regional Co-opration) | S#d! JETd HIGATVS, (U1 ¥ 2 |

WRA GRIT AeH W Aol TT U8l AaRfed SiiRer I T & |
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Answers (ST el
Long Answer Type Questions
1991 # 9RT # SRIYd 3P Hhe I &l T o7 | fA<eh o1 BT HeR A &l <& o | 74 0 el i %@
o 3R facel faer oo B ot o | 39 well & I @ fow o 1991 A T e M any i T,
forde s g Sienfie ifd W1 ar] 88| 39 A & 79 9 oed § —
SERIGRYT — ISRV MG F™ o v ufhar &, ot gRT Sl iR @R &1 AT IarRTe! & 3M1aead
yfrder ¥ o T ST 2 | 39 Aee 6 @ M W N & # S @ gdm W ad fear i g
fotiaRer — foliaRr &1 a1ef € <91 @ QffeaR Sell & ¥afie, fRiEer aen yey &1 o & # foar o |
JRT — T P AR BT FAR DI AIIN S AT TG G DI Ufshal BT IR0 e ¢ |
IRT & 3enfie fom ® gaa yg 7 § -

1. facelt Uit &1 e o foan S wear 2 |
2- FMRe Ufde T 81 9§ e 9w ¥ Sgesiy drfal & o @l e g 2
3- TRATT HAT BT el SR & AT Ja9 R B g fHerdT £ |
4- T TR B U 1 < BT AP BT AawR I &I 2 |

gerar (Or

URG ¥ A & 916 g, GO TG AN € | I8 I BiCadid B 8| <% @ gl a1 & b T 14%

T R T B Bl B o 2| g forw ar e 100 - 15° ¢ A e ved w10 - 15 cm au
S BN © | gl ame el 39! WAl & foly Sugad & |
ST —
7 ¥Miferd GIAensii & $ROT < ¥ UL, BT SedTed 1950-51 H 65 ARG <
off, ST 2005-06 ¥ 6.95 FRI T B TAT | ¥RA fI%d BT 12% I IUIGH FRall 2 | Ui T gRamom # 7 o

SAUTEET 4000 freRIT UfT BaCTR 81 1950-51 H 98 TG 2R T 2005-06 ¥ 266 TRIS TacaN &F W g
BT ST a1 T |

faeRor —

WRA | ¢, BT SIS T WU ¥ U P 01 A BT 8, 3 99 §— IR I o, SR,
/TG T HeAeyT | T & ol ScaTae &l ST 91T UG U4 IT) UQ¥ ¥ 371 8 | Uord # 18, @7 0fd gdeak
SATE 3 7| ARy, A Ue¥ d SRR ¥ T @ Y auf W iR ¥ de Ieddr B © |
5, SRS AR ¥ IT U1 Fedl © b <« & IoR—qdl AT, TVl 14T TG G ufe AT Fl BlS
TR IR A H g Sl B ol € |

IRT H TG BT A IR TR ST € 39 foly g ifeld dReb TR & —
1. Seamag —

fereret Wiiferd &Fhe ATl <X YR # Ieerad B gie I UBTS, YOR U4 HSM G ACK &F U W
2[5 UBTS & o ¥ UOR T YR &I g # HSM Td HIMl o Jorm ¥ K & S 9g @ forg
ST aRReIfRIT ST Bl B |
2. Ty —

TUHM Ud a1 oI Td Sl & fdaRvT @] Jfd ded & | feeier qe S=d gadi 9l U T
TR AT H favel ST oTg oY & STafd ARROT QIO U4 aut arel & § e St o8 ol 8 |
3. Jrenfire e —
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3ienfie w9 & e &l # IR & SR G Suees 74 €| 39 SRV U & # S &
T A T ST B | RISRR, g, AR, R, FEEIE W & 9o T dret & € |
4, TRIGR —

I TIRIGRY el &3 AT g8 TWRI U HeMAN o I 6 9l oIl & |
5. IR HROT —

TR HROT ) STEE & A IR0 BT U6 SRS & | T6E & oHd R IS AR 4
AT YA STerdl & | T ¥ B A I Il R I8 Al § el S6d] FHRT SR INR BT GRem il € |
S.HﬁEE:{EF}IIF'fQH‘EQTCIR:—

Sa—fale & ARl 3 IUerdl 3R Toldrg & d18 el RO @ S e W qel gl o arel
URgE @1 Glagrell Td AR BT g1 F91d el & |

T U9 PR & ATl WiRpiad U9 Gifis BRo W <9 § e & R orawe e €|

g (Or

IR aeafed qnt slEnfie gt § e fiwa & a1 el STR—qdl Jgad o 3MRaT ik afedl -a &
firerra & | faza &1 Uo wieng facel @R g9 A R gRafed g € | Sl g fdvg o adad e
ST & | TR 3t A S qe] g AN del Ol © | $9 QM dcl W U 3R UK Bl 9w faemd
Sude 7| fowe § we9 afe R wew gl Q1 9T @ Hed 8T ¥E B |

39 A R UREE WU & T Ge0TR fofaRyd, HORCR, e, Jeved, g, foRa ok TR £
S I SRET B Gl IR & TR AIPId, gelhad, e, ded, S 9o fhersafhar ¥ Sred & |
TE AT FE U B A E A G [BAN W W USRS I H1 A ga B I fFARI W qafwd A
4 g fiere € | 39 AN gRT e e AR A S g |

15.
=




Petroleum ¥ «ifeq 9191 & <1 9Isg UgT 3R 3fiferam | Aadx 1 2 | UgT a1 o g e aferaw o aref
el BITT © | 3 S A el |l el Sl € | A I H 3! dotl] Wt & HRYU $9 “ARel |l
(Liquid gold) @& Sirar & | Ra # Ugiforad xRy o a1 Sl el # urar e 2| faesit a1 e
g 6 3 & AT 14 I T kom. &3 H T  9OR © | 39S NG AL FAIC $ AT 3 ARG [
k.m. &5 # tell AR FgM! # W U™ 8 & AN 2 |

e — <9 | UgIfcrad 1 IeUTe TR ggal ol 81 & | 1951 ¥ 269 A & el &l Iaure gafl
ST 1962 H 10.8 TRG T, 1996 ¥ 3.45 BRIS -, 1999 ¥ 329 BRI T TAT 2006 H 320 XIS 7 & TAT| 3
el & T B b <9 H USIorM &1 ScTed IRY ¥ 93T, 1980—81 UG 1990-91 & TR 3D IATG ¥ B!
Ifg g2 | W 39 91C I 3AGT Scaed # & TRy A gfg vd @ gaiy o 2 |

foRor — ot AR # Ugiform & N W SIEH 9 € — I, ERTS AR oK | 3 # I,
TeRBIC, TRISH, HRM, AEMGR UL SRS &3 & | I8 < 31 999 [T UgIicrdd I & ¢ |
feals 4 a9 Ugel Ugliorgd BT ScUre YIRHT BT | ORI H W U ol SedTad &3 Jiderear, HedH,
DI, Helldd, Telel qAN ol & | FERTE WRA & Fe9 g1 Ugiforg™ Scred I @ | 498 818 39 57 &
I T &4 ¢ | IE q9s 9 175 kom. ¥ IR uREw e # oRq WrR # Rerd B | I8 WER WA THG A9
1 A1 § | I8 IKGd W U ol ©, 9 9% A 7 @ G @Ia G M Bl & | S0
HOT-TETAR], HIRT IR T TR R # +f Ugiform firem 2
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